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Introduction

For most of my adult life I've pursued what some
might consider a hopelessly disorganized diversity of
projects. I've developed books, records, games and toys
— and an occasional script or song — for the Children’s
Television Workshop (producers of Sesame Street and
The Electric Company), and, on the side, I've written and
edited satiric pieces for the National Lampoon and other
publications. People often ask me if | think it's
“sensible” to spread myself over so many media. “My
activities really are all related,” | answer, somewhat
defensively. “At least somewhat...”

The truth is that it’s the very variety of my work that’s
kept me interested and challenged. And, not coinci-
dentally, I'm convinced that it's the unlikely mixture of
media and people — of humor with curriculum content,
of children’s games with rock’n’roll music, of animation
with phonics lessons; of child psychologists with
puppeteers — that has made Sesame Street so vital, so
exciting, and so successful.

One world that always did seem irrelevant to my
pursuits, however, was computing. Oh sure, computers
might store information, or generate lists of words
recognizable to five-year-olds, or index research
results, or handle accounts, or, of course, invade my
privacy. In short, they might be a useful tool for
someone else (probably someone pretty different from
me). But computers as a creative medium—much less a
medium | could actually feel comfortable with? Never!

Then, one day a few summers back, my wife,
Genevieve—then an engineering student at Columbia—
showed me a book called Basic Computer Games, by
David Ahl. To my amazement, it had funny pictures in it.
It was full of games — many of them delightfully silly.
And — wonder of wonders! — at least some of it
(sample runs of the games, for example) was not hope-
lessly beyond my comprehension.

| was intrigued, and when, months later, | visited the
Boston Children’s Museum and actually got to play with
acomputer, | was hooked. The terminals at the museum
played many of the games in David Ahl's book. What’s
more, they actually called me by name, and made
humorous comments about my playing skill. After
several hours of trying to land a capsule on the moon
(only to be told that I'd created several hundred new
craters, and that Neil Armstrong “did it right the first
time”), I had to be dragged away from the keyboard — it
was past closing time, the museum personnel insisted.

From that day on, the development of computer
games — to entertain and to educate — has been a high
priority activity for us at CTW. (As | write this, we're de-
signing a prototype computer game center to open, near
Philadelphia, in 1980 — a project in which David Ahl has
taken a pioneering role). For the computer combines the
possibility of fun, education, challenge, personaliza-
tion, humor and — most important — interaction, in a
way that no other medium can. Computers are infinitely
patient, not minding (unless they're programmed to
mind) if you take all day to respond to a question or
move a game “piece”. If there’s something you don’t
understand, you don’t have to be embarrassed to ask a

vill



computer for help. A computer can adjust the difficulty
level of a game or activity to suit your ability — some
programs even learn how to beat you as you continue to
play against them. Armed with the proper software, a
computer can play a song (or allow you to play one),
paint a picture, write a poem or tell a story. Or it can
plunge you into a whole new world, so you can learn by
doing (or just escape, for a few moments, into a delight-
ful fantasy).

The games in this, David Ahl’'s second collection,
demonstrate many of these attributes. Try Camel, for
example, in which you're left alone in the Gobi Desert
with one quart of water and a bunch of Wild Berbers hot
on your trail. (You'll learn something about resource
management even if you don’t escape to use your new
knowledge.) Or type Concentration into the computer,
and let your children perfect their matching and memory
skills without showing you up. Become a starship
captain and practice navigating a three-dimensional
universe, in Maneuvers. Turn on Father so your kids can
argue with the computer — instead of you — if they
want to stay out late on Saturday night. Or — the ulti-
mate trip — play Millionaire and start your whole life
over again (complete with such decisions as what job to
apply for, what investments to make, and what to do
when an airplane crashed into your magnificent new
home)!

The main point of all this is that whatever else
computers are meant to be, they can be turned into
magical multi-media machines that put you squarely in
the center of the action. And, as Dave Ahl has continu-
ally demonstrated, they're an awful lot of fun. Turn the
page and see.

Christopher Cerf



Language

Capsule Description of Microsoft BASIC

Statement or
Function

DATA

DEF FNF(X)

DIM

END

FOR...TO...STEP

GOTO
GOSsuB
IF...GOTO
IF...THEN

INPUT

LET

NEXT
ON...GOTO
ON...GOSuB
PRINT
READ

REM
RESTORE
RETURN
STOP
ABS(X)
ASC(X$)

ATN(X)
CHR$(X)

COS(X)
EXP(X)
INT(X)
LEFTS$(XS.Y)

LEN(X$)
LOG(X)

Notes

String data is not always quoted.
Some BASICs require quote
marks.

If your BASIC does not have DEF,
simply use the complete function
itself wherever FNF(X) appears.

Dimensions numeric or string
array. String scalars aren't
dimensioned. Subscripts begin at
zero.

May be followed by any executable
statement.

Optional prompt string may be
printed before doing INPUT.

LET keyword is optional.

Computed GOTO.
Computed GOSUB.

Absolute value.

Returns ASCII value of leftmost
character. ASC(*A”) is 65,
ASC("B”) is 66, etc.

Arctangent of value in radians.

Converts ASCII value to character
string, opposite of ASC function.
CHR$(65) is “A”, CHR$(66) is “B",
etc. CHR$(7) is a bell ring.
CHR$(8) is a backspace.

Cosine of angle in radians.
Value of e to the X power.
Greatest integer less than X.

Returns Y leftmost characters of
X$.

Length of X$.
Logarithm of X to the base e.

MID$(X$.Y,2) Returns substring of X$, starting at

position Y, Z characters long.

RND(1) Random number function. Returns
values between 0 and 1.

RIGHTS$(X$.Y) Returns Y rightmost characters of

X$.

SGN(X) Sign function. Returns -1if X<0, 0
if X=0, 1 if X>0.

SIN(X) Sine of angle in radians.

SQR(X) Square root.

STR$(X) Converts X to string of decimal
digits. For example, STR$(8.45) is
“8.45”", exactly as it would be
printed.

TAB(X) Spaces over to position X on the
printer.

TAN(X) Tangent of angle in radians.

VAL(X$) Converts a string of digits into a

number. Opposite of STR$.

Conversions to Other BASICs and Debugging Hints

All the programs in this book have been converted and
tested in Microsoft BASIC. We have not used any extended
or machine-dependent features, so they will work in
almost any machine with Microsoft BASIC (TRS-80 Level
II, Commodore PET, Apple Il with Applesoft BASIC, OSI
Challenger, Exidy Sorcerer, or CP/M disk operating
system). However, we ran the programs on a Teletype
KSR-43 terminal, so several of the games are designed to
run with a 72 character terminal width, and two of the
games (PATTERNS and PINBALL) use the backspace
function to print overstrikes. Both of these programs can
be modified, if need be, to bypass the use of this function.
However if your computer has a screen then you may have
to adapt the programs to a narrower terminal width
(especially on the PET which is only 40 characters wide).
Of course, you can also use your screen display for special
animated graphics if you're clever.

If It Doesn’t Work

Although your first reaction may be to curse your
computer and start yelling, “There should be a law against
people who sell books full of programs that don’t work!”
we have found that almost all errors are simply typing
mistakes, or not knowing about some peculiarity of your
particular machine. So if a program doesn't work, we
strongly suggest checking your program line-by-line
against the one in this book. If you keep getting some kind
of very obvious error which is plainly not in our program
RUN, please bear in mind that we don't do nasty things like
faking program runs, and that the programs really do
work. Real bugs tend to be rather subtle.

Creative Computing is concerned with maintaining and
improving the quality of its software, so we are interested
in hearing about genuine errors in the games. We will
consider bug reports if the following rules are adhered to:



1) The program must be in Microsoft BASIC. We don't
wantto have anything to do with converted programs.

2) The problem must be described in writing and, if
available, hard copy of the program LIST and RUN
should be included.

3) Include an SASE if you want a reply.

These restrictions may seem severe, but please under-
stand that there are tens of thousands of copies of this book
wandering around, and we'd have no time for anything
else if everyone who hit a snag called us for a half-hour
debugging session on the phone, only to find he didn't
really know how his RND function worked after all. (It's
strange, but there are certain programs in the first volume,
BASIC Computer Games, which definitely do work, but
which people seem to have incredible difficulty with. You
can't imagine how many times I've picked up the phone
and heard, “I have your BASIC Computer Games book,
and | have a problem with this BANNER program on
page...”)

General Hints

There are four primary areas of difficulty in transporting
a program from Microsoft BASIC to some other.

1. Multiple Statements. In Microsoft BASIC, multiple
statements separated by a colon (:) are allowed. Some
BASICs use a backslash. Some don't have multiple
statements. Another difficulty arises in the handling of
IF...THENs in multiple statement lines. In Microsoft
BASIC, when an IF condition is false, control passes to the
next line, not the next statement. In other words, if the IF
condition is false, the entire remainder of the line is
skipped over. Here’s an example of converting multiple
statements:

Before

10 DIM Q(10): INPUT K: LET Z=1

20 FOR I1=1 TO K: PRINT: NEXT |

30 IF K=3 THEN PRINT “This or That”: GOSUB 900:
GOTO 500

40 REM More Stuff...

After

10 DIM Q(10)

12 INPUT K

14 LET Z=1

20 FOR I=1 TO K

22 PRINT

24 NEXT |

30 IF K<> 3 THEN 40
32 PRINT “This or That”
34 GOSUB 900

36 GOTO 500

40 REM More Stuff. ..

2. FOR Loops. In Microsoft BASIC, a FOR loop is always
executed at least once. The test to decide if the loop is to
be terminated is done when the corresponding NEXT
statement is encountered. In general this is undesirable
and you may notice that in some programs a patch was
made to compensate for this quirk. The real problem of
compatibility between BASICs is in how BASIC knows
which loops to keep track of, and which ones to forget. In

Xl

Microsoft BASIC, a FOR loop is considered to be done
when it finishes normally (falls out of the NEXT state-
ment), if it is restarted, or if it nested within a loop that is
restarted. Some BASICs frown sternly on the practice of
jumping out of a loop, which can be real trouble. (This
happens in North Star BASIC, Polymorphic BASIC, and
Processor Tech Extended BASIC.) If this difficulty occurs,
then convertthe FOR loops back to IF. .. THEN structures.
For instance:

10 INPUT I,J
10 INPUT I,J 20 K=|
20 FOR K=1 TO J 30 PRINT “Some stuff”
30 PRINT “Some stuff” 40 K=K+1
40 NEXT K 45 IF K< = J THEN 30
50 END 50 END

The NEXT verb by itself (without an argument), always
refers to the most recent FOR statement. Generally we've
avoided this feature.

3. Arrays. Some programs use zero as an array subscript.
Your BASIC may not like this. If your arrays start at one,
and the program tries to use zero, then justadd one to all
the array subscripts. (Within the context of a particular
program, there are often niftier ways of getting around this
problem, but unless you can tell what's going on inside the
program, this is the most painless way.)

4. Character Strings. There are two different methods of
taking a substring from a longer string. In Hewlett-
Packard style BASIC, substrings are in the form X$(1,J)
which takes characters from position | through J out of X$,
and X$(I) which takes everything from position I and to the
right. Microsoft BASIC, styled after DEC, uses LEFTS,
RIGHTS, and MID$. Here's how to convert.

LEFT$(X$.1) X$(1.1)
RIGHT$(XS$,1) X$(LEN(X$)-1+1)
MID$(AS.1,J) X$(1,1+J-1)

Another potential problem exists with strings. Some of
the programs use string arrays, but some BASICs just
don't have string arrays. If you see a character string in a
DIM statement, then it’s a string array, not a scalar. If your
BASIC doesn't have string arrays, then you're probably out
of luck, unless the array is rather small and you can pack
the whole string array into a scalar. For instance, let's say
we have array A$(0-3).

A$(0)="HORSE"
A$(1)="DOG"
A$(2)="FISH"
A$(3)="CAT"

If we decide in advance that no word will have more than
five characters, then we can stuff this whole thinginto one
string, AS.

A$=-"HORSEDOG FISH CAT "

Notice that each word takes up five positions, even if the
extra ones must be made up with blanks. Thus our old
A$(0) is now in positions 1-5, A$(1) in positions 6-10, etc.
We can generalize that A$(n) is translated into positions
5*n+1 through 5*n+5. Obviously, the ability to use this
method to substitute for string arrays depends on how big
you can make the one big string scalar to take its place.









Artillery 3

In this game, two or three humans
may play. Each one of them has an
artillery piece and is firing at an
opponent. The first person to destroy
his opponent wins that round of the
game. The parameters for distances
and muzzle velocities of the artillery
pieces are set at the beginning of the
game. The shots are fired by giving a
firing angle expressed in degrees from
the horizontal.

In a three player game, you may elect
which player you are firing at; hence,
player one and three could both be
firing at player two. Once one of the
players is eliminated, thenitbecomes a
two player game and each of the
remaining two players fires at each
other.

Personally, | would prefer to think of
this game as lobbing mudpies or
snowballs or custard cream pies or
something non-destructive. However,
it was originally written as shoot-'em-
up game so that's how it appears here.

This game was originally written by
Mike Forman and further revised by
N.E. Lyon and Brian West. It first
appeared in Creative Computing,
Jan/Feb 1976.

RUN
ARTILLERY 3

CREATIVE COMPUTING
MORRISTOUN, NEW JERSEY

WELCOME TO “WAR3‘. TUO OR THREE HUMANS MAY PLAY!
DO YOU WISH SOME ASSISTANCE? YES

THIS IS A UAR GAME. TWO OR THREE PLAYERS ARE GIVEN
(THEORETICAL) CANNONS WITH WHICH THEY ATTEMPT TO SHOOT EACH
OTHER. THE PARAMETERS FOR DISTANCES AND MUZZLE VELOCITIES ARE
SET AT THE BEGINNING OF THE GAME. THE SHOTS ARE FIRED BY
GIVING A FIRING ANGLE, EXPRESSED IN DEGREES FROM HORIZONTAL

THE COMPUTER WILL KEEP TRACK OF THE GAME AND REPORT ALL
MOVES., A “HIT” IS SCORED BY FIRING A SHOT WITHIN SX OF THE
TOTAL DISTANCE FIRED OVER. GOOD LUCK

NO. OF PLAYERS? 3

DISTANCE (FT.) 1 TO 2 ? 1000
DISTANCE (FT.) 2 TO 3 7 2000
DISTANCE (FT.) 3 T0 1 ? 2500

MUZILE VELOCITY (FT./SEC.) OF 1 ? 300
MUZZLE VELOCITY (FT./SEC.) OF 2 7 350
MUZZLE VELOCITY (FT./SEC.) OF 3 7 400

A\
Rt o gl
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Q) 2 TR
CIT (g (‘\a\/ { BB \

ROUND 1

PLAYER 1 SHOOTING AT? 3
FIRING ANGLE? 48
YOU UNDERSHOT BY 545.777 FEET.

PLAYER 2 SHOOTING AT? 3
FIRING ANGLE? 79
YOU UNDERSHOT BY 3564.253 FEET.

PLAYER 3 SHOOTING AT? 1t
FIRING ANGLE? 80.5
YOU UNDERSHOT BY 872.841 FEET.

ROUND 2

PLAYER 1 SHOOTING AT? 2
FIRING ANGLE? 70
YOU OVERSHOT BY 808.207 FEET,

PLAYER 2 SHOOTING AT? 3
FIRING ANGLE? 84
YOU UNDERSHOT BY 1204.37 FEET,

PLAYER 3 SHOOTING AT? 1
FIRING ANGLE? 73
YOU OVERSHOT BY 294.324 FEET,

ROUND 3

PLAYER 1 SHOOTING AT? 2
FIRING ANGLE? 40
YOU OVERSHOT BY 1435.18 FEET.

PLAYER 2 SHOOTING AT? 3
FIRING ANGLE? 70
YOU OVERSHOT BY 440.307 FEET,

PLAYER 3 SHOOTING AT? 1
FIRING ANGLE? 74
YOU UNDERSHOT BY 153.305 FEET.

ROUND 4

PLAYER 1 SHOOTING AT? 2
FIRING ANSLE? 74

YOU QVERSHOT BY 490.028 FEET,

PLAYER 2 SHOOTING AT? 3
FIRING ANGLE? 73
YOU QVERSHOT BY 140.44 FEET,

PLAYER 3 SHOOTING AT? 1t
FIRING ANGLE? 72
YOU OVERSHOT BY 438.912 FEET,



ROUND § b 520 X(J)=V(J)*2/32

530 NEXT J
PLAYER 1 SHOOTING AT? 2 540 FOR =1 TO N
FIRING ANGLE? 74.5 550 FOR B=1 T0 N
YOU OVERSHOT BY 276.044 FEET, 560 IF X(A)>R(A,B) THEN 410
570 PRINT "ERROR--";A;" CANNOT REACH ";B
PLAYER 2 SHOOTING AT? 3 580 PRINT "WHAT IS THE MUZZILE VELOCITY OF ";A;
FIRING ANGLE? 75 390 INPUT V(A)
A HIT - 3 IS DEFUNCT. 400 GOTO 510
610 NEXT B
620 NEXT A
ROUND & 630 N1=N
440 PRINT "~
PLAYER 1 SHOOTING AT? 2 650 PRINT »*
FIRING ANGLE? 78 660 PRINT "ROUND ";T+1
YOU OVERSHOT BY 143.826 FEET. 670 PRINT
480 FOR H=1 TO N
PLAYER 2 SHOOTING AT? 1 S oF, =3 THEN 730
FIRING ANGLE? 78 z
YOU OVERSHOT BY $57.79 FEET. ;;g éz 2"0 1 THEN 730
730 PRINT "PLAYER ";M;" SHOOTING AT "3C
740 GOTO 890
RouRD 7 750 IF P(M)=12 THEN 1280
760 PRINT "PLAYER ";K;"SHOOTING AT";
PLAYER 1 SHOOTING AT? 2 iLH ;
FIRING ANGLER 79-4 ;;g ;:Pgngm 830,830,830
A HIT - 2 IS DEFUNCT. ,830,
2 IS IE 810 PRINT ERROR--PLAYERS DESIGNATED 1,2,3."
GAME OVER. 1 WINS. 820 60T0 760
oK 830 IF C<> M THEN 860 .

840 PRINT "ERROR--CANNOT SHOOT SELF
850 GOTO 760

860 IF P(C) <> 12 THEN 890

870 PRINT "ERROR-- *;C;" IS DEFUNCT"
880 GOTO 7460

890 PRINT "FIRING ANGLE";

900 INPUT A3

910 IF AJ<O THEN 940

920 IF A3>180 THEN 940

LIST 930 GOTO 970
940 PRINT "ERROR--FIRED INTO GROUND. ";M;" NOW DEFUNCT."
8 PRINT TAB(22);“ARTILLERY 3" 950 P(M)=12
9 PRINT TAB(20)3;"CREATIVE COMPUTING" 940 GOTO 760
10 PRINT TAB(18);"MORRISTOWN, NEW JERSEY" 970 IF A3<90 THEN 1000
11 PRINT:PRINT:PRINT 980 PRINT "ERROR--FIRED WURONG WAY, LOSE SHOT."
20 T=0 990 GOTO 740
40 DIN V(3),X(3),P(3),R(3,T) 1000 Z=SIN(AJ*3.A9044E-02)*V(N)"2/32
70 MAT VU=ZER 1010 X=(R(M,C)/1000«RND(1))-(R(M,C)/10004RND(1))
80 MAT X=ZER 1020 D=X+1
90 MAT P=ZER 1030 D1=R(M,C)*.05
100 MAT R=ZER 1040 IF D<D1 THEN 1080
110 DATA 1,2,2,3,3,1,1,3,3,2,2,1,2,3,3,1,1,2,0 1050 IF ABS(D-R(M,C))<D1 THEN 1110
120 PRINT "WELCOME TO “UAR3“. TWO OR THREE HUMANS MAY PLAY!" 1060 IF D<R(M,C) THEN 1140
130 PRINT "DO YOU WISH SOME ASSISTANCE"; 1070 IF D>R(M,C) THEN 1140
140 INPUT AS 1080 PRINT " TOO CLOSE- ";M;" IS DEFUNCT."
150 IF A$="YES" THEN 1310 1090 P(M)=12
160 PRINT ®*® 1100 60TO 1180
170 PRINT "NO. OF PLAYERS"; 1110 PRINT " A HIT - ";C;" IS DEFUNCT."
180 INPUT N 1120 P(C)=12
190 IF N=2 THEN 240 1130 GOTO 1180
200 IF N=3 THEN 270 1140 PRINT " YOU UNDERSHOT BY ";ABS(D-R(M,C));" FEET."
210 PRINT "ERROR--TWO OR THREE PLAYERS!" 1150 60T0 1270
220 PRINT 1160 PRINT " YOU OVERSHOT BY ";ABS(D-R(H,C));" FEET."
230 GOTO 140 1170 6070 1270
240 Ni=1 1180 N1=N1-1
250 PRINT "» 1190 IF N1>1 THEN 1270
260 GOTO 290 1200 FOR Mi=1 TO N
270 Ni=N 1210 IF P(M1)=12 THEN 1250
280 PRINT " 1220 PRINT
290 FOR J=1 TO N1 1230 PRINT "GAME OVER, ";M1;" WINS."
300 READ A,B 1240 60TO 1430
310 PRINT "DISTANCE (FT.) ";A;" TO *;B; 1250 NEXT M1
320 INPUT R(A,B) 1260 STOP
330 R(B,A)=R(A,B) 1270 PRINT "¢
340 NEXT J 1280 NEXT M
350 PRINT »» 1290 T=T#1
340 RESTORE 1300 GOTO 450
370 IF N=2 THEN 460 1310 PRINT
380 FOR J=1 TO N 1320 PRINT "THIS IS A WAR GAME. TWO OR THREE PLAYERS ARE GIVEN"
390 READ A,B,C,D,E,F 1330 PRINT "(THEORETICAL) CANNONS WITH WHICH THEY ATTEMPT TO SHOOT EACH"
400 IF R(A,BISR(C,D)+R(E,F) THEN 440 1340 PRINT "OTHER, THE PARAMETERS FOR DISTANCES AND MUZZLE VELOCITIES AR
410 PRINT “"ERROR--ILLEGAL TRIANGLE. RE-ENTER RANGES." E"
420 RESTORE 1350 PRINT "SET AT THE BEGINNING OF THE GAME. THE SHOTS ARE FIRED BY"
430 GOTO 290 1360 PRINT "GIVING A FIRING ANGLE, EXPRESSED IN DEGREES FROM HORIZONTAL"
440 NEXT J 1370 PRINT
450 PRINT 1380 PRINT "THE COMPUTER WILL KEEP TRACK OF THE GAME AND REPORT ALL"
460 FOR J=1 TO N 1390 PRINT "MOVES. A “HIT” IS SCORED BY FIRING A SHOT WITHIN 5Z OF THE"
470 PRINT “MUZZLE VELOCITY (FT./SEC.) OF ";J; 1400 PRINT “TOTAL DISTANCE FIRED OVER. GOOD LUCK"
480 INPUT V(J) 1410 PRINT ®*
490 NEXT J 1420 GOTO 1460
500 PRINT ** 1430 END
510 FOR J=1 TO N (113



Baccarat

Games of the baccarat and chemin
de fer family originated in the baccarat
that became popular in the French
casinos in the 1830’s. In the present
century they have travelled from Eu-
rope to the United States, back to
Europe, and to casinos throughout the
world. This process has resulted in
wide variations in playing rules and
what is called “baccarat” in one casino
may more nearly resemble the “chemin
de fer” of another.

The computer game here is more
nearly chemin de ferthanitis baccarat.
The rules, briefly, are as follows: Eight
packs of cards are shuffled together
and placed in a “shoe” from which the
cards can be slid out one by one.
Following this, the players make their
bets. Any player may make any bet up
totheamount of the bank. The player at
the banker’s right has thefirst choice to
bet. Any part of the bank he does not
take may be bet by the next player on
his right, and so on in order until the
entire bank is covered or until everyone
has bet who wishes to. Any player may
take the entire bank by saying, “Ban-
co,” but when two or more players wish
to banco, the one nearest the banker’s
right has the privilege.

After the bets are placed, the banker
deals two hands of two cards each,
dealing one card at atime. The hand he
deals first represents all the players
betting against him; the other hand is
the banker’s. The player who has made
the largest bet against the banker plays
the opposition hand.

The object of the game is to hold two
or three cards which count nine (9), or
as nearly nine as possible. The values
of the cards are: face cards and tens,
zero; aces, one each; any other card, its
number. Units of ten points are dis-
regarded, so that nine plus seven count
as six, not sixteen.

A player whose card is nine or eight
in his first two cards shows his hand
immediately. He has a natural and his
hand wins (but a natural nine beats a
natural eight). Naturals of the same
number tie, and there is a new deal.

When the result is not decided by a
natural, the banker must give a card to
his opponent on request; or the oppo-
nent may stand. The opponent must
stand on six or seven, must draw to a
zero, one, two, three, or four, but has
the option on five. The additional card,
if given, is face up.

Then the banker decides whether to
stand or take a card.

IF BANKER GIVES BANKER STANDS ON BANKER DRAWS TO
Face card or ten 4,5 6,7 3,2,1,0

Nine 4,5,6,7 (or 3) 2,1,0 (or 3)

Eight 3,4,56,7 2,1,0

Seven or six 7 6,5 4,32 1,0

Five or four 6,7 54321,0

Three or two 56,7 4,3,2,1,0

Ace 4,5 6,7 3,2,1,0

Opponent stands 6,7 54,3210

Neither player may have more than
one additional card, giving him three
cards at the most. When each player
has exercised his option, the cards are
shown. If the totals are the same, the
bets are off and may be withdrawn and
new bets are placed exactly as before
for another deal. If the opponent has a

RUN

higher number than the banker’s, each
player collects such portion of the bank
as he has covered.

In the game of chemin defer, therole
of banker rotates among the players

after each hand; in baccarat, it does
not.

BACRAT

CREATIVE COMPUTING
HORRISTOUN, NEU JERSEY

BACCARAT -- CHEMIN DE FER

DO YOU NEED INSTRUCTIONS? YES
BACCARAT IS A VERY POPULAR GANME IN LAS

VEGAS.

THE PLAYER AND BANKER EACH RECEIVE

TUD CARDS FROW A “SHOE’ CONTAINING 8 DECKS

OF CARDS.
TEN ARE NOT COUNTED.
CLOSER TO NINE VINS.

ALL CARD COWBINATIONS TOTALING
THE ONE THAT ENDS UP
THE STAKES ARE HIGH,

ALL OF THE PLAYERS START UITH TEN THOUSAND

DOLLARS.
PLAYER.

YOU CAN BET ON THE DEALER OR THE
A THIRD CARD IS GIVEN ONLY UNDER

CERTAIN CONDITIONS, AS YOU UWILL SEE.  LET

US BEGIN.

HOW MANY PLAYERS? 1

600D LUCK!

UHAT IS THE NAME OF PLAYER 1 7 STEVE

STEVE HAS ¢ 10000 .

BET? 500

(1) BANKER OR (2) PLAYER? 1

BANKER

FOUR OF SPADES
EIGHT OF HEARTS
PLAYER MUST DKAW.
ACE OF SPADES
PLAYER CANNOT DRAW.
PLAYERS TOTAL: 4

BANKER HUST DRAU.
FIVE OF DIAMONDS
BANKERS TOTAL: 7

BANKER WINS!!

PLAYER
FOUR OF SPADES
NINE OF DIAMONDS

STEVE UINS 9 500 , FOR & TOTAL OF $ 10500 .



STEVE HAS $ 10500 . BET? 1000
(1) BANKER OR (2) PLAYER? 2

BANKER

FOUR OF CLUBS

KING OF HEARTS
PLAYER HUST DRAM.
TUO OF HEARTS
PLAYER CANNOT DRAW.
PLAYERS TOTAL: 3

PLAYER
FOUR OF DIAMONDS
SEVEN OF SPADES

BANKER MUST DRAW.
KING OF DIAMONDS
BANKERS TOTAL: 4

BANKER WINS!!
STEVE LOSES ¢ 1000 , FOR & TOTAL OF $ 9500 .

---------- NEW GANE ----------

STEVE HAS ¢ 9500 .  BET? 9400
(1) BANKER OR (2) PLAYER? 2

BANKER

TWO OF CLUBS

JACK OF DIAMONDS
PLAYER MUST DRAM.
JACK OF HEARTS
PLAYER CANNOT DRAW.
PLAYERS TOTAL: §

PLAYER
JACK OF CLUBS
FIVE OF CLUBS

BANKER MUST DRAW.
THREE OF DIAMONDS
BANKERS TOTAL: §

IT°S A TIE. THE HAND IS PLAYED OVER.
STEVE HAS ¢ 9500 .  BET? 9400
(1) BANKER OR (2) PLAYER? 2

10 PRINT TAB(264);"BACRAT"
20 PRINT TAB(20);"CREATIVE COMPUTING"

30 PRINT TAB(18);"HORRISTOWN, NEW JERSEY":PRINT:PRINT:PRINT
40 PRINT"BACCARAT -- CHEMIN DE FER"

50 PRINT

60 PRINT"DO YOU NEED INSTRUCTIONS";

70 INPUT 08

80 IF O$<O"YES* THEN 210

90 PRINT®  BACCARAT IS A VERY POPULAR GAME IN LAS"
100 PRINT"VEGAS. THE PLAYER AND BANKER EACH RECEIVE®
110 PRINT*TWO CARDS FROM A “SHOE’ CONTAINING 8 DECKS®
120 PRINT"OF CARDS. ALL CARD COMBINATIONS TOTALING"
130 PRINTTEN ARE NOT COUNTED. THE ONE THAT ENDS UP"
140 PRINTCLOSER TO NINE WINS. THE STAKES ARE HIGH,"
150 PRINT*ALL OF THE PLAYERS START WITH TEN THOUSAND"
160 PRINT"DOLLARS. YOU CAN BET ON THE DEALER OR THE"
170 PRINT"PLAYER. A THIRD CARD IS GIVEN ONLY UNDER"
180 PRINTCERTAIN CONDITIONS, AS YOU WILL SEE. LET"
190 PRINT"US BEGIN. 600D LUCK!"

200 PRINT

210 DIN M(20),F1(20),F(20),B$(13),V(13),G4(20)

220 DIN 2(9,10),0(4,13)

240 FOR X=3 10 6

250 FOR Y=1 T0 10

260 READ Z(X,Y)

270 NEXT Y,X

280 FOR S1=1 TO 10:READ W(S1)sNEXT

283 FOR S1=1 TO 4:READ AS$(S1)NEXT

285 FOR S1=1 TO 13:READ B$(S1)sNEXT

287 FOR St=1 TO 13:READ V(S1)zNEXT

290 PRINT

300 PRINT"HOW NANY PLAYERS";

310 INPUT P

320 FOR J=1 T0 P1

330 PRINT*WHAT IS THE NAME OF PLAYER"J;

340 INPUT G8(J)

350 #(J)=10000

350 NEXT J

370 FOR St=1 T0 4

373 FOR S2=1 T0 13

375 a(s1,52)=0

377 NEXT S2

379 NEXT §1

380 FOR J=1 TO 4

390 C=INT(1+RND(1)%4)

400 D=INT(1+RND(1)*13)

410 0(C,D)=0(C,D)+1

420
430
440
450
460
470
480
490
500
510
520
530
540
550
560
570
580
590
400
610
820
430
440
650
460
470
480
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850
860
870
880
890
900
910
920
930
940
950
960
970
980
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1160
1150
1160
1170
1180
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330

IF 0(C,D)>=32 THEN 390
B(J)=Y(D)
C$(I)=BS(D)+" OF "+4$(C)
NEXT J
i=2
FOR J=1 TO P
IF H(J)<1 THEN 580
PRINT 6$(J)" HAS $"M(J)", BET";
INPUT F(J)
IF F(J)DH(J) THEN 490
IF FOCOINT(F(J)) THEN 490
IF F(<1 THEN 490
PRINT"(1) BANKER OR (2) PLAYER"}
INPUT FI()
IF F1(J)>=1000 THEN 490
IF (F1(D-1%(F1(J)-2)<>0 THEN 540
NEXT J
J=0
T1=B(1)4B(2)
T2=B(3)4B(4)
PRINT
PRINT"BANKER"TAB (20)"PLAYER"
PRINT C$(3)TAB(20)C$(1)
PRINT C$(4)TAB(20)C$(2)
IF T1<10 THEN 480
T1=T1-10
IF T2<10 THEN 700
12:T2-10
IF W(T141)=0 THEN 770
PRINT"PLAYER MUST DRAW."
PRINT C$(5)
T1=T14B(S)
IF T1<10 THEN 770
T1=T1-10
6070 790
PRINT"PLAYER CANNOT DRAW."
J=11
PRINT"PLAYERS TOTAL:"Ti
PRINT
IF T2¢3 THEN 870
IF T2>6 THEN 930
IF JCO11 THEN 840
IF T2=6 THEN 930
6010 870
IF Z(T2,B(5)41)=0 THEN 930
PRINT"BANKER NUST DRAW."
PRINT C$(4)
T2:T24B(6)
IF T2<10 THEN 920
T2:T2-10
GOTO 940
PRINTBANKER CANNOT DRAW.”
PRINT"BANKERS TOTAL:"T2
PRINT
IF T20T1 THEN 990
PRINT*IT’S A TIE. THE HAND IS PLAYED OVER."
6070 380
IF T2<T1 THEN 1030
ui=1
PRINT"BANKER WINS!!"
GOTO 1040
PRINTPLAYER WINS!!"
FOR J=1 TO Pt
IF M(J)4=0 THEN 1130
PRINT G$(J)" "3
IF F1(J)=W1 THEN 1110
KOS =H()=F (J)
PRINT"LOSES $"F(J)", FOR A TOTAL OF $*M(J)"."
6070 1130
KOJ)=H(JY+F(J)
PRINT"UINS $"F(J)", FOR A TOTAL OF $"H(J)"."
NEXT J
FOR J=1 T0 P1
IF M(J)<>0 THEN 1190
NEXT J
PRINT"THANK YOU FOR YOUR MONEY, AND *;
6070 1320
PRINT
PRINT® === NEW GANE ~--------- "
PRINT
FOR X=1 T0 4
FOR Y=1 10 13
IF Q(X,Y)<>8 THEN 380
NEXT Y,X
6070 370
DATA 1,1,
DATA 0,0,
DATA 1,1,
DATA CLUB EN,EIGHT
DATA NINE,TEN,JACK,QUEEN,KING,1,2,3,4,5,6,7,8,9,0,0,0,0
PRINT*THANK YOU FOR PLAYING."
END



S PRINT TAB(24);"BIBLE QulZ®
& PRINT TAB(20);“CREATIVE COMPUTING"

BIBLE QUIZ is a program which 7 PRINT TAB(18)};"MORRISTOUN, NEY JERSEY"
ini i 9 PRINT:PRINT:PRINT
adelmlstc;rst#p - 2|5f tthzaeas‘:gv: Zrati)\?:r: 10 PRINT "THIS GAME IS A QUIZ WHICH TESTS *
the Bible to the user. 9 20 PRINT "YOUR KNOWLEDGE OF BIBLICAL EVENTS, PLACES, *
to a question is correct, the program 30 PRINT "AND PERSONS."
proceeds to the next questign. If an 40 PRINT
noorectansuer o giuen e proara B i oA e
o . " 1] . "
gives the correctanswer. Ineither case, 70 PRINT "I UILL PROCEED TO THE NEXT QUESTION. IF YOUR ®
the biblical reference is given 80 PRINT “"ANSUER IS INCORRECT I WILL GIVE YOU THE *
Note that Statements 124| to 296 90 PRINT "CORRECT ANSUER AND THEN PROCEED TO THE *
could serve as the basis for any type of }‘,’8 ::i:; "NEXT QUESTION.®
CAl dialogue with instructions 118 PRINT "ALL ANSWERS ARE ONE WORD."
preceeding Statement 124 and the 119 PRINT “ALL ANSWERS NUST BE CORRECTLY SPELLED.”
questions and answers in the data 120 PRINT “THERE IS A TOTAL OF 25 QUESTIONS.®
statements. 122 PRINT "HOW MANY QUESTIONS DO YOU WISH TO TRY";
This program was written By Steve :2‘ INPUT N
> 30 PRINT
Wentworth of Muskingum Cdllege. It 135 DIN $(25)
originally appeared in Creatiye Com- 140 C=0
puting, Mar/Apr 1977. 142 N130
145 KESTORE
150 IF CsN THEN 290
BIBLE QUIZ 160 C3C+1
CREATIVE COMPUTING 162 PRINT
MORRISTOWN, NEW JERSEY 170 PRINT "QUESTION #*;C
180 PRINT
THIS GAME IS A QUIZ WHICH TESTS 183 X=INT(RND(1)%25+1)
YOUR KNOWLEDGE OF BIBLICAL EVENTS, PLACES, 184 IF S(X)=1 THEN 183
AND PERSONS. 185 S(X)=1
186 FOR O=1 TO X:READ 0$,A$,V$:NEXT Q
1 VILL ASK YOU A QUESTION AND THEN WAIT 210 PRINT 0%
FOR YOUR ANSWER. IF YQUR ANSWER IS CORRECT 220 INPUT R$
1 VILL PROCEED TO THE MEXT QUESTION. IF muJ 230 IF R$=AS THEN 270
AMSUER IS INCORRECT I WILL GIVE YOU THE 240 PRINT “INCORRECT ANSWER®
CORRECT ANSWER AND THEN PROCEED TO THE 250 PRINT "THE CORRECT ANSWER IS *;A8;". ";v$
NEXT QUESTION. 240 GOTO 145
270 PRINT "CORRECT ANSWER--VERY GOOD! ";Vs$
ALL ANSWERS ARE ONE WORD. 272 N1=N141
ALL ANSWERS MUST BE CORRECTLY SPELLED. 280 GOTQ 145
THERE IS A TOTAL OF 25 QUESTIONS. 290 PRINT
HOM MANY QUESTIONS DO YOU WISH TO TRY? 7 292 PRINT "QUT OF ";N;* QUESTIONS YOU ANSWERED";N1;* CORRECTLY.®

294 PxINT((NI/N)#1004.5)
296 PRINT “YOUR PERCENTAGE FOR CORRECT ANSVERS IS";P; X"

QUESTION # 1 301 DATA “"WHO SET FIRE TO THREE HUNDRED FOXES TAILS“,“SAMSON™
302 DATA "1 JUDGES 15:4,5"

WKAT SONG-CONPOSER IS CREDITED WITH 1005 SONGB? SOLOMON 303 DATA "UHAT HEBREW SERVED A QUICK LUNCH UNDER A TREE"

CORRECT AMSWER--VERY GOOD! 1 KINGS 4:32 304 DATA “ABRAHAN"," GEN. 18:4-8"

305 DATA "WHAT HUNGRY MAN CURSED A FRUITLESS FIG TREE",*JESUS"

QUESTION # 2 306 DATA " MARK 11:12-14"
307 DATA "WHO KILLED HIS BROTHER FOR HUMBLING HIS SISTER*
WHAT BLIND MAN KILLED THREE THOUSAND AT A RELJGOUS FEAST? SAMSON 308 DATA “ABSALOM®,"2 SAM. 13"
CORRECT ANSWER--VERY 600D! JUDGES 16:23-30 309 DATA "WHO HAD THREE HUNDRED CONCUBINES","SOLOMON",*1 KINGS 11:1-3"
J10 DATA "WHAT BOY HAD A VARIEGATED COAT®,“JOSEPH"," GEN. 37:3"
QUESTION # 3 311 DATA “WHO HAD A SEAMLESS COAT™,"JESUS"," JOHN 19:23"
312 DATA “UHO TOOK OFF HIS SHOE TO BIND A CONTRACT","BOAZ™,"RUTH 4:7-9
WHO KILLED HIS BROTHER FOR HUMBLING HIS SISTER? ABSALOM 313 DATA “"WHO SLEPT ON AN IRON BEDSTEAD OVER THIRTEEN FEET LONG"
CORRECT ANSWER--VERY 600D! 2 SAM. 13 314 DATA "06"," DUET. 3:11*
315 DATA “WHO WAS THE FIRST CITY-BUILDER","CAIN*," GEN. 4:17"
QUESTION ¥ 4 316 DATA "UHAT PHYSICIAN UAS AN AUTHOR","LUKE"™," COL. 4:14"
317 DATA “UHAT SONG-CONPOSER IS CREDITED WITH 1005 SONGS","SOLONON®
WHAT BQY HAD A VARIEGATED COAT? OSEPH J18 DATA *1 KINGS 4:32*
CORRECT ANSWER--VERY GOOD! GEN. 37:3 319 DATA “UHD WAS THE FIRST PERSON KILLED","ABEL"," GEN. 4:8"
320 DATA “"WHO UAS BURIED IN A CAVE WITH HIS WIFE","ABRAHAM"
QUESTION # § 321 DATA ™ GEN. 25:9-10"
322 DATA "WHO ACCIDENTLY HANGED HIMSELF IN A TREE","ABSALOM*
WHO CLIMBED A TREE TO SEE JESUS? ZACCHAEUS 323 DATA "2 SAM. 18:9"
CORRECT ANSWER--VERY 600D! LUKE 19:4 324 DATA "WUHAT BLIND MAN KILLED THREE THOUSAND AT A RELIGOUS FEAST*
325 DATA “SAMSON™," JUDGES 14:23-30
QUESTION # & 326 DATA “UHAT UAS THE NAME OF THE FIRST CITY EVER BUILT®
327 DATA "ENOCH"," GEN. 4:17"
UHO SET FIRE TO THREE HUNDRED FOXES TAILS? SANSON 328 DATA “UHD WAS A MIGHTY HUNTER","NINROD"," GEN. 10:9-12"
CORRECT ANSUER--VERY GOOD! t JUDGES 15:4,3 329 DATA “UHO DROVE FURIOUSLY™,"JEHU™,“2 KINGS 9:20%
330 DATA "UHO WAS THE FIRST CHRISTIAN MARTYR","STEPHEN"," ACTS 7"
QUESTION # ? 331 DATA "UHO FELL ASLEEP DURING A LON6 SERMON",“EUTYCHUS®
332 DATA * ACTS 20:9"
WHAT CITY IS CALLED THE CITY QF PALM TREES? BJBEL 333 DATA “WHAT CITY IS CALLED THE CITY OF PALM TREES","JERICHO"
INCORRECT ANSWER 334 DATA ™ DUET, 34:3*
THE CORRECT ANSWER IS JERICHO. DUET. 34:3 335 DATA “WHO CLIMBED A TREE TO SEE JESUS™,"ZACCHAEUS",* LUKE 19:4"
336 DATA “WHO KILLED GOLIATH","DAVID™,*1 SAM. 17:49"
QUY OF 7 QUESTIONS YOU ANSWERED 6 CORRECTLY|. 337 DATA "WHOD WAS CAST INTO A DEN OF LIONS","DANIEL"," DAN. 4:14"
YOUR PERCENTAGE FOR CORRECT ANSWERS IS 86 Y 400 END




Big 6 is strictly an American inven-
tion from the casinos of Nevada. There
is a very large wheel mounted vertical-
ly, generally four feet or more in
diameter, that has the numbers one
through six in a random arrangement
around its periphery. Players place
their bets on a roulette type of table in
front of the wheel. The wheel is then
spun and three numbers are declared
the winners. These are the three
numbers that appear at the top of the
wheel. Most novice players looking at
the wheel think that since there are
three winners they have a very good
chance of winning a large sum of
money. Betting limits are generally up
to $500 and, as many players discover
very quickly, the odds are very heavily
in favor of the house.

If you feel that you must play Big 6,
try it by computer first and then figure
out how much you can afford to lose
when you go to play it in Las Vegas or
Atlantic City. The computer is a much
better sport when you lose than the
casino managers will be at either of
those resort cities.

Big 6 was written by Steve Heywood
and Dave Alvey.
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BI1B4
CREATIVE COMPUTING
MORRISTOUN, NEW JERSEY

THIS PROGRAN IS A DICE UHEEL GAME IN UHICH
YOU CAN BET ON ANY NUMBER BETUEEN ONE AND SIX
AND UP TO THREE NUMBERS.

THE HOUSE LINIT IS FROM $1 TO $500!!

TO END THIS PROGRAM TYPE THE WORD “STOP’.
G0OD LUuCK!

HOU MANY NUMBERS DO YOU WANT TO BET ON?
WHAT NUMBER? 4

WAGER? 10

THE LUCKY NUMBERS ARE: 3 3 ¢

YOU LOSE ON: 4

YOURE BEHIND $-10

—

HOU MANY NUNBERS DO YOU WANT TO BET ON? 2
WHAT TWO NUMBERS? 2,4

WAGER ON BOTH? 5,10

THE LUCKY NUMBERS ARE: 1 5 &

YOU LOSE ON: 2

YOU LOSE ON: 4

YQU“RE BEHIND $-23

HOW WANY NUNBERS DO YOU UANT TO BET ON? 3
UHAT THREE NUXBERS? 1,3,

UAGER ON EACH OF THE THREE? §,5,5

THE LUCKY NUMBERS ARE: 1 & &

YOU WIN 1 TIMES ON: 1

YOU LOSE ON: 3

YOU LOSE ON: S

YOU’RE BEHIND $-30

HOW MANY NUMBERS DO YOU WANT TO BET ON? 2
WHAT TWO NUMBERS? 1,3

WAGER ON BOTH? 10,10

THE LUCKY NUMBERS ARE: 1 4 4

YOU VIN 1 TIMES ON: 1t

YOU LOSE ON: 3

YOU’RE BEHIND $-30

HOW MAMY NUMBERS DQ YOU WANT TO BET ON?
UHAT NUMBERY 4

WAGER? 100

THE LUCKY NUNBERS ARE: 4 3 4

YOU VIN 1 TIMES ON: 4

YOU'RE AHEAD § 70

-

HOU MAMY NUMBERS DO YOU WANT TO BET ON? 2
WHAT TUO NUMBERS? 2,4

WAGER ON BOTH? 25,2

THE LUCKY NUMBERS ARE: 4 & 6

YOU LOSE ON: 2

YOU WIN 1 TIMES ON: 4

YOU“RE AHEAD $ 70

HOU MANY NUMBERS DO YOU WANT TO BET ON? 3
WHAT THREE NUMBERSY? 1,2,3

WAGER ON EACH OF THE THREE? 10,10,20

THE LUCKY NUMBERS ARE: 3 4 &

YOU LOSE ON: 1t

YOU LOSE ON: 2

YOU VIN 1 TIMES ON: 3

YOU‘RE AHEAD § 70

Py

HOU MANY NUMBERS DO YOU WANT TO BET ON?
WUHAT NUMBER? 4

WAGERY 500

THE LUCKY NUMBERS ARE: 1 4 §

YOU WIN t TINES ON: 4

YOU“RE AHEAD $ S70

HOW MANY NUMBERS DO YOU WANT TO BET ON? STOP

e

SO YOU WANT TO CASH IN YOUR CHIPS, I SEE!!!
YOU UON EXACTLY $ 570 !! NOT BAD !!!
Ok

7



LIST 600 PRINT "WHAT THREE NUNBERS";

1 PRINT TAB(27);“BIG6" 610 INPUT V,P,S

2 PRINT TAB(20);“CREATIVE COMPUTING" 620 IF V<=6 OR U>=1 OR P<=4 OR P>=1 OR S<=4 OR S>=1 THEN 710
3 PRINT TAB(18);“HORRISTOWN, NEW JERSEY" 490 PRINT "YOU CAN ONLY BET ON AN INTEGER FROK ONE TO SIX."
4 PRINT:PRINT:PRINT 700 GOTO 400

10 PRINT * THIS PROGRAN IS A4 DICE WHEEL GAME IN WHICH" 710 PRINT "WAGER ON EACH OF THE THREE";

20 PRINT “YOU CAN BET ON ANY NUMBER BETUEEN ONE|AND SIX" 720 INPUT F,I,J

30 PRINT “AND UP T0 THREE NUMBERS.® 730 IF F<=500 OR F>=1 OR I<=300 OR I>=1 OR J<=500 OR J>=1 THEN 820
40 PRINT " THE HOUSE LINIT IS FROM $1 TO $500!{" 800 PRINT "THE HOUSE LINIT IS FROM $1 TO $500."

50 PRINT "T0 END THIS PROGRAN TYPE THE WORD “STQP-." 810 60TO 710

60 PRINT “GOOD LUCK!® 820 GOSUB 1870

45 PRINT:PRINT 830 §2=V:S3=F:G0SUB 2040

67 DIK S(3) 840 $2=P:S3=1:60SUB 2060

70 60TO 90 850 §2=5:53=J:G0SUB 2060

80 PRINT "YOU CANNOT BET ON LESS THAN ONE OR HO:E THAN THREE NUMBERS." 870 GOTO 3240

90 PRINT "HOW MANY NUMBERS DO YOU WANT TO BET ON"; 1870 X=-1

100 INPUT N$:IF N$="STOP" THEN 3340 1880 A=INT(&*RND(1)+1):B=INT(4*RND(1)+1):C=INT(4*RND(1)41)
110 N=VAL(NS$) 1890 S(1)=A25(2)=B25(3)=C

120 IF N=2 THEN 370 1900 FOR Y=1 T0 2

130 IF N=3 THEN 400 1910 FOR X=1 10 3-Y

140 IF N33 OR N<1 THEN 80 1920 IF S(X)<=5(X+1) THEN 1940

190 PRINT “4HAT NUNBER"; 1930 TE=S(X)$5(X)=§(X+1) 25(X+1)=TE

200 INPUT ¥ 1940 NEXT XsNEXT Y

210 IF U<=4 OR Y>=1 THEN 260 1950 PRINT "THE LUCKY NUMBERS ARE: "S(1);S(2);$(3)

240 PRINT "YOU CAN ONLY BET ON AN INTEGER FROM QNE TO SIX." 1940 RETURN

250 GOTO 190 2060 C1=0

260 PRINT "WAGER"; 2070 IF $2=A THEN C1=C1+1

270 INPUT F 2080 IF S2=B THEN C1=C141

280 IF F<=500 OR F >=1 THEN 330 2090 IF $2=C THEN C1=C1+1

310 PRINT "THE HOUSE LIMIT IS FROK $1 TO $500." 2100 IF C1>0 THEN 2130

320 GOTO 260 2110 §3=53#(-1)

330 GOSUB 1870 2120 PRINT “YOU LOSE ON: ";S§2:60T0 2150

340 52=V:SI=F:605UB 2040 2130 $3=53+C1

360 6OTO 3260 2140 PRINT “YOU WIN "jC1;" TINES ON:"S2

370 PRINT "WHAT TUO NUMBERS"; 2150 W=W+53

380 INPUT V,P 2160 RETURN

390 IF Y<=6 OR Ud=1 OR P<=6 OR P>=1 THEN 440 3260 IF W=0 THEN PRINT "YOU“RE EVEN!!":PRINT:GOTO 90

440 PRINT “YOU CAN ONLY BET ON AN INTEGER FROM ONE TO SIX." 3270 IF W>0 THEN PRINT "YOU‘RE AHEAD $*;W:PRINT:GOTO 90

450 GOTO 370 3280 IF WKO THEN PRINT “YOU‘RE BEHIND $";W:PRINT:GOTO 90
460 PRINT "WAGER ON BOTH"; 3350 REM

470 INPUT F,1 3360 PRINT:PRINT:PRINT "SO YQU WANT TO CASH IN YOUR CHIPS, I SEE!!1®
480 IF F<=500 OR F>=1 OR I<=500 OR I>=1 THEN 55 3370 IF W>0 THEN 3410

530 PRINT "THE HOUSE LINIT IS FROM $1 TO $500." 3380 PRINT "YOU DIDN’T WIN ANY KONEY, BUT I‘M WILLING TO CALL IT EVEN!!®
540 GOTO 440 3390 GOTO 3440

550 GOSUB 1870 3410 PRINT "YOU WON EXACTLY $"3U3™!! NOT BAD 111"

560 §2=V:$3=F:GOSUB 2060 3440 END

570 $2=P:53=1:60SUB 2040 0K

590 GOTO 3240




Binary

RUN

BINARY:11000
INARYZ10001
BINARY:Q1011

BINARY:00110
é

BINARY:10100
20

BINARY:01100

BINARY:10001
17

BINARY:01010
BINARY:000M11

BINARY:10110
22

DECINAL: 7
DECIMAL: 13
DECIMAL: 1
DECINAL: 18

DECIMAL: 9
01001

DECIMAL: 11
DECIMAL: 15
DECIMAL: 12
DECINAL: 25

DECIMAL: 6
00110

This game tests your skills in binary-
to-decimal and decimal-to-binary con-
version. You are given twenty conver-
sion trials. Numbers are chosen
randomly and your score is printed at
the end. The answer to any conversion
you miss is displayed; if the next
conversion is presented, you may
assume you got the previous one
correct.

BINARY
CREATIVE COMPUTING MORRISTOWM NEW JERSEY
DECIMAL:? 24
DECINAL:? 17

DECIMAL:7 1

DECIMAL:? 10

DECIMAL:? 12

DECIMAL:? 12

DECINAL:Y 16

DECIMAL:? 10

DECIMAL:? 2

DECIMAL:? 21
BINARY: 7 111
BINARY: 7?7 1111

BINARY: 71

BINARY: 7 10010
BINARY: 7 01000
BINARY: 7 1011
BINARY: 7 1111
BINARY: 7 1100
BINARY: 7 11001
BINARY: ? 01

YOUR SCORE: 70 X

uk

There are several possible
modifications for this program such as
timing the response, allowing the user
to specify the number range, checking
for duplicate numbers, or extending it

to other bases.

Park of Pacific Union College.

This program was written by Ted
It

originally appeared in Creative Com-
puting, Mar/Apr 1975.

LiST

10 P
20F
110
120
130
140
150
1460
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
360
370
37

380
390
4900
410
420
430
440
450
460
470
430
490
500
5190
€20
530
540
350
560
570
580
590
400
610
&2

Ok

RINT TAB(I0);"BINARY"

RINT TAE(1S);“CREATIVE COMPUTING MORRISTOWN KEW JERSEY"

Bs="01"

T9=20

PRINT

PRINT

FOR I=1 T0 10
GOSUB 540

PRINT “BINARY:";
FOR J=1 10 §

PRINT MIDS(BS,B(J)+1,1)}
NEXT J
PRINT *
INPUT A
IF A=D THEN 240

FRINT D

T0=T0-1

PRINT

NEXT 1

PRINT

PRINT

FOR I=1 10 10

50SUB 560

PRINT "DECIMAL: "3D;

PRINT * BINARY: "}

1$="00000"

INPUT T$

IF LEN(I$)> 10 THEN 420

1$="00000"+1$

1$=KIGHT$(($,5/

FOR J=1 10 5

IF MIDS(BS,B(J)+1,1)<>MID8(I8,J,1) THEN 420
NEXT J

60T 480

PRINT » "}

FOR J=1 10 §

PRINT MIDS$(BS,B(J)+1,1);

NEXT J

PRINT

T0=T0-1

PRINT

NEXT I

PRINT

PRINT

PRINT "YOUR SCORE:";INT(TO/.2+.5);"X"
PRINT

PRINT

END

D=0

FOR J=1 T0 §

B =INT(RND(1)+.5)

D=D*2+B(J)

NEXT J

KETURN

END

DECIMAL:"}



Blackbox
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Description: Black Box is a computer
game that appeared in the August 19

zed version of the
y7 issue of Games

and Puzzles. The Black Box is an 8-byt8 square in which
several atoms are hidden. The object of the game is to
discover the positions of the atoms by projecting rays at
them from the sides of the box and notiging how these rays

are deflected, reflected, or absorbed.
across one of the four edges and tr

Rays enter the box
el horizontally or

vertically. The entry points are numbgred from 1 to 32,
counterclockwise, starting at the top of the left edge.

To play the game, you first specify

w many atoms to

place in the Black Box. Then you typeim the pointat which

you send the ray into the box, and you
ray was absorbed or where it emerged.
the game and print the board. The
governed by the following rules:

re told whether the
Type a zero to end
bath of the ray is

(1) Rays that strike an atom directlyj are absorbed.
(2) Rays that come within one squdre of an atom in a

diagonal direction (so that they woul
atom if they continued) are deflected
(3) Rays aimed between two atomso
reflected.
(4) Rays that enter on either side of a
of the box are reflected.
(5) Rays otherwise travel in straight
The game is pretty interesting with

i pass next to the
by 90 degrees.
e squareapartare

h atomontheedge

lines.
our or five atoms,

but can get out of hand with too many more. Occasionally,
an atom can be masked by others. This doesn't occur
often, but sometimes the position ig truly ambiguous
(more often, there is only one place thg atom can be). For
competitive play, score one point for reflections and
absorptions, two for rays which emergqg from the box, and
five points for each atom guessed incgrrectly.

This program and description we

re written by Jeff

Kenton. A previous version appeared in Creative Com-

puting, May/Jun 1978.
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RUN
BLACKROX
CREATIVE COMPUTING
MORRISTOWN, NEW JERSEY

NO. OF ATOMS? 4
RAY? 1

ABSORBED

RAY? 2

ABSORBED

RAY? 3

10 22

RAY? 31
REFLECTED

RAY? 4

10 32

RAY? 28

0 13

RAY? 26
ABSORBED

RAY? 7

ABSORBED

RAY? 8

10 15

RAY? 0

NOW TELL ME, WHERE DO YOU THINK THE ATONS ARE?
(IN ROW,COLUKN FORMAT PLEASE.)
ATON & 1 7 4,3
ATON & 2 7 1,1
ATON & 37 2,7
ATON & 4 77,8

*

® e v e e

e o o o o o
% e o o 9 s 2

« s s o s

¢« o o o v o s .

YOU GUESSED 1 OUT OF 4 ATONS CORRECTLY!!
YOUR SCOGRE FOR THIS ROUND WAS 28 POINTS.
CARE TO TRY AGAIN? YES

NO. OF ATOMS? 4
RAY? 4

T0 13

RAY? 235
ABSORBED

RAY? 23

0 28

RAY? 19

T0 6

RAY? 24

T0 23

RAY? 17
ABSORBED

RAY? 31

T0 1

RAY? 3

T0 18

RAY? 0

NOW TELL ME, WHERE DO YOU THINK THE ATOKS ARE?
(IN ROW,COLUMN FORMAT PLEASE.)
ATOM & 1 7 8,1

ATOM # 2 7 2,3
ATOM # 3 7 4,7
ATOM # 4 7 8,8

. s .
" e .
. .
s s s
. s
* s .
e s s s M s @

s s e s .
o s s s .
D
e s 0 s s
s 0 e s s
s o s o o

® e o s »

YOU GUESSED 2 OQUT OF 4 ATOMS CORRECTLY!!
YOUR SCORE FOR THIS ROUND WAS 24 POINTS.
CARE TO TRY AGAIN? NO

Ok

11

110
120

380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
53¢
339
540
4550
560
370
580
590
600
610
620
Ok

LIST
1

PRINT TAB(25);"BLACKBOX"

PRINT TAB(20);"CREATIVE COMPUTING"

PRINT TAB(18);"HORRISTOMN, NEW JERSEY"
PRINT:PRINT:PRINT

DEF FNR(Z)=INT(B+RND(1)+1)

PRINT “NO. OF ATONS"3: INPUT N

FOR J=0 T0 9: FOR I=0 TO 9z B(I,J)=0: NEXT I,J
FOR I=1 T0 N

X=FNR(1)2 Y=FNR(1)2: IF B(X,Y)<>0 THEN 180
B(X,Y)=1z NEXT I

§=0:C=0

PRINT "RAY";: INPUT R: IF R<1 THEN 480

ON (R-1)/8+1 GOTO 240,250,240,27

PRINT "ERROR": GOTO 210

X=0: Y=R: U=1: V=0: GOTO 280

U=0: V=-1: GOTO 280

U=-1: V=0: GOTO 280

=0z ¥=1

IF U=0 THEN X2=X1-1: XJ=X1+1: Y2=Y1: Y3=Y1: GOTO 310

Y2=Y1-12 YI=Y141: X2=X12 X3=X1

ON 8xB(X1,Y1)+B(X2,Y2)+2+B(X3,Y3)+1 GOTO 330,340,350,340

PRINT "ABSORBED":S=S+1: GOTO 210
X=X1: Y=Y1: GOTO 380

Z=1: GOTO 360

Z=-1

IF U=0 THEN U=Z: V=0: GOTO 380
U=0: V=2

ON (X+13)/8 GOTO 420,400,430
ST0P

ON (Y+15)/8 GOTO 440,280,450
STOP

Z=Y: GOTO 460

2=25-Y: GOTO 440

7=33-X: GOTO 440

7=8+X

IF Z=R THEN PRINT "REFLECTED":$=S+1: GOTO 210
PRINT "TO";Z:5=5+2: GOTO 210

PRINT "NOW TELL ME, WHERE DO YOU THINK THE ATOMS ARE?"

PRINT "(IN ROW,COLUMN FORMAT PLEASE.)"
FOR 0=1 TO N

PRINT "ATON & ";0;

INPUT 1,4

IF B(J,1)=0 THEN $=5+5:60T0 540

C=CH

NEXT @

PRINT: FOR J=1 TO 8: FOR I=1 T0 8

IF B(I,J)=0 THEN PRINT " .";: GOTO 380
PRINT " "3}
NEXT I: PRINT: NEXT J: PRINT:

PRINT "YOU GUESSED ";C;" OUT OF ";N;* ATOMS CORRECTLY!!"
PRINT "YOUR SCORE FOR THIS ROUND WAS ";§3" PDINTS."

INPUT "CARE TO TRY AGAIN";A$
IF LEFT$(A$,1)="Y" THEN PRINT:GOTO 150



Bobstones

The idea for this number game W
derived from a contest cal
“Bobstones” described in the nol
Watership Down. The object
Bobstones is to guess three thir
about the roll of a pair of dice.

1. If the sum of the dice

isoddoreven............. 1 pq
2. The sum of the dice ...... 2 poi
3. The number on each

of the two dice........... 3 poi

The winner is the first player to sc
eleven points. If atie results, the win
is the first player to break the tie.
In this computer version of the gar
you are playing against the compu
However, the computer makes
guess before the dice are “rollg
Hence, it has no real advantage ovef
human opponent.
This game was written by Dd
Addleman. It originally appeared
Creative Computing Mar/Apr 1976,

RUN
BOBSTONES
CREATIVE COMPUTING
MORRISTOUN, NEW JERSEY

THIS IS A NUMBER GAME CALLED BOBSTONES.
BOBSTONES IS TO GUESS THREE THINGS ABOUT THE
OF DICE. ON EACH TURN, THE COMPUTER SIMULATE
THE DICE. THEN, YOU OR THE COMPUTER (YQUR OP|

1. IF THE SUM OF THE DICE IS ODD OR EVEN
2. THE SUM OF THE DICE
3. THE NUMBER ON EACH OF THE TWO DICE

THE VINNER IS THE FIRST PLAYER TO SCORE 1
E RESULTS, THE UINNER IS THE FIRST PLAYER T
GGOD LuCK ! *

T

—

YOU FIRST OR HE? ME

YOUR TURN.
IS THE Sum 0DD OR EVEN? QDD
SORRY, THE SuM IS 4 .

MY TURN.
#ss ON THIS ROLL OF THE DICE, THE TWO NUMBERS|
#es THE SUM IS 8 .

MY GUESS IS THAT THE SUM IS EVEN.
AN I RIGHT OR WRONG? RIGHT

MY GUESS OF THE SUM IS 8

AN I RIGHT OR URONG? RIGHT

MY GUESS IS THAT THE NUMBERS ARE 3 AND S .
AN I RIGHT OR URONG? WRONG
THE SCORE IS HE 3 - YOU 0 .
YOUR TURN.

IS THE Sum ODD OR EVEN? 0DD
SORRY, THE Sum IS 8 .

as
ed
vel

gs

THE OBJECT OF
ROLL OF A PAIR
B THE ROLL OF
PONENT) GUESS

SCORE

1 POINT
2 POINTS
J POINTS

P POINTS. IF A
D BREAK THE TIE.

ARE 4 AND 4

MY TURN.

#ss ON THIS ROLL OF THE DICE, THE TWO NUMBERS ARE 3 AND
#¢¢ THE SUM IS 6 .

MY GUESS IS THAT THE SUM IS EVEN.

AN I RIGHT OR WRONG? RIGHT

MY GUESS OF THE SuM IS 12

AN I RIGHT OR WURONG? WQRONG

/// TYPE THE WORD “RIGHT” OR THE WORD “URONG".

AN I RIGHT OR WRONG? URONG

THE SCORE IS ME 4 - YOU 0 .
YOUR TURN.

IS THE SuM 0DD OR EVEN? EVEN
YOU ARE CORRECT.

NOU, GUESS THE SUM? 12
SORRY, THE SuM IS 10 .

HY TURN.

ss+ ON THIS ROLL OF THE DICE, THE TUO NUMBERS ARE 2
*s¢ THE SUM IS & .

HY GUESS IS THAT THE Sum IS 0DD.

AN I RIGHT OR URONG? WRONG

AND

THE SCORE IS XE 4 - YOU 1 .
YOUR TURN.

IS THE Sum 0DD OR EVEN? QDD
YOU ARE CORRECT.

NOW, GUESS THE Sum? 3
SORRY, THE SUM IS 9 .

MY TURN.

#ss ON THIS ROLL OF THE DICE, THE TWD NUNBERS ARE 1
#¢s THE SUM IS 3 .

MY GUESS IS THAT THE SuM 1S 0DD.

AN I RIGHT OR WURONG? RIGHT

HY GUESS OF THE Sum IS 9

AN 1 RIGHT OR URONG? WRONG

AND

THE SCORE IS MES =~ YOU 2 .
YOUR TURN.

IS THE SUN 0DD OR EVEN? 0ODD
SORRY, THE Sum IS 6 .

MY TURN,

*s# ON THIS ROLL OF THE DICE, THE TUO NUNBERS ARE 6 AND
sss THE SUM IS 8 ,

MY GUESS IS THAT THE SUM IS 0DD.

AN I RIGHT OR WRONG? WRONG

THE SCORE IS HE S - YOU 2 .
YOUR TURN.

IS THE SUN 0DD OR EVEN? EVEN
YOU ARE CORRECT.

NOU, GUESS THE SUM? 6

SORRY, THE SuM IS 4 ,

MY TURN.

*33 ON THIS ROLL OF THE DICE, THE TWO NUMBERS ARE 3 AND
#0% THE SUN IS 7 .

MY GUESS IS THAT THE SUM IS 0DD.

AN I RIGHT OR URONG? RIGHT

MY GUESS OF THE SuM IS 11

AN I RIGHT OR WROMG? WRONG

THE SCORE IS ME &
LIST

-YOU 3.

10 PRINT TAB(24);"BOBSTONES"

20 PRINT TAB(20);"CREATIVE COMPUTING"

30 PRINT TAB(18);“MORRISTOWN, NEW JERSEY*

130 PRINT:PRINT:PRINT

140 PRINT * THIS 18 A NUMBER GAME CALLED BOBSTONES.
130 PRINT
160 PRINT "OF DICE.
170 PRINT “THE DICE.
180 PRINT

190 PRINT *

200 PRINT * 1, IF THE SUM OF THE DICE IS 0DD OR EVEN

12

4.

2.

.

THE 0BJECT OF"
"BOBSTONES IS TO GUESS THREE THINGS ABOUT THE ROLL OF A PAIR®
ON EACH TURN, THE COMPUTER SIMULATES THE ROLL OF"

THEN, YOU OR THE COMPUTER (YOUR OPPONENT) GUESS"

SCORE"
1 POINT"



210
220
230
240
250
"
260
270
280
290
300
310
320
330
340
350
360
370
380
390
400
410
420
430
440
450
460
470
480
490
500
510
520
530
540
350
560
570
580
590
600
410
620
630
430
660
470
480
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850
860
870
880
890
200
910
920
930
940
950
960
970
980
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130

PRINT
PRINT
PRINT
PRINT
PRINT

" 2. THE SUM OF THE DICE
" 3. THE NUMBER ON EACH OF THE TWO DICE

2 POINTS"
3 POINTS"

THE WINNER IS THE FIRST PLAYER TO SCORE 11 POINTS. IF A"
"TIE RESULTS, THE WINNER IS THE FIRST PLAYER TO BREAK THE TIE.

PRINT *  G0OD LUCK !®
DEF FND(X)=INT(6*RND(1)+1)
DIN A(2)
LET A(1)=0
LET A(2)=0
LET Zt=-1
LET 72=-1
LET Z3=-1
LET Z4=-1
LET Z5=-1
LET J1=0
PRINT
PRINT
PRINT "YOU FIRST OR NE";
INPUT 78
IF Z$="YOU" THEN 450
IF Z$="HE" THEN 450
“/// TYPE THE WORD “YOU’ OR THE WORD “ME‘."
60T0 390
LET DI=FND(Z1)
IF 71=0 THEN 480
LET 71=0
LET D2=FND(0)
LET §=D14D2
IF J1=0 THEN 650
IF Z$<>"ME" THEN 580
IF J2<>0 THEN 1140
PRINT
PRINT “THE SCORE IS ME";A(2);" - YOU";A(1);"."
IF ACT)>=11 THEN 1900
IF AC2)>=11 THEN 1900
G60T0 670
IF Z$<3"YOU™ THEN 2020
IF J2<>1 THEN 670
PRINT
PRINT "THE SCORE IS YOU";A(1)3" - ME";A(2)3"."
IF AC1I>=11 THEN 1900
IF AC2)>=11 THEN 1900
LET J1=-1
IF Z$="YOU" THEN 1160
PRINT
PRINT "YOUR TURN."
LET J2=1
LET R=5-(INT(5/2)¢2)
PRINT "IS THE SUM QDD OR EVEN";
INPUT AS$
IF A$="0DD" THEN 770
IF A$="EVEN" THEN 800
PRINT “/// TYPE THE WORD ‘ODD’ OR THE WORD “EVEN’."
60TO 710
IF R=1 THEN 820
PRINT “SORRY, THE SUM IS";S;“."
GOTO 450
IF R=0 THEN 820
60T0 780
PRINT "YOU ARE CORRECT."
LET A(1)=A(1)41
PRINT “NOW, GUESS THE SUM*;
INPUT 61
IF G1<2 THEN 890
IF G1>12 THEN 890
60TO 910
PRINT "/// THE SUM NUST BE BETWEEN 2 AND 12."
G0TO 840
IF G1=5 THEN 940
PRINT "SORRY, THE SUM IS";S;“."
60TO 450
PRINT "YOU ARE CORRECT."
LET A(1)=A(1)42
PRINT "UHAT ARE THE TUO NUMBERS WHICH PRODUCED ";S;" *;
INPUT N1, N2
IF N1<1 THEN 1030
IF N2<1 THEN 1030
IF NI>6 THEN 1030
IF N2>6 THEN 1030
60T0 1050
PRINT “/// THE NUMBERS MUST BE BETWEEN 1 AND 6."
60TO 940
IF N1=D1 THEN 1090
IF N2=D1 THEN 1110
PRINT "SORRY, THE NUMBERS ARE";D1;" AND";D2;"."
60T0 450
IF N2=D2 THEN 1130
6070 1070
IF N1=D2 THEN 1130
6070 1070
PRINT "YOU ARE CORRECT."

13

1140
1150
1160
1170
1180
1190
1195
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1330
1540
1350
1560
1570
1580
1590
1600
1610
14620
1430
1640
1650
1460
1470
14680
1490
1700
1710
1720
1730
1740
1750
1760
1770
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050

LET A(1)=A(1)43

GOTO 450

LET J2=0

PRINT

PRINT "MY TURN."

PRINT "#£x ON THIS ROLL OF THE DICE, THE TWO NUMBERS ";
PRINT "ARE “;D1;" AND ";D2;"."

PRINT “#®¥ THE SUM IS ";S;"."

LET A1=INT(2%RND(1)+41)

IF Z2=0 THEN 1240

LET 22=0

IF A1=1 THEN 1270

PRINT "MY GUESS IS THAT THE SUM IS 0DD."
6070 1280

PRINT "HY GUESS IS THAT THE SUM IS EVEN."
PRINT "AM I RIGHT OR WRONG";

INPUT D$

IF D$="RIGHT" THEN 1340

IF D$="URONG" THEN 450

PRINT "/// TYPE THE WORD “RIGHT” OR THE WORD “WRONG”."
GOTO 1280

LET A(2)=A(2)#1

IF A1=1 THEN 1410

LET B1=INT(S*RND(1)41)

IF Z3=0 THEN 1390

LET 73=0

LET B2=B1+Bt+1

GOTO 1430

LET B1=FND(0)

LET B2=B1+B!

PRINT "MY GUESS OF THE SUM IS ";B2
PRINT “AM I RIGHT OR WRONG";

INPUT D$

IF D$="RIGHT" THEN 1500

IF D$="URONG" THEN 450

PRINT "/// TYPE THE WORD “RIGHT“ OR THE WORD “WRONG”."
GOTOD 1440

LET A(2)=A(2)+2

IF B2<>2 THEN 1550

LET C1=1

LET C2=1

GOTO 1810

IF B2<>3 THEN 1590

LET Ci=1

LET €2=2

GOTO 1810

IF B2:>11 THEN 1630

LET C1=5

LET C2=4

G070 1810

IF B2<>12 THEN 1670

LET C1=6

LET €2=6

GOTO 1810

IF B2>7 THEN 1740

LET K1=B2-1

LET C1=INT(K1#RND(1)+1)

IF Z4=0 THEN 1720

LET Z4=0

LET €2=B2-C1

60TO 1810

LET K1=B2-4

LET K3=K1-1

LET K2=7-K1

LET C1=(INT(K2#RND(1)+1)+K3)

IF 25=0 THEN 1800

LET 25=0

LET €2=B2-C1

PRINT "MY GUESS IS THAT THE NUMBERS ARE “;C1;" AND “;C2;"."
PRINT "AM I RIGHT OR WRONG";

INPUT D$

IF D$="RIGHT" THEN 1880

IF D$="URONG" THEN 450

PRINT "/// TYPE THE WORD “RIGHT” OR THE WORD “WRONG”."
GOTO 1820

LET A(2)=A(2)+3

GOTO 450

IF AC(1)<XA(2) THEN 1930

IF J2<>0 THEN 1160

GOTO 670

IF A(1)>A(2) THEN 2030

PRINT

PRINT "I WIN! ANOTHER GAME";
INPUT C$

IF C$="YES" THEN 290

IF C$="NO" THEN 2010

PRINT "“/// TYPE THE WORD “YES” OR THE WORD “NO”."
GOTO 1960

PRINT "SEE YOU LATER."

END

PRINT

PRINT "YOU WIN! ANOTHER GAME";

60TO 1960



This program simulates the Italian
game of Bocce also called “lawn
bowls” or just “bowls.”

The instructions starting |at the line
1770 explain the game.

This is the four-ball vergion (Q=5).
Allowing more balls in fthe game
(raising Q) will increage central
processing time since the ¢hances of
collision will rise and thq .resulting
position of each ball has tojbe recom-
puted. However, the delay ig short and
we routinely play six to gight balls.
Increasing Q beyond 9 will require
redimensioning the arrays at line 1030.

When there is collision, the bell will
sound (line 1500).

It is important to remember that the
object is to get close to the jack and not
to hit it. Upon collision, the jack will
move off more quickly tHan a ball
because it is smaller and |lighter. A
careless shot can turn a gpod game
into a disaster.

It requires some imaginatjon to play
the game well. It goes best if you
imagine that you are standing at
coordinates 0,0 and are | i
along the X-axis.

were written by Victor
Eastern  Kentucky
originally appeared in Cre
puting, Jul/Aug 1977.

]

BOCCE
CREATIVE COMPUTING
MORRISTOUN NEW JERSEY

THIS GAME SINULATES THE GAME OF LAUN BOULS

DO YOU NEED INSTRUCTIONS? ENTER YES OR NOY YES

IN THIS GAME YOU ROLL 4 BALLS SUCCESSIVELY AT A TARGET
BALL (CALLED A JACK). THE OBJECT IS TO GET THE BALLS AS CLOSE

TO THE JACK AS POSSIBLE.

THE BALLS ARE 10 CM IN DIAMETER AND

ARE WEIGHTED SO THAT THEY ROLL IN A CURVE. YOU VILL HAVE TO
ROLL THEM AT AN ANGLE TO THE LINE FROM YOU AT COORDINATES 0,0
TO THE JACK AT COORDINATES X,Y. A POSITIVE ANGLE WILL MAKE
THE BALL CURVE CLOCKUISE. A MEGITIVE ANGLE WILL MAKE IT CURVE

ANTI-CLOCKVISE.
STRAIGHT IF YOU HIT IT.
CURVE IN EITHER DIRECTION,

THE JACK IS A 4 CM WIDE AND WILL ROLL
BALLS HIT BY YOUR THROWN BALL MAY

HINT. TRY AN INITIAL VELOCMTY OF 500 AND AN ANGLE OF 10

THE JACK IS LOCATED AT 2171 77
BALL 1

VELOCITY? 300

AKGLE? 10

JACK AT COORDINATES 2171 77
BALL 1 AT COORDINATES 2434.43 -494.239 IT

YECR! OVER 20 FEET AWAY!
LONGE AND TO THE RIGHT

BALL 2
VELOCITY? 480
ANGLE? ¢

JACK AT COORDINATES 2171 77
BALL 1 AT COORDINATES 2434.43 -494.239 1IT
BALL 2 AT COORDINATES 2243.71 -455.535 IT

YECH! OVER 17 FEET AWAY!
LONG AND TO THE RIGHT

BALL 3
VELOCITY? 400
ANGLE? 3

JACK AT COORDINATES 2171 77

BALL 1 AT COORDINATES 2434.43 -494.239 IT
BALL 2 AT COORDINATES 2243.71 -455.535 IT
BALL 3 AT COORDINATES 3506.13 -710.248 IT

YECH! OVER 50 FEET AUAY!
LONG AND TO THE RIGHT

BALL 4
VELOCITY? 300
ANGLE? §

JACK AT COORDINATES 2171 77

BALL 1 AT COORDINATES 2434.63 -494.239 1IT
BALL 2 AT COORDINATES 2243,71 -455.535 1IT
BALL 3 AT COORDINATES 3506.13 -710.248 1IT
BALL 4 AT CUORDINATES 876.228 -178.163 IT

YECH! OVER 43 FEET AWAY!
SHORT AND TO THE RIGHT
THE TOTAL DISTANCE OF ALL BALLS FROM THE JACK
DON’T PLAY THIS GAME FOR MONEY!!
CARE TO TRY AGAIN? ENTER YES OR NOY NO
1] 3

14

1§

18
IS

Is
1§
18

IS
IS
8]
IS

622,137

822.137
530.476

622.137
530.47¢4
1542.95

622,137
530.474
1542.95
1312.67

4008.23

FROM

FRON
FRON

FROM
FROM
FROM

FROX
FRON
FRON
FROM

CN

THE

THE
THE

THE
THE
THE

THE
THE
THE
THE

JACK

JACK
JACK

JACK
JACK
JACK

JACK
JACK
JACK
JACK



LIST

10 PRINT TAB(25);"BOCCE"

20 PRINT TAB(19);"CREATIVE CONPUTING"

30 PRINT TAB(17);"MORRISTONN NEW JERSEY"
40 PRINT:PRINT:PRINT

1000
1010
1020
1030
1040
1045
1050
1070
1080
1090
1100
1110
1120
1130
1140
1150
1155

Q=3

PRINT "THIS GAME SINULATES THE GAME OF LAWN BOWLS"
INPUT "DO YOU NEED INSTRUCTIONS? ENTER YES OR NO“;Z$
DIN B(9),B1(9),D(9),V(9),X(9),Y(9)

PRINT: IF Z$="YES" THEN GOSUB 1770

P1=3.14159

§1=0:52=0:A=-49.3

X(1)=INT(2000+7004RND(1)) 2 Y(1)=INT(200-400+RND(1))
PRINT "THE JACK IS LOCATEZD AT ";X(1);Y(1)

FOR P=2 TO 0

J=P:GOSUB 13570

NEXT P

FOR J=2 T0 @

D1=D14D(J)

NEXT J

PRINT: PRINT “THE TOTAL DISTANCE OF ALL BALLS FROM THE JACK 1S "}

PRINT D1;" CH"

IF D1 < @°2 THEN PRINT "MAGNIFICENT BOWLING! WHAT AN EYE!!"

IF D1 < @°2 THEN 1230

IF D1<2#Q"2 THEN PRINT"EXCELLENT BUT COULD BE BETTER:":60T0 1230

IF D1 < 3#Q"2 THEN PRINT "GOOD BUT NEEDS SOME INPROVEMENT":G0OT01230
IF D1 { 6%Q°2 THEN PRINT "FAIR - YOU NEED MORE PRACTICE":G0TO 1230
IF D1 < 10%#0°2 THEN PRINT "POOR - TRY TO BE MORE CONSISTANT":GOTO 1230

IF D1 < 20#0°2 THEN PRINT "YOUR GAME NEEDS LOTS OF WORK":GOTO 1230

PRINT “DON’T PLAY THIS GAME FOR MONEY!!"
FOR J=1 T0 @

B(J)=0:B1(J)=0:D¢(J)=0
VIN=0:X(N=0:Y(J)=0

NEXT J

PRINT:INPUT "CARE TO TRY AGAIN? ENTER YES OR NO";Y$
PRINT: IF Y$="YES™ THEN 10350

GOTO 1890

K1=-20

IF J=1 THEN K1=0
A1=A*COS(B(J))+K1*COS((P1/2)4B(J))
A2=A*SIN(B(J))+K1*SINC(P1/2)4B(J))
$3=V(J)*COS(B(J))*.05+1.25E-03*Al
S4=V(J)*SIN(B(J))*.05+1.25E-03+A2

B(J)=ATNC(V () *SIN(B(J))+A2%.05)/(V(J)*COS(B(J))+A1+,05))

IF B1(J)< 0 THEN S4=-54

§5=51483: 56=52+54

IF J=1 THEN 1370

IF ABS(SS-X(1))<7 AND ABS(S4-Y(1))<? THEN K=1:60SUB 1330
FOR K=2 T0 0

IF K=J OR X(K)=0 THEN 1400

IF ABS(S5-X(K))< 10 AND ABS(S6-Y(K))< 10 THEN GOSUB 13500
NEXT K

IF V(J)<ABS(A%.03) THEN 1440

V=V +(A*.05):51=85:52=54:60T0 1290

GOTO 1290

X(d)=X(J)+852 Y(I)=Y(J)+86:51=0252=0:55=0254=0

FOR L=1 T0 @

IF V(L)>ABS(A*.05) THEN J=L:GOTO
B(L)=0:V(L)=0

NEXT L

GOTO 1630
B(K)=ATN((Y(K)-S2)/(X(K)-S1)): PRINT CHR$(7);
IF J=1 THEN V(J)=V(J)/5

1290

1520
1530
1540
1550
1560
1570
1580
1590
1600
1610
1620
1630
1640
1650
1655
1660
1670
14675
14680
14690
1700
1710
1720
1730
1735
1740
1743
1750
1755
1760
1765
1770
177§
1780
1790
1800
1810
1820
1830
1840
1850
1860
1870
1880
1890
Ok
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V(J)=ABS(V(J)*#SIN(B(J)-B(K))):V(K)=ABS(V(J)*COS(B(J)-B(K)))
B(J)=((P1/2)+B(K)): §3=51: §6=52

IF K=1 THEN V(K)=5#V(K)

IF J=1 THEN V(J)=3%V(J)

RETURN

PRINT "BALL ";(J-1)

INPUT "VELOCITY";V(J):V(J)=ABS(V(J))

IF V(J) > 1000 THEN PRINT "VELOCITY TOO HIGH":GQTO 1380

INPUT “ANGLE";B1(J)

IF ABS(B1(J))> 89 THEN PRINT "ANGLE TO BIG":G0TO 1290

PRINT : B(J)=ABS(B(J)*P1/180):60T0 1290

PRINT "JACK AT COORDINATES ";X(1)3Y(1)

FOR M=2 TO P

D=(SARC(Y(1)-Y(M))"24(X(1)-X(¥))"2))-7

D(M)=D

IF D < 0 THEN D(M)=0

PRINT"BALL “;(M-1);" AT COORDINATES ";X(M);Y(M)3" IT 1S ";D(N);

PRINT "FROM THE JACK"

NEXT M

PRINT

IF D(P) < 10 THEN PRINT TAB(13);"EXCELLENT SHOT! ";:G0TO 1740

IF D(P) < 20 THEN PRINT TAB(15);"G00D SHOOTING! ";:GOTO 1740

IF D(P)< 30 THEN PRINT TAB(13);"NICE TRY !";:G0TO0 1740

IF D(P)>500 THEN PRINT TAB(S);"YECH! OVER ";INT(D(P)/30.48);

IF D(P) > 500 THEN PRINT "FEET AWAY!"

IF X(P)>X(1) THEN PRINT "LONG AND “;

IF X(P)< X(1) THEN PRINT "SHORT AND "3

IF Y(P)>Y(1) THEN PRINT "TO THE LEFT *

IF Y(P) € Y(1) THEN PRINT "TO THE RIGHT"

PRINT

RETURN

PRINT "IN THIS GAME YOU ROLL ";Q-1;"BALLS SUCCESSIVELY AT A TARG";
PRINT "ET"

PRINT "BALL (CALLED A JACK). THE OBJECT IS TO GET THE BALLS AS CLOSE"
PRINT "TO THE JACK AS POSSIBLE. THE BALLS ARE 10 CM IN DIAMETER AND"
PRINT "ARE WEIGHTED SO THAT THEY ROLL IN A CURVE. YOU WILL HAVE TQ"
PRINT "ROLL THEM AT AN ANGLE TO THE LINE FROM YOU AT COORDINATES 0,0"
PRINT "TO THE JACK AT COORDINATES X,Y. A POSITIVE ANGLE WILL MAKE"
PRINT "THE BALL CURVE CLOCKWISE. A NEGITIVE ANGLE WILL MAKE IT CURVE"
PRINT “ANTI-CLOCKWISE. THE JACK IS A 4 CM WIDE AND WILL ROLL"

PRINT “STRAIGHT IF YOU HIT IT. BALLS HIT BY YOUR THROWN BALL MAY"
PRINT "CURVE IN EITHER DIRECTION."

PRINT:PRINT "HINT. TRY AN INITIAL VELOCMTY OF 500 AND AN ANGLE OF 10"
PRINT:PRINT:RETURN

END



RUN
BOGA II
CREATIVE COMPUTING
MORRISTOUN, NEW JERSEY
. DO YOU VANT INSTRUCTIONS? YES

THE BOGA IS HIDING ON A GRID (YOU SPECIFY THE LENGTH
= AND WIDTH). TRY TO GUESS HIS POSITION USING THE HINTS
1 GIVE YQU. EACH GUESS IS TWO NUMBERS SEPERATEL 2y
A COMNA. PLEASE KEEP IN MIND THAT THE BCGA IS ALSO
SEARCHING FOR YQU!!!!

.. HOL BIG SHOULD THE GRID BE(20 MAXIMUM)? 21
\ \\\\\ HOW BIG SHOULD THE GRID BE(20 MAXIMUM)? 15

' N WOULD YOU LIKE A SAMPLE GRID? YEUWS

A Bogais a bogus animal ormythical
beast in the Hurkle family| Like a
Hurkle, the Boga hides on a grid with
dimensions up to 20 by 20. It sends out
clues that tell you which dirg¢ction to
move from where you are to where it is.
However, one major difference
between a Boga and a Hurkje is the
Boga is also seeking you out at the
same time you are looking fqr it. You
don't have to tell it which direftions to
go after each of its guessep to get
closer to you. It apparently has a very
good nose and can tell on [its own.
However, it plays fairly and gjives you
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CHOOSE YOUR POSITION? -1,16

the first guess, and then it fakes its CHOOSE YOUR POSITION? 4,7
guess. Guesses continue alfernately THE BOGA PICKS HIS POSITION!
. 2
until one or the other, human pr boga, GUESS % 1 7 7,7
; X - YOU GUESSED 7 , 7
find the opposing player. At tHe begin-
ning of the game, you may print out the HE’S MORE TO THE SOUTHWEST
grid if you wish to make your quessing
job slightly easier. Remembd, direc- THE BOGA GUESSES 7 , 7
tions in this game correspongd to the GUESS # 2 7 12,4
diagram; that is, north is up arld east is YOU GUESSED 12 , 4
to the right. ‘S o
This game was created by David HORE T0 THE SOUTHUEST
Strickler. TEE BOGA GUESSES § , 7
N GUESS # 3 7 14,1
YOU GUESSED 14 , 1
w E HE”S MORE TO THE WEST
THE BOGA GUESSES 4 , 7
S THE BOGA GUESSED YOUR POSITION IN 3 GUESS(ES)!

THE BOGA WAS AT 14 , ¢
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DO YOU WANT TO PLAY AGAIN? YES
HOW BIG SHOULD THE GRID BE(20 MAXIMUM)? 4
WOULD YOU LIKE A SAMPLE GRID? YES

01234
0 *+ %33
1 &%+
2 %% %%
I %% %x
4 x>

CHOOSE YOUR POSITION? 2,1
THE BOGA PICKS HIS POSITION!
GUESS # 1 ? 2,2

YOU GUESSED 2 , 2

HE’S MORE TO THE SOUTH
THE BOGA GUESSES 2 , 2

GUESS # 2 ? 4,2
YOU GUESSED 4 , 2

NE’S MORE 10 THE NORTH

THE BOGA GUESSES 2 , 1

THE BOGA GUESSED YOUR POSITION IN 2 GUESS(ES)!
THE BOGA WAS AT 3 , 2

DO YOU WANT TO PLAY AGAIN? YES
HOW BIG SHOULD THE GRID BE(20 MAXIMUM)? 4
WOULD YOU LIKE A SAMPLE GRID? NO

CHOOSE YOUR POSITION? 0,4
THE BOGA PICKS HIS POSITION!
GUESS # 1 7 2,2

YOU GUESSED 2 , 2

HE’S MORE TO THE EAST
THE BOGA GUESSES 2 , 2

GUESS # 2 7 2,3
YOU GUESSED THE BOGA”S POSITION IN 2 GUESS(ES)!

THE BOGA WAS AT 2, 3

DO YOU WANT TO PLAY AGAIN? NO
Ok

T

PRINT TAB(24);"BOGA II®

PRINT TAB(20);"CREATIVE COMPUTING"
PRINT TAB(18);"MORRISTOWN, NEW JERSEY"
PRINT2PRINT:PRINT

INPUT “DO YOU WANT INSTRUCTIONS";Q%
PRINT:PRINT

IF LEFT$(Q$, 1) Y" THEN 220

PRINT * THE BOGA IS HIDING ON A GRID (YOU SPECIFY THE LENGTH"
PRINT “AND WIDTH). TRY TQ GUESS HIS POSITION USING THE HINTS"
PRINT “I GIVE YOU. EACH GUESS IS TWO NUMBERS SEPERATED BY"
100 PRINT "A COMMA. PLEASE KEEP IN MIND THAT THE BOGA IS ALSO"

105 PRINT "SEARCHING FOR YOU!! (1"
110 PRINT:PRINT

220 U=0

240 K=1

250 F=0

260 INPUT "HOW BIG SHOULD THE GRID BE(20 MAXIMUM)";6
275 IF G>20 OR G<1 THEN PRINT:G6OTO 240

280 S=6

290 REM: PRINTS THE GRID

300 INPUT "WOULD YOU LIKE A SAMPLE GRID";Z$
305 IF LEFT$(Z$,1)="N" THEN 380

J10 PRINT

J18 As=""

320 IF G<10 THEN 332

322 FOR X=10 T0 6

324
326
328
330
332
334
336
338
340
342
J44
J46
348
350
352
354
356
380
390
400
411
420

880
a90
00
910
920
930
940
950
940
970
980
990

X1=INT(X/10)
A$=ASHCHRI(X1448)+" "
NEXT X

PRINT TAB(23);A%
A‘:llli

FOR X=0 T0 6§
X1=X-INT(X/10)*10

AS=ASHCHRS (XT448) 40
NEXT X

PRINT TAB(S);A$

Ag=un

FOR X=0 TO 6

AS=AS+E o

NEXT X

FOR X=0 TO 6

PRINT X;TAB(S);A$
NEXT X

PRINT

H=1

INPUT “CHOOSE YOUR POSITION":X1,Y1

IF X1x6 OR X1<0 OR Y12>G OR Y1{0 THEN PRINT:GOTO 400
PRINT "THE BOGA PICKS HIS POSITION!'"
X2=INT(RND(1)%6)

Y2=INT(RND(1)+G)

PRINT “GUESS #"K}

INPUT X3,Y3

IF X3»6 OR X3<0 OR YIXG OR Y3{0 THEN PRINT:G0TC 460
(=K+1

F=F+1

IF K=10 THEN 1040

IF ABS(XI-X2)+ABS(YI-Y2)=( THEN 1010
PRINT "YQU GUESSED"X3","Y]

PRINT

PRINT "HE’S MORE T THE “;

IF X2=XJ THEN 620

IF X2>X3 THEN 600

PRINT “NORTH";

6OTO 620

PRINT "SOUTH"S

IF Y2=YJ THEN 700

IF Y2>Y3 THEN 470

PRINT “MEST"

G0TO 700

PRINT “EAST"

REM: LINES 700-970 AND 1110-1150=BOGAS GUESSING FORMULA
PRINT"“:IF H=0 THEN 730

X4=INT(.5%8)

Y4=INT(.5+S)

PRINT “THE BOGA GUESSESG"XA4™,"Y4
U=U+1

PRINT "

0=ABS(Y1-Y4)+ABS(X1-X4)

IF @=0 THEN 980

H=0

IF Y4=Y1 THEN 880

A=1

IF ABS(Y4-Y1)<2 THEN 830

GOSUB 1140

IF Y4<Y1 THEN 860

Y4=INT(ABS(Y4-A))

GOTO 880

Y4=INT(ABS(Y4+44))

IF Y4>G THEN 1110

IF X4=X1 THEN 970

A=1

1IF ABS(X4-X1)42 THEN 920

GOSUR 1140

IF X4<X1 THEN 950

X4=INT(ABS (X4-4))

6070 970

X4=INT(ABS (X4+4))

IF X4>G THEN 1130

GOTO 460

PRINT “THE BOGA GUESSED YOUR POSITION IN"U“GUESS(ES)!"
PRINT

1000 GOTO 1050

1010 PRINT “YOU GUESSED THE BOGA'S POSITION IN“F"GUESS(ES)!"
1020 PRINT

1030 GOTO 1050

1040 PRINT "YOU USED UP ALL OF YQUR GUESSES."
1050 PRINT “THE BOGA WAS AT"X2","Y2

1060 PRINT

1070 INPUT "“DO YOU WANT TO PLAY AGAIN";0$
1080 IF LEFTS$(QS$,1)="Y" THEN 220

1100 GOTO 1160

1110 Y4=.5%6

1120 6070 880

1130 X4=.5+6

1140 A=2

1150 RETURN

1160 END

Ok



Bombru

. BONB COMMAND? STAND BY
Bomb Run is an extremely gccurate STANDING BY.

simulation of an aircraft dropping a
ou may MAINTAIN PRESENT RESULTANT ANGLE? NO

“CLINB/DIVE” COMMAND? DIVE,10

' may specify speed in feet per second; AIRSPEED? 400
i intyou #£eSTATS 3

W.ISh to drop the bomb. The gprogram ELAPSED TINE... 2 SECONDS
gives you four passes over th¢ target. PRESENT ANGLE COMNAND... DIVE, 10 DEGREES

A perfect hit is possible but extreme- RESULTANT ANGLE... 10 DEGREES DIVING
ly difficult to achieve. A hit within 300 PRESENT VEROCITY... 600 FEET PER SECOND

rget i idered ALTITUDE... 324.511 FEET
feet of the target is corlsid DISTANCE FROM SITE... 3109.12 FEET

ESTIMATED TIME OF ARRIVAL... 3.2618 SECONDS

commentary on your knowledge of
physics. BOMB COMMAND? STAND BY
. . . . STANDING BY.
This program was originally written
by Jim Prelesnik. MAINTAIN PRESENT RESULTANT ANGLE? YES
AIRSPEED? 700
RUN *3¢STATS e
BOMBRUN
CREATIVE COMPUTING ELAPSED TINE... 3 SECONDS
MORRISTOUN, NEW JERSEY PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... O DEGREES DIVING
PRESENT VEROCITY... 700 FEET PER SECOND
THIS PROGRAM SINULATES A BOMBING RUN. DO YOU MEED ALTITUDE... 202.958 FEET
INSTRUCTIONS? YES DISTANCE FROM SITE... 2419.75 FEET
YOU HAVE THE OPTION OF MAKING FOUR PASSES OVER [THE TARGET, ESTIMATED TIME OF ARRIVAL... J3.51011 SECONDS

WITH THE ABILITY TO DROP A BOMB ONCE DURING EACH OF
THESE PASSES. ALTITUDE CHANGES MAYBE MADE THROUGH THE

“CLINB/DIVE” COMMAND BY PRINTING ‘CLINB/ OR /DINE’,FOL- BOME COMNAND? STAND BY

LOUED BY A COMMA AND THE DESIKED ANGLE (IN DEGREES). NEW STANDING BY.

VELOCITIES (RANGING FRON 300 TO 900 FEET PER SECOND) MAY

BE INPUT AFTER THE -AIRSPEED’ QUESTION MARK. ‘CLIMB/DIVE’ MAINTAIN PRESENT RESULTANT ANGLE? YES

ANGLES, VARYING FROX O TO 15 DEGREES, WILL ADD AS SPEC-

IFIED BY “CLINB” OR‘DIVE” COMMANDS TO YIELD A NET INCLIN- . AIRSPEED? 200

ATION/DECLINATION ANGLE BETWEEN 0 TD 60 DEGREEY, CLIMBING IF YOUR ALTITUTE ISN’T INCREASED INMEDIATELY TO A MIN-

OR DIVING. A MINIMUM ALTITUDE OF 100 FEET MUSY ALSO BE INUN OF 100 FEET, A CRASH IS INMINENT.

MAINTAINED. WILLFULLY EXCEEDING ANY OF THE MAX./MIN. SPECS

WILL RESULT IN THE CRASH OF YOUR BOMBER. ALSO|, A BOWB “CLINB/DIVE’ COMMAND? CLIMB,20

COMMAND OF “DROP‘ DURING A DIVE WILL GIVE YOUR [BOMB AN IN-

ITIAL DOUNWARD VELOCITY, SHORTENING THE DROP TIHE, AS A YOUR BOMBER CANNOT TOLERATE THE STRESS CAUSED BY ANGLE

“CLINB- COMMAND WILL LENGTHEN THIS TIME. THE HOMB WILL BE INPUTS EXCEEDING 13 DEGREES. RECONSIDER YOUR CHOICE.

LAUNCHED INMEDIATELY FOLLOWING THE NOST RECENT [“STATS’ READ-

OUT UPON “DROP- COMMAND, AND WILL BE HELD FOR AURTHER 7CLINB/DIVE” COMMAND? CLINB,12

POSITIONING INFORMATION UPON THE COMMAND “STANI BY’, THE

TARGET IS 1 FOOT IN DIAMETER. 600D LUCK AIRSPEED? 500
YOUR BOMBER FAILED TO MAINTAIN THE LOW ALTITUTE YOU DE-
SIRED AND SOON CRASHED.

#+INITIAL*+ BETTER LUCK NEXT TIME.
s#eSTATS*»e
DURING YOUR t -PASS BOMBRUN, YOU MANAGED TO STRIKE
ELAPSED TINE... O SECONDS WITHIN O FEET OF THE TARGET,
PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... 0 DEGREES WOULD YOU LIKE TO RELOAD AND PLAY ABAIN?
PRESENT VEROCITY... 876.763 FHET PER SECOND v YES

ALTITUDE... 428.7 FEE
DISTANCE FROM SITE... 4500 FEET

ESTIMATED TIME OF ARRIVAL... 5.13252 SHCOMDS *sINITIAL*#
se2STATO**s
BOKB COMMAND? STAND BY ELAPSED TIME... 0 SECOMDS
STANDING BY. PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... 0 DEGREES
MAINTAIN PRESENT RESULTANT ANGLE? YES PRESENT VEROCITY... 567.958 FEET PER SECOND
ALTITUDE... 182.338 FEET
AIRSPEED? 800 DISTANCE FROM SITE... 4500 FEET
#xeSTATS#% ESTIMATED TIME OF ARRIVAL... 7.92312 SECONDS
ELAPSED TIME... 1 SECOND
PRESENT ANGLE COMMAND... O DEGREES BOME COMMAND? STAND BY
RESULTANT ANGLE... O DEGREES STANDING BY.
PRESENT VEROCITY... 800 FEET HER SECOND
ALTITUDE... 428.7 FEEY MAINTAIN PRESENT RESULTANT ANGLE? YES
“ISTANCE FROM SITE... 3700 FEET
TINE OF ARRIVAL... 4.625 SECQNDS AIRSPEED? 200
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Later in
the game

BOMB COMMAND? STAND BY
STANDING BY.

MAINTAIN PRESENT RESULTANT ANGLE? YES

AIRSPEED? 750
++¥STATS w4+

ELAPSED TIME... 2 SECONDS
PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... O DEGREES
PRESENT VEROCITY... 750 FEET PER SECOND
ALTITUDE... 128.552 FEET
DISTANCE FROM SITE... 3000 FEET
ESTIMATED TIME OF ARRIVAL... 4 SECONDS

BOMB COMMAND? STAND BY
STANDING BY.

MAINTAIN PRESENT RESULTANT ANGLE? YES

AIRSPEEDT 750
+4+STATS H

ELAPSED TIME... 3 SECONDS
PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... O DEGREES
PRESENT VEROCITY... 750 FEET PER SECOND
ALTITUDE... 128.552 FEET
DISTANCE FROM SITE... 2250 FEET
ESTIMATED TIME OF ARRIVAL... 3 SECONDS

BOMB COMMAND? STAND BY
STANDING BY.

MAINTAIN PRESENT RESULTANT ANGLE? YES

AIRSPEED? 750
*¥¥STATS ¥+

ELAPSED TIME... 4 SECONDS
PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... 0 DEGREES
PRESENT VEROCITY... 750 FEET PER SECOND
ALTITUDE... 128.35352 FEET
BISTANCE FROM SITE... 1500 FEET
ESTIMATED TIME OF ARRIVAL... 2 SECONDS

BOMB COMMAND? STAND BY PLEASE
UNRECOGNIZABLE COMMAND. REPLY “STAND BY“ OR “DROP-.
STANDING BY.

MAINTAIN PRESENT RESULTANT ANGLE? YES

AIRSPEED? 300
e STATS w4k

ELAPSED TIME... 3 SECONDS
PRESENT ANGLE COMMAND... O DEGREES
RESULTANT ANGLE... 0 DEGREES
PRESENT VEROCITY... 300 FEET PER SECOND
ALTITUDE... 128.552 FEET
DISTANCE FROM SITE... 1200 FEET
ESTIMATED TIME OF ARRIVAL... 4 SECONDS

BOMB COMMAND? DROP
BOMB DROPPED.

TINE TO EXPLOSION... 2.8257 SECONDS

THE BOMB LANDED 352.28 FEET IN FRONT OF THE TARGET’S CENTER.

DURING YOUR 4 -PASS BOMBRUN, YOU MANAGED TO STRIKE
WITHIN 0 FEET OF THE TARGET.

WOULD YOU LIKE TO RELOAD AND PLAY AGAIN?

7 NO

LOOK OVER THE PHYSICS LAWS GOVERNING FALLING BODIES,
AND RETURN TO PLAY AGAIN SOON.

Ok
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LIS
10
13
13
19
20
25
20
A0
50
60
70
80
90
100
110
120
130
140
150

570
580
590
600
610
620
630
&40
630
660
470
680
690

710
720
730
740
750
760
770
780
790
800
810
820
830
840

T
FRINT TAB(27)"BOMBRUN"

PRINT TAB(20)"CREATIVE COMPUTING"

PRINT TAB(18)"MORRISTOMN, NEW JERSEY"
PRINT:PRINT

PRINT"THIS PROGRAM SIMULATES A BOMBING RUN.
DIN X5(2,2,2,2
PRINT"INSTRUCTIONS";
INPUT I

IF I$="YES" THEN 90

IF I$="NO" THEN 290
FRINT"ILLOGICAL RESPONSE.
GOTO 40
PRINT"YOU HAVE THE OPTION OF MAKING FOUR PASSES OVER THE TARGET,"
PRINT"WITH THE ABILITY TO DROP A BOMB ONCE DURING EACH OF"
PRINT"THESE PASSES. ALTITUDE CHANGES MAYBE MADE THROUGH THE"

PRINT "“CLIMB/DIVE’ COMMAND BY PRINTING -CLIMB” OR “DIVE”,FOL-"
PRINT"LOWED BY A COMMA AND THE DESIRED ANGLE (IN DEGREES). NEU"
PRINT"VELOCITIES (RANGING FROM 300 TO 900 FEET PER SECOND) MAY"
PRINT"BE INFUT AFTER THE “AIRSPEED’ QUESTION MARK. “CLIMB/DIVE’"
PRINT"ANGLES, VARYING FROM 0 TO 15 DEGKEES, WILL ADD AS SPEC-"
PRINT"IFIED BY /CLIMB- OR‘DIVE” COMMANDS TO YIELD A NET INCLIN-®
PRINT "ATION/DECLINATION ANGLE BETWEEN 0 TO 40 DEGREES, CLIMBING"
PRINT "OR DIVING. A MINIMUNM ALTITUDE OF 100 FEET MUST ALSQ BE"
PRINT"MAINTAINED. MILLFULLY EXCEEDING ANY OF THE MAX./MIN. SPECS"
PRINT"WILL RESULT IN THE CRASH OF YOUR BOMBER. ALSO , A BOMB"
PRINT"COMMAND OF “DROP” DURING A DIVE WILL GIVE YOUR BOMB AN IN-"
PRINT"ITIAL DOWNWARD VELOCITY, SHORTENING THE DROF TIME, AS A"
PRINT"“CLIMB” COMMAND WILL LENGTHEN THIS TIME. THE BOMB WILL BE"
PRINT"LAUNCHED IMMEDIATELY FOLLOWING THE MOST RECENT “STATS’ READ-"
PRINT “QUT UPON “DROP“ COMMAND, AND WILL BE HELD FOR FURTHER"
PRINT"POSITIONING INFORMATION UPON THE COMMAND “STAND BY“. THE"
PRINT"TARGET IS 1 FOOT IN DIAMETER. GOOD LUCK"

21=1000

22=1000

23=1000

14=1000

R=R+1

N1=0

DO YOU NEED"

REFLY’YES” OR “NO"."

n o

RND (1)
Y=Y1%1000

IF V<300 OR Y>900 THEN 410
Y1=RND(1)

Y=Y1£500"

IF Y4100 THENA40

X=4500

PRINT® *

FRINT" ®

E=X/V

PRINT TAB(30)"#¥IHITIAL*#"
PRINT TAB(30)"###STATS*++"
60T01430

U1=0

u2=0

u3=0

WA=0

PRINT® *

PRINT"BONB CONMAND";

INPUT C$

IF C$="STAND BY" THEN 440
IF C$="DROP" THEN 1680
PRINT"UNRECOGNIZABLE COMMAND.
PRINT*STANDING BY."

PRINT * ™

60T0 700

Aza-at

T=T-1

6070 770

PRINT*NAINTAIN PRESENT RESULTANT ANGLE";

INPUT P$

PRINT® *

IF P$=“YES" THEN 1130

IF P$="NO" THEN 770

PRINT"REPLY ‘YES“ OR‘NO’.";

60T0 710

PRINT*CLINB/DIVE’ COMMAND";

INPUT AS$,At

PRINT® »

IF A1<0 THEN 830

IF A1>15 THEN 870

60T0 930

PRINT"ANGLE INPUT MUST BE POSITVE. IF NECESSARY, CHANGE THE®
PRINT*/DIVE’ COMMAND TO “CLIMB’, OR VICE VERSA."

REPLY “STAND BY” OR “DROP‘.“



850
860
870
880
890
900
210
920
930
240
950
960
970

990

1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1103
1110
1120
1130
1140
1150
1140
117

1180
1190
1200
1210
1220
1230
1240
1250
1260
127

1280
1290
1300
1310
1320
1330
1140
1350
1360
1370
1380
1390
1400
1410
1420
1430
1440
1450
1460
1470
1480
1490
1500
1510
1520
1530
1540
1550
1360
1570
1580
1590
1600
1610
1620
1630
1640
1650
1660
1670
1680
1690
1700
1710
1720
1730
1740
1750

PRINT" "
6071077
U=+t
IF W1=2 THEN 2120
PRINT"YQUR BOMBER CANNDT TOLERATE THE STRESS| CAUSED BY ANGLE"
PRINT"INFUTS EXCEEDING 15 DEGREES. RECONSIDER YOUR CHOICE."
PRINT" *
6070 77
IF A$="CLIMB" THEN 950
At=-Al
A=A+AT
IF A{-60 THEN 990
IF AX60 THEN 1040
GOTO 1140
W2=W2+1
IF W2=2 THEN 2170
PRINT“YQOUR PRESENTDIVE~ COMMAND WILL EXCEED THE MAXIMUN RE-"
PRINT"SULTANT DIVE ANGLE OF 60 DEGREES, CAUSING AN IRREVERSIBLE"
PRINT" NOSEDIVE. RECONSIDER YOUR CHOICE."
PRINT" "
GOTO 670
WI=W3+1
IF W3=2 THEN 2210
PRINT"YQOUR PRESENT “CLIMB” COMMAND WILL EXQEED THE MAXINUN RE-*
PRINT"SULTANT CLIMB ANGLE OF 60 DEGREES, QAUSING YOUR"
PRINT" ENGINES TO FAIL AND YOUR PLANE TO CRASH. RECONSIDER YOUR "
PRINT"CROICE"
PRINT" "
GOTO 670
At=0
PRINT"AIRSPEED";
INPUT ¥
IF V>900 THEN 1190
IF V<300 THEN 1230
G0TO 1290
PRINT"YOUR BOMBER ISN‘T CAPABLE OF ATTAINING THAT VELOCITY."
PRINT"INPUT AN AIRSPEED LESS THAN 900 FEETWPER SECOND."
PRINT" *
GOTO 1150
Wa=la+1
IF W4=2 THEN 2250
PRINT"IF YQUR VELOCITY ISN’T INCREASED IMMHDIATELY, YOUR BOMBER"
PRINT"WILL FALL TO EARTH AND BE DESTROYED.®
PRINT"
GOTO 1140
T=T+1
B=A*3.14159/180
Y=Y+V+SIN(B)
IF Y>100 THEN 1390
W9=W5+1
IF W3=2 THEN 2290
PRINT"IF YOUR ALTITUTE ISN’T INCREASED IMMHDIATELY TO A MIN-
PRINT"IMUN OF 100 FEET, A CRASH IS IMMINENT."
PRINT" "
GOTO 470
X=X-V*C0S(B)
IF X<{=0 THEN 2350
E=X/(V+COS(B))
PRINT TAB(30)"#++STATS+£¥"
PRINT" "
IF NOT(T=1)THEN 1470
PRINT TAB(20)"ELAPSED TIKE... 1 SECOND"
GOTO 1480
PRINT TAB(20)"ELAPSED TIME...";T;"SECONDS"
IF NOT(A1=0) THEN 1510
PRINT TAB(11)"PRESENT ANGLE COMMAND..
GOTO 1550
IF A$="CLIMB" THEN 1540
PRINTTAB(11)"PRESENT ANGLE COMMAND...
GOTO 1550
PRINT TAB(11)"PRESENT ANGLE COMMAND...
IF A<0 THEN 1590
IF A>0 THEN 1610
PRINT TAB(17)"RESULTANT ANGLE... 0 DEGREES
GOTO 1620
PRINT TAB(17)"RESULTANT ANGLE...";-A1;"DEGREES DIVING"
GOTO 1620
PRINT TAB(17)"RESULTANT ANGLE...";A;"DEGREHS CLIMBING"
PRINT TAB(16)"PRESENT VEROCITY... ";V;"FEET PER SECOND"
PRINT TAB(24)"ALTITUDE... “;Y;"FEET"
PRINT TAB(14)“DISTANCE FROK SITE... ";X;“FEET"
PRINT TAB(7)"ESTIMATED TIME OF ARRIVAL... 1;E;"SECONDS"
PRINT
GOTO 540
PRINT"BOMB DROPPED."
T3=(SAR((V#SIN(B))"2+44,4%Y) +V¥SIN(B) ) /32,
PRINT"TINE TO EXPLOSION... ";T3;"SECONDS"
X=X-V+COS(B)#T3
X=INT(X%100)/100
PRINT " "
IF X<{-.5 THEN 1780
IF X>.5 THEN 1800

. 0 DYGREES"

DIVE|";-A1;"DEGREES"

CLINB,";A1;"DEGREES"

20
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PRINT"CONGRATULATIONS, YOU SCORED AS PERFECT HIT."

G0TO 2030

FRINT"THE BOMB LANDED";-X;“FEET BEYOND THE TARGET’S CENTER."
GCTO 1810

PRINT"THE BOMB LANDED";X;"FEET IN FRONT OF THE TARGET’S CENTER."
IF R=1 THEN 1850

IF k=2 THEN 1870

IF R=3 THEN 1890¢

IF R=4 THEN 1910

Z1=ABS(X)

GOTO 2400

22=ABS(X)

GOTO 2420

13=ABS(X)

GOTO 2440

24=ABS(X)

21=710(1)2Z2=210(2):23=710(3):74=110(4)

FOR H=1 T0 4 -

2 FOR M1= 4 TO 1 STEP-1

IF Z10(M)<Z10(M1) THEN Z10(M)=X3

IF M=M1 AND M=1 THEN 1926

NEXTH1

NEXT M

PRINT" "

IF X9<= 300 THEN 2000

PRINT“DURING YQUR";R;"-PASS BOMBRUN, YOU FAILED TO EVEN"
PRINT"THREATEN THE TARGET WITH A HIT. BETTER LUCK NEXT TIME."
IF R$="NO" THEN 2590

GOTO 2040

GOTO 2610

PRINT"DURING YOUR";R;"-PASS BOMBRUN, YOU MANAGED TO STRIKE"
PRINT"WITHIN"}XS;"FEET OF THE TARGET."

PRINT"

IF R$="NO" THEN 2590

PRINT"WCULD YOU LIKE TO RELOAD AND PLAY AGAIN?"

INFUT A

IF A$="NC" THEN 2590

IF A$="YES" THEN 2100

PRINT"YOU MUST BE A LOUSY SPELLER.
G0TO0 2050

R=0

GOTO 290

PRINT"YOU TORE THE WINGS OFF OF YOUR BOMBER BY EXCEEDING THE"
PRINT“MAXIMUN ANGLE INPUT OF 15 DEGREES. NEXT TIME TAKE MY ADVISE®
H=1

GOTO 1920

PRINT"THE STEEP DIVE ANGLE DESIRED CAUSED AN IRREVERISIBLE NOSE-"
PRINT"DIVE, RESULTING IN THE DESTRUCTION OF YOUR BOMBER."

H=1

GOTO 1920

FRINT“THE ENGINES OF YOUR BOMBER FAILED WMILE CLIMBING THE"
PRINT"STEEP ANGLE INPUT DURING YOUR ANGLE COMMAND OPPORTUNITY."
H=1

GOTO 1920

PRINT"THE VEROCITY OF YOUR BOMBER WAS INSUFFICIENT TO SUPFORT"
PRINT"ITS WEIGHT, AND CONSEQUENTLY IT CRASHED."

H=1

GOTO 1920

PRINT"YOUR BOMBER FAILED TO MAINTAIN THE LOW ALTITUTE YOU DE-"
PRINT"SIRED AND SOON CRASHED."

PRINT"BETTER LUCK NEXT TIME."

H=1

GOTO 1920

PRINT“YOUR BOMBER JUST PASSED UP THE TARGET, AND NEEDLESS TO*
PRINT"SAY, YOU NO LONGER THREATEN ITS EXISTANCE."

PRINT®" *
IF R=2 THEN
IF R=3 THEN 2440

IFf R=4 THEN 1920

0$=" SECOND "

GOTO 2450

0$="THIRD"

GOTO 2450

0$="FOURTH AND FINAL"

IF R THEN 2490

PRINT"YOU HAVE THUS FAR COMPLETED 1 RUN. WOULD YOU LIKE TO"
PRINT"MAKE ANOTHER PASS";

60702510

PRINT"YQOU HAVE THUS FAR COMPLETED ";R;“RUNS.
PRINT"ANOTHER PASS"}

INPUT RS

IF R$="YES" THEN 2560

IF R$="NO" THEN 1920

PRINT"SIMPLY REPLY “YES” OR“NO”."

60TO 2510

PRINT"YOUR PLANE HAS CIRCLED, AND IS NOW IN POSITION TO MAKE"
PRINT"ITS";0¢;"PASS."

G010 330

PRINT"LOOK OVER THE PHYSICS LAWS GOVERNING FALLING BODIES,"
PRINT"AND RETURN TO PLAY AGAIN SOON."

END

REPLY “YES” OR‘NO‘."

2420

WoUuLD YOU LIKE 10 *



Bridge-it

Bridge-it is a two-player pencil and
paper logic game. One player is
represented by X’s, the other by O’s.
The X's and O's are arranged in an
alternating grid pattern so that X's may
be joined to one another by a line
without crossing an O and O’s may be
joined to one another without crossing
an X. The object of the game is for the
X's to draw a line from the top to the
bottom of the board. The O’s must
connect a continuous chain from the
right to the left of the board. Players
move alternately and may go any place
on the grid. Any two of your symbols,

BRIDGE-IT
CREATIVE COMPUTING
MORRISTOUN, NEW JERSEY

DO YOU WANT INSTRUCTICNS? YES

THE OBJECT OF THIS GAME IS FOR YOU TC GO FROM THE LEFT

COLUMN TO THE RIGHT COLUMN BY CONNECTING THE 0°S.

PUTER MUST GO FROM THE TOF TO THE BOTTOM BY CONNECTING
THE X’S.

YOU MAKE YOUR MOVES BY TYPING IN THE COORDINATES (X,Y) OF

(COLUNN,ROW)
Of THE "0 YCU WISH TO MOVE FROM AFTER THE COMPUTER
TYPES:

YOUR KOVE FROM?

THE CON-

AMD BY TYPING IN THE COCRDINATES OF THEO0” YOU WISH TO NOVE
T0 AFTER THE CCHPUTER TYPES:

T0

?

You

By
TH

T

£

CAN MOVE EITHER VERTICALLY CR HORIZONTALLY,

NOT DIAGONALLY.

MCVE FIRST.

.

TEAR ON LINE

YOU MAY USE THIS BOARD TO MARK THE MOVES ON, OR
YOU CAN GET AN UFDATED BOARD AFTER YOU MAKE EACH MOVE.

[P

ie I B LA Y0 N QD 1)

1234547881111

0123

TEAE ON LINE

YOU CANNOT MOVE VERTICALLY IN EITHER
FIRST COLUMM OR YHE THIPTEENTH COLUMN. THE COMPUTER WILL

21

either X's or O’s, may be connected
together on a given move.

In this particular version of the game,
the computer is your opponent. The
computer plays the X’s and you play
the O’s. The computer moves first,
which givesitaveryslightadvantage. If
you find it is too formidable an oppo-
nent you may wish to modify the
program to allow the player to move
first. At any point during the game you
may ask for a printout of the board and
see how the play is progressing.

This program was written by Michael
Kass, Miles Barel, and Alan Segal.

I MOVE FROM 2,1 10 2,3

YOUR MOVE FROM? 1,4

107 3,4

BOARD (YES Ok NO)? N

I MOVE FROM 4 , 370 4, 5
YOUR MCVE FROM? 2,2

107 3,4

BCARD (YES OR N0 W

I MOVE FROM 4 , 1 T0 4, 3
YOUR MOVE FROM® 3,3

T0? §,3

INVALID MOVE -- TRY AGAIN
YOUR MOVE FROM? 2,6

T0? §,6

EDAKD (YES OR NO)? N

1 mOUE FROM & , S TO 6,

~J

YOUR MOVE FRCM? 5,4
T0? 5.6

BOARD (YES OR NO)? N

o

I MOVE FROM 6 ., 2 7C £,
(OUR MOVE FROM? 5,2

7 7.8

BOARL (YES OR N7 N

I MOVE FRCM €, 7 7C 8, ¢

YOUR MOVE FROM? 7,10
TC? 9,10



LIS
S5 F
10
20
30
42
50
70
80
90
100
12¢
130
140
145
150
160
170
M
172
180
190
20¢
210
220

BOARD (YES OR ND)? Y

[N

XXXxxxX
ooo0o0-0oQ
X XXXXxXx
0cus-0t0o0
XXX XXX
00-0'000°¢
XXX XX
¢-0!gi0 000
Xt x x xx
gioto oo
XXX xXxxXx
1234356789111

0123

~J -0 D

—rJ N o h O

I MOVE FROM 10, 9 T0O 1

YOUR MOVE FROM? 9,8

T07 9,10
BOARD (YES OF NC)? M
I MOVE FROM 10, 7 7O 1

YOUR MOVE FROMT 7,4
er 7,

BOARL (YES OR N0O)? N

1 MOVE FROM 8 , 5 T0 8
YOUR MOVE FROM? 9,12

T07 11,12

BOARD (YES OR NO)? N

I MOVE FROM
I WIntttt

12,17

BOARD (YES OR NO)? Y

(&}
> 1

ro

0000 9-010
XXX xxx
goco-n0!00
XX X XtX X
coo-0!0'00
XX XX XX
00-0!0t0 00
XXX x x X
0-0t0t0 000
XXX X xX
grotoonno
XXX XXX
1234567991111

0123

0 O —

—rd O8N CO

T
RINT TAR(24);"RRIDGE-IT"
FRINT TAB(20)}"CREATIVE COMPUTING"
PRINT TAB(18);"MORRISTOWN, NEW JERSEY"
I=1-2
PRINT
FRINT
FRINT"DO YOU WANT INSTRUCTIONS"S

INFUT B4
FRINT

IF LEFTS(BAS,1)="N" THEN 200
PRINT"THE OBJECT OF THIS GAME IS FOR YOU T
PRINT“COLUMN TO THE RIGHT COLUMN BY CONNMEC
PRINT"FUTER MUST GO FROM THE TOP TO THE BO
PRINT“THE X“§."
PRINT

PRINT"YOU MAXE YOUR MOVES BY TYPING IN THE
FRINT"(COLUMN,ROWI"
FRINT"CF THE 707 YQU WISH TO MOVE FROM AFT
PRINT" TYFES:"

PRINT

FRINT"YOUR MOVE FROM?"

PRINT

PRINT"AND BY TYPINGG IN THE COORDINATES OF
PRINT"TO AFTER THE COMPUTER TYPES:"

o, 11

~y

t2 , 13

p GO FROM THE LEFT "
ING THE 07S. THE COM-"
TOM BY CONNECTING"

COORDINATES (X,Y) OR"

R THE COMPUTER"

HE“D7 YOU WISH TO MOVE"

} PRINT"BUT NOT DIAGONALLY.

> GOSUR 640:REM COMPUTE
» FRINT

FRINT

PRINT"TO?"

FRINT

FRINTYCU CAN MOVE EITHER VERTICALLY OR HORIZONTALLY,"

YOU CANMOT MOVE VERTICALLY IN EITHE
CRINT“THE FIRST COLUNN CR THE THIRTEENTH COLUMN. THE COMPUTER W

FRINT"MOVE FIRST.

) PRINTZFPRINT

I X(20,20)

1IHO(20,20)

DIKT(20,20)

FOR X=1 TO 13 STEP 2

FOR Y=2 TO 12 STEP2
0(X,Y)=t

X(Y,X)=1

NEXT Y

NEXT X

6010430

PRINT

FRINT"BOARD (YES OR NO)“:
INFUTBS

PRINT

IF LEFT$(BS,1)="N" THEN 490
GOSUE 990:REM FRINT BOARD SUBRUUTINE

» IF E<}3 THEN 510

6070 3010
BOSUB1640:REM COMPUYER MOVE
R WIN SUBROUTINE
IF E25
G0SHE27
FRINT
FRINT"YDUS HOVE FRON";
INFUT F,G

PRINT"TO";

INFUT F1,61

THEN 420
1O:REM PLAYER WIN SUBROUTINE

) DQINT

GOSUB 2220:REM ERROR AND CHANGE BOARD SUBROUTINE
GATY 420

REM WIN SUBROUTINE #¥¥err¥:
REM FIRST TEST
FCR H=1 70 11

ERELEIEEEEEEREES LRSI EEEEL EH

STEP 2

¢ J=12

IF 0(H,J)=3 THEN 710
NEXT H

) GUTO 980
¢ FOR I=1 TO 11 STEP 2

20 J=2

900

960

97¢

98¢

290

1000
1010
102¢
1030
1040
1050
1040
1070
1080
1090
1100
1o
1120

1180

IF 0(1,0)=3 THEN 740

NEXT I

6070 980

REM DTHER TESTS

NENES

IF J=12 THEN

IF B(I,J)=3 THEN |

IF D(I41,041)=2

IF I-1<0 THEN 840
T
T

T ~0
o~
=

g Co ry

70
EN 890

= o
Il

0(I-1,4-1)=2
X(I+1,441)=2
IF I-140 THEN980
X(I-1,J-1) THEN 890
GOTO 740

J=J+2

GOTO 780

HEN 920
HEN 890

D

> J=J

I=1+2
GOTO 780
J=J
GOTO 980
FRINT"T WINttHIY
E=5
RETURN
RE# FRINT BOARD SUBROUTINE ¥t$td s bt s b v bttt 0 f 4 ¥4
R=R+1
IF R*1 THEN 1150
FRINT"TEAR ON LINE"®

PRINT“YOU MAY USE THIS BOARD TO MARK THE MOVES ON, OR"
FRINT"YOU CAN GET AN UFDATED BOARD AFTER YOU MAKE EACH MOVE.“
PRINT
FRINT
PRINT
FRINT
PRINT
PRINT
FRINT
FRINT
PRINT
b=0
PRINT TABCII)™1111"

PRINT TAB(4)"1234567890123"
FOR Y=13 TO t STEP -1

TAB(S);CHRS (77 ;CHRS (13); TAB(S) JCHR$(7)



1190
1200

1210
1220
123¢
1240
1250
1260
1270
128

1290
1300
1’10

19
Ers

1330
1340
1330
13'5 i
1378
138
139
1400
1410
1420
1430
1440
1450
1440
1470
148
1490

cos
1500

=

o

—
wn
-3
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=
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as G 13

1850
1840
187

1880
1890
1990
1910
1920
1930
1949
1950
1940

197¢
1980
1990
2000
2010
2020
2030
2040
2050
20560
2070
2080
2090
2100

} PRINT TAR(4)"12

IF Y410 THEN 1220
FRINT Y3

GOTo 1230

¢ FRINT" "3

FOR X=1 TO 13 STEF1

IF Y/2=DNT(Y/2) THEN 1330

IF X(X,Y)=0 THEN 1420
ONX(X,Y) GOTO 1270,1290,1310
PRINT"X “;

60T 1450

PRINT"X-"}

6919
PRINT
6970
=0
IF 0(X,Y)=0 THEN 1450

ON 0(X,Y) GOTS 13480,1380,1400
FRINT “0 "3
GOTC 1450
PRINT"0-";
50TD 1450
PRINT D !Y;
60TO 1450
D=0+

IFD>1 THEN
PRINT " ®5
NEXT X
BOSUB 1420
NEXT ¥

1450

1450

J456729 111"
PRINT TAR(1I}"Q123"
R1=R141

IF R1:1 THEN 1590
PRINT

PRINT

R TN M mm e "
PRIN

FRINT"TEAR ON LINE"
FRINT

FRINT

FRINT

PRINT

PRINM

RE H}h¥

FRINT

RETURN

SUBROUTINE syttt ipr by rr b et ey

MOYE FROM 2,1 7O 2,3"

IF B1>M1 THEN 1890
FOR £=3 TO 11 STEP 2

T(C,C+1)=1
T(£-2,0410=1
5OTS 1790

FOR $=C TC 3 STEP -2
T(C-1,51=3
T(C,5-1)=3

NEXT ¢

BOTO 1750

IF F3F1 THEN 1950

YF I'.'/ F1 Tl“l N l9)0
IF 6361 THEN 1950
X=F
6
0 1970

n n © o

< 3< @D ~=<

0
1
ﬁl
T

-n

IF T{X,Y)=0 THEN 2210

IF F<3Ft THEN 2000

ON T(X-1,Y+1) GATO 2010,2080,2150
ON T(X,Y) GOTO 2010,2080,2150

IF X=Y-1 THEN 2050

0(X+2,Y)=3
PRINT*I MOVE
60TQ 2210
0(X-2,Y)=3
PRINT"I MOVE
6070 2210

IF X(X-1,Y+1)=3 THEN 2120

X(X+1,Y-1)=2

PRINT'I MOVE FROM "jX+13%,"3Y=13"T0 ";X+33%,";Y~1

pont

FROM "3X+33,"3Y-1;"T0 ;X433 , 57+

E FROM "5X-15","5Y-1;3"T0 "3X-15","; Y41

23

2110
2120
2130
2140
2150
2160
2170
2180

52722210

B0X-2,v+2)=3

FRINT"I MOVE FRON "3X-17,"3Y413°T0 "3X=13",";¥+3
BITO 221

IF X(X-1,Y+1)=3 THEN 2190

X(X-1,Y+12=

2
PRINT"I MOVE FRCM

501D 2210

“n

00X, 1)=3
PRINT“I HOYE FRON "3X#13%,"3Y=13"T0 "3X+1","5Y+1
\ RL'{H
0 REM E‘PDF AND CHANGE BOARD SUBRDUTINE®®RX2EEd Ertsdar vt bt trrre
0 IF FEMF1 THEM 2286
IF F=1 THEN 2430
If F=1
IF F1=
IF =6
Fr2
1

2630
INT(5/2) THEN
FINTCF) THEM 2530

@ ™M

2630

“nonoenon

c
b

F
F :
F 51/2 CINT(BI/2) THEN 2630
FOFLGINT(FY) THEN 2630
¢
£
PRINT ERROR

-n

n

[
h

T
1
I
I
Y
i
T
i
i
be
i
T
i
T
L
I
I
T
i
T
i
1
i
M
i
bi

i
T
i
T
1
T
i
hij
]
g
T
i
T
n
G
5
I
T
i
T
i
I
X

2510 o(F1

]
2530 IF ABSt
2540 IF 5351 THEN 25
2550 IF X{F-1,6+1)=2 THEN 2430
2540 IF X(F-1,6+1)=3 THEN 2420
2570 (F—1,6+1)=3
2580 GOTO 2700:REN RETURN
2590 IF X(F1-1,Gt+1:=2 THEN 2430
2600 IF X(F1-1,61+1)=3 THEN 2630
2610 X(F1-1,6141)%3
2620 GOTQ 2700:REM RETURN
2650 PRINTUINVALID MOVE -- TRY AGAIN"
2640 PRINT
2650 PRINTUYOUR MOVE FROM™;
2650 INPUT F,G
267

FRINT'TE";

) INFUT F1,51

2690 60TO 2220

2700 RETURN

2710 REX PLAYER WIN ROUTINE #3ttfs bt r bbb by eyt b eprtrf p e e ey
2720 FOR H=1 TO11 STEF 2
27230 I=12

2740 IF X{I,H)=3 THEN 227¢
2750 MEXT H

27690 GOTY 3000

2770 FOR  J=1 70 11 STEPR 2
2780 I=2

2790 IF X(I1,J)=3 THEN 2920
2800 NEXT J

2810 60TO 3000

1820 I=I+2

2830 IF I=12 THEN 2970
2840 IF X(I,J=3 THEN 2910

28390
2850
2870
2889
2890
2900
2910
2920
2910
2940
2930
2960
2970
2980
2990
3000
Joto
Ok

IF X(I+1,J41)=2 THEN 2930
IF J-1<0 THEN 2890

IF X(I-1,J-1)=2 THEN 2930
IFO{I+1,0410=2 THEN 29]
IF J-1<0 THEN 3000

GOTO 2808

I=1+2
GOTO
J=J+2
50T 2830

=4-2

G070 2830

IF 0(1,2)<>2 THEN 3000

FRINT"YOU WIN t!! CONGRATULATIONS!!!®
£=3

RETURN

END

297
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WY

200
AT

You

co
#1
#2
LM
LT
#35
L1

You
Yoy
You
IF

GOOL LUCK AND 600D CAMELING !!

You

v
Ty

WHAT IS YOUR COMMAND? 3
YOUK CAMEL IS BURNING ACROSS THE DESERT SANDS

You

UHAT IS YOUR COMNMAND? 3
YOUR CAMEL 1S BURNING ACRCSS THE DESERT SANDS

---------- YARNING-------=-- GET A DRINK

You
WHA

YOUR CAREL THANKS YOU!

THE
THE

In this game of high adventyre, your
object is to travel 200 miles agross the
great Gobi Desert. You're being chased
by a tribe of knock-kneed pygmies.
You have one quart of water which will

last you for six drinks; it

imay be

renewed if you find an oasis gr, if you

are found by anothertraveller,

you may

get an additional half-quart qf water.
During your journey you encounter all
types of hazards such as sand storms,

wild Berbers and possible in
your camel.

uries to

Warning: thisis avery hazarqous and
addictive game. It is also veryjdifficult
to win. In ten plays of the ggme, the

maximum distance we were
travel was 159 miles,andinma
we managed to make only
eight miles before one of the
caused our demise.

This game was submltted
Heath Users Group.

CAMEL
CREATIVE COMPUTING
MORRISTOUN, NEW JERSEY

LD YOU LIKE INSTRUCTIONS? YES

WELCOME TO CAMEL. THE QBJEST IS TO TRAVEL
MILES ACROSS THE GREAT GORI DESERT.

RIBE OF KNOCKED KNEED PIGMIES UILL BE CHAS
WILL BE ASKED FOR COMMANDS EVERY SC OFTEN

K®ANDS:

DRINK FROM YOUR CANTEEN
AHEAD MODERATE SPEED
AHEAD FULL SPEED
STCP FOR THE NIGHT
STATUS CHECK
HOPE FOR HELP

HAVE CONE QUART OF WATER WHICH WILL LAST Y
MAVE RENEW YOUR WATER SUFPLY COMPLETELY A
GET A HALF A QUART IF FOUND BY HELF.
HELP DOES NOT FIND YCU AFTER COMMAND SIX,

ARE IN THE MIDDLE 0F THE DESERT AT AN 0AS
HAVE TRAVELLER O MILES ALLTOGETHER,

HAVE TRAVELLED & MILES ALLTOGETHER.

HAVE TRAVELLED 8 MILES ALLTOGETHER.
T IS YOUR COMMAND? 4

PYGMIES HAVE CAPTURED YOU., CAMEL AND PEOD
IR FAVORITE DISH 11!t

able to
hy cases

geven or

hazards

by the

NG YOU.

U SIX DRINKS.
AN OASES.

0u LOSE.

c
T

LE SOUF IS

WANT A MEL CAMEL AND A NEW GANE * Y

GOOD LUCK AND GOOL CAMELING '!

YOU ARE IN THE HIDDLE OF THE DESERT AT AN CASIS
YOU HAVE TRAVELLED 0 MILES ALLTOGETHER.

WHAT IS YQUR COMMAND? 3

YOUR CAMEL IS BURNING ACROSS THE DESERT SANDS.

YOU HAVE TRAVELLED 6 MILES ALLTOGETHER.
WHAT IS YQUR COMMAND? 2

YOUR CAREL LIKES THIS PACE.

---------- “ARNING---------=GET A DRINKX
YOU HAVE TRAVELLED 8 MILES ALLTOGETHER.
WHAT IS YOUR COMMAND?
BETTER WATCH FOR AN GASES !

WHAT IS YQUR COMMAND? 2

YOU HAVE BEEN CAUGHT IN A SANDSTORM.....G0CD LUCK!

YOUR NEU POSITION IS 12 HMILES SO FAR!

YOUR CAXEL LIKES THIS PACE.

THE PYGMIES ARE 10 HNILES BERIND YOU.

YOU HAVE TRAVELLED 20 MILES ALLTOGETHER.

WHAT IS YOUR COMMAND? 3

YOU DIRTY KAFSCALLION! YOU RAN YOUR POOR CANSL TC DEATH
YOU DIED IN THE DESERT.

YOUR BCDY WAS EATEN BY WULTURES AND LRCOETED CANNINEALS

UANT A NEW CAMEL AND A NEW GARE 7 Y

GOOL LuCx AMD GOOD CAMELING 1!

YOU AKE IN THE MIDDLE OF THE DESERT AT AN GARSIS.
YOU HAVE TRAVELLED ¢ RILES ALLTOGETHER.

WHAT IS YOUR COMMAND? 2

YOU HAVE ARRIVED AT AN DASES-------- YCUR CAnEL IS
FILLING YOUR CANTEEN AND EATING FIGS.

YCUR CAMEL LIKES THIS PACE.

YOU HAVE TRAVELLED 3 NILES ALLTOGETHER.

WHAT IS YCUR COMMAND? 2

YCUR CAMEL LIKES THIS PACE.

YOU HAVE TRAVELLED 11 MILES ALLTOGETHEK.

WHAT IS YOUE ’GPHAND? 2

YOUR CAMEL LIKES THIS PeCE,

--------- 4R R N I N B--=------- (ET A DRINE

THE PYGMIES ARE 7 MILES EEMIND YOU.

YOU HAVE TRAVELLED 14 MILES ALLTOGETHER.

WHAT IS YOUR COMMANE? 1

BEETTER WATCH FOR AN QASES !

WHAT 1S YQUR COMMAND? 2

YOUF CAMEL HYRT HIS HUMF.

LUCKILY THE PYGMIES WERE FOOTUERRY !!¢

YOUR CAMEL LIKES THIS PACE.

THE FYGMIES ARE 11 MILES BEHIND YOU.

YOU HAVE TRAVELLED 21 MILES ALLTOGETHER.

WHAT IS YOUR COMMAND? 2

YOUK CAKEL LIKES THIS FACE.

THE FYGMIES ARE 15 MILES BEHIND YOU.

YOU HAVE TRAVELLED 26 RILES ALLTOGETHER.

WHAT 1S YQUR COMMAMD? 2

YOU HAVE ARRIVED AT AN DASES-------- YOUR CAMEL IS

FILLING YOUR CANTEEN AND EATING FIGS.

YOUR CAMEL LIKES THIS PACE.

THE PYGMIES ARE 12 MILES BEMIND YOU.

YOU HAVE TRAVELLEL 37 MILES ALLTOGETHER.

WHAT IS YOUR COMMAND? 2

WILD BERBERS HIDDEN IN THE SAND HAVE CAPTURED YOU.

LUCKILY THE LCCAL SHEIK HAS AGREED TO THEIR RANSON-

DEMANDS...oo o BUT oo oo JUATCH FOR THE PYGMIES 1!}

YOU HAVE A NEW CHOICE OF SUB-COMMANDS:

R7 ATTEMPT AN ESCAPE

®E VAIT FOR FAYMENT
YOUR SUE-COmRAND 7 2

CONGRADULATIONS, YOU SU

THE PYGHIES ARE 4 NI E

YOU HAVE TRAVELLED 37 MILES

WHAT IS YOUK COMMAND? &

YOu DI‘P IN THE DEGERT,

THE LOCAL SHEIK NOW USES YOUK SKULL FOR A CHARGE PURSE

tee



LIST
10 F
20F
e F
KNS
110
120
130
140
150
160
170
180
190
200
210
220

230

37

380
590
400
410
420
630
540
450
460
&7

480
690
700
2

720
730
740
750
760
77

780
790
800
810
830
840
850
860
87

880
590
9200
210

> PRINT

r ] a -’
Ly
-

RINT TAB(24);"CAMEL" q20
RINT TAB(20);“CREATIVE COMPUTING" ." ‘/ 930
RINT TAB(18);"MORRISTOUN, NEW JERSEY" -
RINT:PRINT:PRINT 50
FRINT "WOULD YOU LIKE INSTRUCTIONS"; N
INFUT D$ 97
IF LEFT$(D$,1)="N" THEN 320 980

PRINT:PRINT
FRINT
FRINT
FRINT
FRINT
PRINT
PRINT
FRINT
PRINT
PRINT
PRINT
PRINT

WELCOME TO CAMEL. THE OBJEST IS T TRAVEL"
"200 MILES ALROSS THE GREAT GOBI DESERT."

"A TRIBE OF KNOCKED KNEED PIGMIES WILL BE CHASING YOU."
"YOU WILL BE ASKED FOR COMMANDS EVERY SO OFTEN."

"COMMANDS "

"#1 DRINK FROM YOUR CANTEEN"
"H2 AHEAD MODERATE SPEED"
"#3 AHEAD FULL SPEED"

"#4 STOP FOR THE NIGHT"

"#5 STATUS CHECK"

PRINT "#6 HOPE FOR HELP"
FPRINT
PRINT
PRINT
FRINT
FPRINT
FRINT
FRINT
PRINT
FRINT
PRINT

"YOU HAVE ONE QUART OF WATER WHICH WILL LAST YOU SIX DRINKS."
“YOU MAVE RENEW YOUR WATER SUPPLY COMPLETELY AT AN 0ASES."
"YOU GET A HALF A QUART IF FOUND BY HELP."

“IF HELP DOES NOT FIND YOU AFTER COMMAND SIX, YOU LOSE."
"GOOD LUCK AND GOOD CAMELING !!"

PRINT "YOU ARE IN THE MIDDLE OF THE DESERT AT AN 04SIS."

GOSUB 2000

IF C>199 THEN 1210

2=7

=1 THEN PRINT *
<0 THEN 1630
1
INT(10$RND(1)42,5)

IF @30 THEN 940

IF P<4 THEN 470

C1=C14X2

IF C14C THEN 440

FRINT “THE FYGHIES HAVE CAPTURED YOU.
FRINT "THEIR FAVORITE DISH !t1tto
50T0 1560

PRINT "THE FYGMIES ARE "C-C13" MILES BEHIND YOU."
PRINT “YOU HAVE TRAVELLER “;C;" MILES ALLTOGETHER.®
PRINT “WHAT IS YOUR COMMANDY;

INPUT Y

ON Y GOTO 830,610,680,740,790

T=INT(10#RND (1))

IF T<31 THEN 1200

FRINT "HELP HAS FOUND YOU IN A STATE OF UNCONSCIOUSNESS."
=3

=4

60TO 340

F=F+1

IF F=8 THEN 1190

505YR 880

XT=INTCTO4RND (1))

£=C+xX1

PRINT “YOUR CAMEL LIKES THIS PACE."

GOTO 340 )

F=F+3 :

IF F3>7 THEN 1190

G0SUB 880

X1=2¢INT(10$RND(1))

C=Cxt

PRINT "YOUR CAMEL IS BURNING ACROSS THE DESERT SANDS."
PRINT

60T0 340

FRINT "YDUR CAMEL THAHNKS YOU!™

F=0

60T0 350

FRINT “YOUR CAMEL HAS “;7-F;" GOOD DAYS LEFT."

FRINT "YOU HAVE "3S3" DRINKS LEFT IN YOUR CANTEEN."
FRINT "YOU CAN GO ";Z;" COKMANDS WITHOUT DRINKING."
§=§-1

IF S<0 THEN 1200

FRINT “"BETTER WATCH FOR AN DASES !"

=4

60T0 480

A=INT(100%RND(1))

IF A¥S THEN 1120

PRINT “WILD BERBERS HIDDEN IN THE SAND HAVE CAFTURED YOU."
FRINT “LUCKILY THE LOCAL SHEIK HAS AGREED TO THEIR RANSOH-"

If GET A& DRINK"
If
F=p
X2z

CAMEL AND PEOPLE SOUP IS"

1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1093
1094
1100
1110
112
1130
1140
1150
1160
1170
1180
L1190
1200
121
1220
1239
12490
1230
1260
127
128¢
1290
1300
1310
1320
1330
1340
1350
1360

117
1o/

1380
1390
1400
1410
1420
1430
1440
1430
1460
1479
1480
1490
1500
1310
1520
1530
1540
1350
1560
1570
1380
1390
1500
1620
1630
1640
1650
1655
1457
1660
2000
2010
2020
2030
2040
2050
2060
2070

o
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Y FRINT

SRINT
FRINT
FRIAT
PRINT

"DEMANDS.eeeeeoBUT oo JNATCH FOR THE PYGMIES !11!"
"YOU HAVE A NEW CHOICE OF SUB-COMMANDS:"
"#7 ATTEMPT AN ESCAPE"
“#8 WAIT FOR PAYMENT®
"YOUR SUB-COMMAND ";

INPUT
IF X=8 THEN 1040
X1=INT(10 #+ RND(1))

IF X1<5 THEN 1040

PRINT "CONGRADULATIONS, YOU SUCCESSFULLY ESCAPED t!ttn

a=0

GOTO 240

PRINT "YOU WERE MORTALLY WOUNDED BY A PIG STABBER WHILE ESCAPING."
GOTO 1410

XT=INT(100*RND(1))

REM

IF X1:24 THEN 1100

PRINT "YOUR RANSOM HAS BEEN PAID AND YOU ARE FREE TO GO.“

a=0

GOTO 340

PRINT "THE LOCAL SULTAN IS COLLECTING..aesoJUST WAITiaeeesd”

GOTO 340

A=INT(10%RND(1))

IF A>2 THEN 1240

>

FPRINT "YOU HAVE ARRIVED AT AN OASES-------- YOUR CAMEL IS"

PRINT “FILLING YOUR CANTEEN AND EATING FIGS."

1=4

§=6

RETURN

PRINT "YOU DIRTY RAPSCALLION! YOU RAN YOUR POOR CAMEL TO DEATH 1"

G070 1410

PRINT "YOU WIN, A PARTY IS BEING GIVEN IN YOUR HONOR....e.."

PRINT "....eo THE PYGMIES ARE PLANNING TO ATTENDieae...”

5070 1540

X1=INT(100%RND(1))

IF X1>5 THEN 1350

FRINT "YOU HAVE BEEN CAUGHT IN A SANDSTORM.....GOOD LUCK!"
X3=INT(10+RND(1))

X6=INT(10+RND(1))

IF X6<5 THEN 1320

C=C+X5

60TO 1330

€=C-X5

PRINT “YOUR NEW POSITION IS “;C;" MILES SO FAR!"

RETURN

X1=INT(100*RND(1))

IF X1:5 THEN RETURN

C1=Ct+1

PRINT “YOUR CAMEL HURT HIS HUMP.®

FRINT "LUCKILY THE PYGMIES WERE FOOTWEARY 1t

RETURN

U=INTC10+RND(1))

PRINT "YOU DIED IN THE DESERT."

IF UX1 THEN 1460

PRINT “THE NATIONAL CAMEL’S UNION IS NOT ATTENDING YOUR FUNERAL!!!"
GOTO 1560

IF U3 THEN 1490

PRINT "YQUR BODY WAS EATEN BY VULTURES AND IMPORTED CANNINBALS '!!"
GOTO 1560

IF U»3 THEN 1520

FRINT "THE LOCAL SHEIK NOW USES YOUR SKULL FOR A CHANGE PURSE !f!"
GOTO 1560

IF U37 THEN 1550

PRINT "PEQOFLE WITH LITTLE INTELLIGENCE SHOULD STAY QUT OF THE DESERT
GOTO 1360

PRINT

PRINT

PRINT "WANT A NEW CAMEL AND A NEW GAME "}

INFUT D$

IF LEFT$(D$,1)="Y" THEN 320

GOTO 14650

PRINT "YOU RAN QUT OF WATER......SORRY CHUM!!I®
GOTO 1410

<

=
=
=
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CHASE puts you in a maze made up RUN

of high-voltage fences and posts. This
in itselfisn’ttoo unpleasant butthere’re
also the five interceptor robots bent on
just one thing—your destruction. If
these robots touch you ... that's the
end of the game (and you!). There's
one hope—make the robots hit the
maze, or each other (they're like
people—sometimes they'd rather be
alone). If you destroy them all, you win!
If you find yourself in atotally hopeless
situation, you have the option of
making a tremendous leap toarandom
location (which may well be on top ofa
fence or a guard).

At the end of the game, you may
replay with the same or different
starting conditions.

| believe this game was originally
created by Mac Oglesby. It was then
modified by Bill Cotter and further
improved by Arnold Loveridge. An
intermediate version appeared in
Creative Computing, Jan/Feb 1976.

26

CHASE
CREATIVE COMPUTING
HORRISTOWN, NEW JERSEY

YOU ARE WITHIN THE WALLS OF A HIGH VOLTAGE MAZE

THERE ARE FIVE SECURITY MACHINES TRYING TO DESTROY YOU
YOU ARE THE “#‘  THE INTERCEPTORS ARE THE ‘4~

THE AREAS MARKED ‘X< ARE HIGH VOLTAGE

YOUR ONLY CHANCE FOF SURVIVAL IS TO MANEUVER EACH

INTERCEPTOR INTC AN 7X7,----- GCCL LUCK-=----
MOVES ARE  7.8.9

4,56

1.2.3

10 = NO MOVE FOR THE REST OF THE GAME
=1 = GAVE UP, SITUATION HOPELESS.
0 = A TREMENDOUS (BUT UNFORTUNATELY RANDOM) LEAP

XXXXXXXXXXXXXXXXXXXX
X X XX
XX+ X X X
X XX X
X X X
X X ¢+ X +X
XX X X Xxx X
XX XX ¢ X
X = X + X
XXXXXXXXXXXXXXXXXXXX
73
XXXXXXXXXXXXXXXXXXXX
X X XX
XX X X X
X ¢ X X X
X X X
X X X X
XX +X X XXX+ X
XX XX X
X ¢ X 4+ + X
XXXXXXXXXXXXXXXXXXXX
*S
XXXXXXXXXXXXXXXXXXXX
X X XX
XX X X X
X XX X
X ¢ X X
X X X X
X X X X XxXx X
XX ¢ XX + X
X * X + + X
XXXXXXXXXXXXXXXXXXXX
TS5
XXXXXXXXXXXXXXXXXXXX
X X XX
XX X X X
X X X X
X X X
X +X X X
X X X X Xxxx X
XX XX X
X 4 X+ 44+ X
XXXXXXXXXXXXXXXXXXXX
74
XXXXXXXXXXXXXXXXXXXX
X X XX
XX X X X
X X X X
X X X
X X X X
X X X X Xxx X
XX XX X
X t4 X 44+ X
XXXXXXXXXXXXXXXXXXXX
T

$£,000,000 JUNFH Y
HIGH VOLTAGE! ! rtverst

*tees ZAP rxrxx YQOU'RE DEAD!!!

ANOTHER GAMZ (Y/N)? N



LIS
10
20
30
40
41

400
410
420
430
440
450
460
47

480
490
500
920
330
540
530
560
370

390
400
410
420
630
640
650
460
670
480
490
700

T

FRINT TAB(24);"CHASE"

PRINT TAB(20);"CREATIVE COMPUTING"

PRINT TAB(18);"MORRISTOUN, NEW JERSEY"

FRINT:PRINT:PRINT

PRINT "YOU ARE WITHIN THE WALLS OF A MIGH VOLTAGE MAZE"

FRINT "THERE ARE FIVE SECURITY MACHINES TRYING TO DESTROY YOU"
PRINT "YOU ARE THE “#  THE INTERCEPTORS ARE THE ‘4"

FRINT "THE AREAS MARKED ‘X’ ARE HIGH VOLTAGE"

FRINT "YOUR ONLY CHANCE FOR SURVIVAL IS TO MANEUVER EACH"

PRINT "INTERCEPTOR INTO AN ‘X’ ,----- GOOD LUCK-=-==- "
FRINT "MOVES ARE  7.8.9"

PRINT " 4.5.6"

FRINT " 1.2.3"

PRINT

PRINT "10 = NO MOVE FOR THE REST OF THE GAME"

=
PRINT "-1 = GAVE UP, SITUATION HOPELESS."
PRINT " 0 = A TREMENDOUS (BUT UNFORTUNATELY RANDOM) LEAP"
PRINT
DIM A(10,20),A1(10,20),N(12),L(5),H(5),L1(5),41(5)
REM
FOR B=1 T0O 10
FOR C=1 T0 20
X=INT(10+RND(1))
IF X=5 THEN 27
A(B,C)=ASC(" ")
GOTO 280
A(R,C)=ASC("X")
NEXT C
NEXT B
FOR D=1 T0O 10
A(D,1)=ASC("X")2A(D,20)=ASC("X")
NEXT D
FOR F=1 T0 20
AC1,F)=ASC("X"):A(10,F)=ASC("X")
NEXT F
GOTO 410
H=INT(248+RND(1))
I=INT(2+18+%RND(1))
IF A(H,I)<XASC(™ ") THEN 370
RETURN
GOSUE 370
A(H, I)=ASC("+")
J=Hik=1
FOR N9=1 T0 3
GOSuB 37
A(H, I)=ASC("+")
LIN9)=H:M(N9)=1
NEXT N9
FOR B1=1 TO 10:FOR B2=1 TO 20:A1(B1,B2)=A(B1,B2):HEXT B2:NEXT B1
FOR B1=1 T0 S:L1(B1)=L(B1):M1(B1)=M(B1)sNEXT BI
J1=JiK1=K
Y9=0
FOR D2=1 10 10
FOR B2=1 TO 20
N$=CHR$¢ (A(D2,B2))
FRINT N$;
NEXT B2
PRINT
NEXT D2
IF Y9 <> 10 THEN 440
PRINT
GOTO 890
INFUT Y9
J2=J:K2=K
IF Y9=0 THEN 860
IF Y9 < 0 THEN 1230
IF Y9=10 THEN 1070
ON Y9 GOTO 820,800,780,840,890,760,700,720,740
J=J-1:K=K-1

27

710
720
730
740
750
760
770
780
790
800
810
820
830
240
850
860
870
880
890
200
910
920
930
940

1330
1340
1350
1360
1380
1390
1400

GOTO 890
J=J-1
GOTO 890
J=J-1:K=K+1
GOTO 890
K=K+1
GOTO 890
J=J+12K=K+1
GOTO 890
J=J+1
60TO 890
J=J+1:K=K-1
GOTO 890
K=K-1
GOTO 890
PRINT "46,000,000 JUMP!!I"
J=INT(248+RND(1))
K=INT(2+418+RND(1))
IF A(J,K)=ASC("X") THEN 1260
ACJ2,K2)=AS5C(" ")
ACJ,K)=ASC("+")
GOTO 1070
REM INTERCEPTOR MOVEMENT
IF ACX,Y)=ASC("X"™) THEN 1040
X2=X2Y2=Y
X=5GN(J-X) 2 Y=5GN(K-Y)
X=X+X2:Y=Y4Y2
IF ACX,Y)=ASC("+") THEN 1050
IF ACX,Y)=ASC("™ ") THEN 1020
A(X2,Y2)=ASC(" ™)
RETURN
ACX,Y)=ASC("+")
ACX2,Y2)=ASC(" ")
RETURN
69=99
RETURN
FOR N9=1 TD 5
X=L(NT) s Y=H(NF)
69=0
GOSUB 940
IF G9 <> O THEN 1240
LIND)=X:M(NF)=Y
NEXT N9
FOR N9=1 T0 3

IF ACL(N9),M(N9)) <> ASC(™ ") THEN 1170

ACL(ND) ,MING))I=ASC("+™)
NEXT N9
FOR N9=1 T0 3

IF ACL(N?),M(N9)) <> ASC("X") THEN 540

NEXT N9

PRINT "YQOU HAVE DESTROYED ALL YOUR OPPONENTS - THE GAME IS YOURS"

GOTO 1290
PRINT “GIVE UP, EH."

PRINT “##+ YOU HAVE BEEN DESTROYED BY A LUCKY CONPUTER ##s"

GOTO 1290

PRINT "sxrs+ ZAP *r¥*sx YOU’/RE DEAD!!!"

PRINT

PRINT "ANOTHER GAME (Y/N)";
INFUT N9$

IF N98% <> "Y" THEN 1400
PRINT “"SAME SETUP (Y/N)";
INFUT N9$

IF N9% <> "Y™ THEN 190

FOR Bt=1 TO 10:FOR B2=1 TO 20:A(B1,B2)=A1(B1,B2):NEXT B2:NEXT B1
FOR B1=1 TO S:L(B1)=L1(B1):M(B1)=M1(B1)NEXT B1

J=J1:K=K1
G010 530
END
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Chuck-A-Luck

RUN

CHUCK-A-LUCK

CREATIVE COMPUTING
MCRRISTOMN, NEW JERSEY

CHOOSE A NUMBER FKOM t TO 6.

I WILL ROLL 3 DICE.

IF YCUR NUMBER MATCHES t DIE, I PAY OFF EVEN MONEY.

TW0 DICE, 221 3 DICE, 3:1

YOU HAVE ¢ 500 . MAKE A BET.
7 100
CHOOSE A MUMBER? 3
1 1 5
YOUVE MATCHED O TINMES.
YOU LOOSE $ 100
YOU HAVE ¢ 40C . MAKE A BET,
7 350
CHOOSE A NUMBER®? 1
3 N [}
YOU-VE MATCHED O TIMES.
YOU LOOSE ¢ 590
YOU HAVE & 250 . MAKE & BET.
7 50
CHOOSE A NUMBER?T §
S 6 1
YOU“VE MATCHED 1 TIMES.
YOUZVE UON ¢ 50
YOU HAVE ¢ 400 . MAKE A BET.
7 100
CHODSE A NUMBER? 2
4 1 3
YOU“VE MATCHED 0
YOU LOOSE ¢ 100
YOU HAVE ¢ 300 . MAKE A BET.

TIMES.

YOU HAVE § 500 . MAKE A BET.
? 200
CHOOSE A NUMBER? 3
2 3 1
YOU“VE MATCHED 1 TIMES.
YOU'VE WON § 200
YOU HAVE $¢ 700 . MAKE A BET.
7 -9
DON“T GET CUTE! !
YOU HAVE 8 700 . MAKE A BET.
? 100
CHOOSE A NUMBER? 4
5 K 4
YOUVE MATCHED 1
YOU“VE WON % 100
YOU HAVE § 80O . MAKE A BET.
7 900
I DON“ TAKE 1.0.U7S 11!

TIMES.

YOU HAVE ¢ 800 . MAKE A BET.
7 .001

DON‘T GET CUuTE!!

YOU HAVE § 800 . MAKE A BET,

7 100

CHOOSE A NUMBER? §
2 4

YOUVE MATCHED

D -

TIMES,

YOU LOOSE ¢ 100 ? 200

YOU HAVE § 20C . MAKE A BET. CHOOSE A NUMBER? 7

7100 CHEATER! 111!

CHOOSE A NUMBER? 3 CHOOSE A NUMBER? 2
1 3 & kS 6 3

YOU“VE MATCHED 1
YOU“VE WON § 100
YOU HAVE § 300 . MAKE A BET, YOU HAVE & 600 . MAKE A BET.
? 100 7600
CHODSE A NUMEER? 4 CHOGSE A NUMBER? 1
] 4 3 1 1 2
YOU/VE MATCHED 1
YOU“VE WON § 100
YOU HAVE ¢ 400 . MAKE A BET.
? 100
CHOOSE A NUMBER? 2
2 1 4
YOU“VE MATCHED 1 TIMES,
YOU'VE WON § 100

YOUZVE MATCHED O TIMES.
YOU LOOSE § 200

TIMES.

3

3w

YOU“VE MATCHED

YOU“VE WON § 1200

YOU HAVE § 1800 . MAKE A BET.

7 1800

CHOOSE A NUMBER? 4
1 1 1

YOU“VE KATCHED ©

YOU LOCSE ¢ 1800

TIMES. TIMES.

TIMES.
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Chuck-a-luck is generally found in
fairgrounds, cheap casinos, and small
gambling parlors. It flourished in
frontier America, but dates back to
European gaming houses of the
eighteenth century. During its long
history, chuck-a-luck has had many
names including sweatcloth, chucker-
luck, chuck luck, and bird cage.

Each player places his bets on one of
the six numbers, one through six.
When all bets have been placed, the
operator tumbles three dice in a chuck
cage until they come to rest face up or
drop down a chute onto the table. If a
player's number appears on one die,
the operator pays him even money; if
ontwodice, twotoone;ifonthreedice,
three to one.

The computer version of Chuck-a-
luck was originally written by Michael
Tanoff.

PRINT TAB(23);"CHUCK~A-LUCK"

PRINT TAB(20);"CREATIVE COMPUTING"
PRINT TAB(18);"MORRISTOUN, NEW JEKRSEY"
PRINT:PRINT:PRINT

PRINT “CHOOSE A NUMBER FROM 1 TC 4.
PRINT "IF YOUR NUMBER MATCHES !
FRINT "TWC DICE, 2:1

T @ILL RELL 2 DICE."
DIE, I PAY OFF EVEN mONEY.™
3 DICE, 3:1

PRINT:FRINT:M=500

PRINT "YQOU HAVE $“;M;". MAKE A BET."

INPUT B

IF B > M THEN 410

IF B > 0 THEN IF B#100=INT(B+100) THEN 230
GOTOD 420

PRINT “CHOOSE A NUMBER"}

INPUT N

IF INT(N)=N AND N » 0 AND N <
PRINT “CHEATER'!!t1!1":60TO 230
A=INT(RNDC(1)#6) +1:PRINT A"

C=INT(RND(1)*6)+1:PRINT C}*"
1=

IF A=N THEN T=T+)

IF D=N THEN T=T+1

IF C=N THEN T=T#!

THEN 270

"3sD=INT(RND(1)#6)+1:PRINT D3

PRINT "YOUVE MATCHED ";7;" TINES.®

ON T GOTO 380,290,400
PRINT "YOU LOOSE $";E
K=M-B:IF M<= O THEN 420
6OTC 18¢

PRINT "YQU-VE WON $";P:M=M+B:G0TO 180

PRINT “YOU’VE WOK $"]B*2:
FRINT “YDU-VE WOR
FRINT "1 DPOM” TAKE I.C.U°S
PRINT "DON“T GET CUTE!'!":GOTO
PRINT

PRINT

END

=K+2+E:G0TO0 180
yH=R+BEIIE0TC 180
YEEIMEGOTO 180

180



C€lose Encounters

In this game, you are situated at the
center of a target area for a UFO. The
program assigns coordinates 0,0 to
your location. You are given informa-
tion as to the course of the UFO in
degrees longitude and degrees latitude
and also its speed. You then have two
alternatives. One, you can attempt to
shoot the UFO out of the sky with an
ICBM or you can do nothing and hope
that air friction will cause the course of
the UFO to deviate or to burn up.

A knowledge of mathematical coor-
dinate systems will be of some
assistance in winning this game,
although you'll probably be able to
discover areasonably good strategy by
yourself using trial and error if you play
enough games.

This program was originally written
by Chris Falco.

RUN
CLOSE ENCOUNTERS

CREATIVE COMPUTING
MORRISTOWN, NEW JERSEY

YOU ARE SITUATED AT COORDINATES (0,0).
HEADING FOR INPACT AT THAT LOCATION.

A UFO IS

AT FIRST TRACK, THE UFO IS ON A COURSE OF 55 DEGREES LONGITUDE
AND 133 DEGREES LATITUDE.
(ALSO IT“S FALLING AT A SPEED OF 2562 MILES/PER HOUR)
YOU HAVE THE FOLLOWING ALTERNATIVES:
A) YOU CAN ATTEMPT TO SHOOT THE UFQ OUT OF THE SKY. OR
E) YOU CAN DO NOTHING, AND HOPE THAT AIR FRICTION
WILL CAUSE THE COURSE OF THE UFO TO DEVIATE, AND THUS
MISS YOUR LOCATION.

WHAT IS YOUR PLAN OF ACTION (A OR B)? B

MILES SPEED LONGITUDE LATITUDE COURSE
12000 2562 53 133 82
11857.2 8569 32 130 94
11654.7 12148 51 128 93
11248.6 18347 5t 19 84
10945.5 24186 42 18 92
10485.7 27587 37 117 96
9989.48 2977 32 10 94
9376.64 36771 24 107 99
8497.39 40755 20 107 103
7977.35 43202 14 98 100
7186.97 47427 6 94 104
6301.64 53120 4 8s 97
5337.84 57828 -4 &8 105
4323.5 60855 =12 79 107
J19e.72 67492 -19 79 114
2011.02 71262 -2 71 108
770.118 74434 =27 65 108

--------- IMPACT-AT- 78371 -NILES-PER-HOUR--~-=-====-======

GOOD WORK. FRICTION OF 5 X HAS CAUSED THE COURSE

OF THE UFO TO DEVIATE. IMPACT COORDINATES ARE

NOW € 5 ,-3 ). YOU MADE IT!
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TRY AGAINT Y
PLAN (A OR B)? A

LAUNCH AN I.C.B.M. ON A COURSE THAT WILL INTERCEPT THE UFQ
WITHOUT THE UFO BEING TOO CLOSE TO YOUR LOCATION. IF THE SPEED
OF THE UFO EXCEEDS 10529 M.P.H., YOUR MISSILES ARE USELESS!
--SCANNERS PREDICT YOU HAVE S MINUTES TO DESTROY THE UFOQ

BEFORE IT IS TOO CLOSE TO IMPACT,

--COMPUTER INDICATES COURSE AT FIRST SIGHTING IS APPROX. 54

TYPE IN A COURSE ON THE CHART BELOW

TINE SPEED LONGITUDE LATITUDE COURSE
0 2529 S4 105 ? 60
5 4100 36 107 735

YOU ARE SHY OF THE UF0’S COORDINATES,
HOWEVER THIS IS ONLY A SLIGHT DEVIATION SO THE
UFO HAS BEEN DESTROYED!

TRY AGAIN? YES

PLAN (A OR B)? A

--SCANNERS PREDICT YOU HAVE 2 MINUTES TO DESTROY THE UFQ
BEFORE IT IS TOO CLOSE TO IMPACT.

--COMPUTER INDICATES COURSE AT FIRST SIGHTING IS AFPROX. 77

TYPE IN A COURSE ON THE CHART BELOW

TIME SPEED LONGITUDE LATITUDE COLRSE
0 5122 47 13 ? 80
3 6597 1 107 783
1 8072 33 101 ? 90
1.5 9547 29 95 ™

FANTASTIC!!!!) YOU HIT THE UFO EXACTLY ON PROJECTED COURSE

YOU HUST BE VERY SHARP!



TRY AGAIN? YES 320 PRINT "SPEED"

FLAN (A OR B)? B 330 PRINT "OF THE UFQ EXCEEDS"H"M.P.H., YOUR MISSILES ARE USELESS!"
340 PRINT "--SCANNERS PREDICT YOU HAVE“M"MINUTES TO DESTROY THE UFQ"
350 PRINT "BEFORE IT IS TOO CLOSE TO IMPACT.":PRINT

MILES SPEED LONGITUDE LATITUDE COURSE 360 C=Z-Y+I-INT(RND(1)%4)+1
--------------------------------- 370 PRINT "--COMPUTEK AT S
12000 o o o ” 370 PRINT ER INDICATES COURSE AT FIRST SIGHTING IS APPROX.";C+f
11857.3 8565 51 99 64 390 PRINT "TYPE IN A COURSE ON THE CHART BELOW":PRINT
11628.5 1372 51 93 58 400 PRINT
11356.7 16307 44 92 64 410 PRINT "TIME","SPEED","LONGITUDE","LATITUDE","COURSE"
11036.4 19219 37 88 7 420 FOR T=0T0 5 STEP .5
10606.8 2577 36 79 59 430 PRINT T,X,Y,Z,:INPUT A
10066.9 32396 36 7 58 440 IF T=INT(T) AND T=H THEN 620
9482.08 35086 28 27 45 450 IF X<=H THEN 490
8917-33 39846 19 73 72 460 PRINT "SORRY--THE SPEED OF THE UFO HAS EXCEEDED"H"M.P.H."
5990..73 43635 14 70 72 470 PRINT "THIS SPEED IS TO GREAT FOR YOUR DEFENSE SCREENM TO TRACK!"
7283.78 48417 14 44 ) 480 PRINT “THEREFORE, YOU ARE (HA HA) DOOMED!":FRINT:GOTO 750
6400.58 52992 9 62 89 490 IF A=C THEN 72
5441.7 57530 0 59 75 500 IF AX10 THEN 550
4375.52 63974 -2 50 48 510 PRINT “AT THAT COURSE YOU SHOT YOUR MISSILE STRAIGHT UP, SO WHEN®
3256.52 67140 -8 7 7 520 PRINT "IT RUNS OUT OF FUEL IN ABOUT"F"HOURS, IT WILL FALL"}
2048.63 72473 -14 a4 74 530 PRINT " THROUGH"
790.901 75464 -18 39 73 540 PRINT "YOUR ROOF!IVEIIEELY  GOODBYE!!!!11":GOTO 640
550 IF A<200 GOTO 580
--------- IMPACT-AT- 77572 -MILES-PER-HOUR-=--===~=====-===~ 560 PRINT "GOOD WORK! THERE GOES THE MISSILE-----------RIGHT TOWARDS"
G0OOD WORK. FRICTION OF 4 X HAS CAUSED THE COURSE 570 PRINT "RUSSIA!!!! NOW YOU'RE DEFINITELY IN TROUBLE!!":60TO 640
OF THE UFO TO DEVIATE. IMPACT COORDINATES ARE 580 IF A=C-1 THEN 70
NOW ( 4 ,-4 ). YOU MADE IT! 590 IF A=C+1 THEN 710
TRY AGAIN? Y 600 X=X+V+1200:Y=Y-145:Z=2-1+5:C=2-Y45
PLAN (A OR B)? B 610 NEXT T
620 PRINT M--mmmommmoommmmomoooo oo ATTENTION -- -n
MILES SPEED LONGITUDE LATITUDE COURSE 630 FRINT "ELAPSED-TIME-INDICATES-THAT-"M"MINUTES-HAVE-PASSED.--IF-YOU-"
--------------------------------- 440 PRINT “WERE-TO-HIT-THE-UFO-NOW----THE-FORCE-OF-THE-EXPLOSION-UYOULD"
12000 5782 56 12 58 450 PRINT "=--=------ DESTROY-YOU-AS-WELL-AS-THE-UFO-!"zFRINT
11787.4 12757 49 12 47 660 GOTO 750
11504.3 14983 46 12 70 670 PRINT "YOU ARE SHY OF THE UF0’S COORDINATES,"
11114.7 2337 41 12 75 680 PRINT "HOWEVER THIS IS ONLY A SLIGHT DEVIATION SO THE"
10668.8 26756 4 108 7 690 PRINT "UFO HAS BEEN DESTROYED!":PRINT
10171.8 29818 36 107 75 700 GOTO 750
9571.63 36012 33 103 72 710 PRINT "YOU OVERSHOT THE UFO‘S COORDINATES,":G0TO 480
8887.7 41036 33 100 7 720 PRINT "FANTASTIC!!!! YOU HIT THE UFQ EXACTLY ON PROJECTED COURSE"
8151.72 44159 3 94 69 730 PRINT "YOU MUST BE VERY SHARP!":PRINT
7375.72 46560 7 2 49 740 PRINT
64B3.v2 53508 ) 7 7 750 PRINT "TRY AGAIN";:INPUT J$:IF LEFT$(J$,1)="N" THEN 1220
5495.93 5927 19 78 43 760 GOSUB 1100
4457.3 62318 18 74 60 770 GOSUB 1070
3331.95 67521 16 70 58 780 PRINT:PRINT:GOTO 340
2109.15 73268 10 2 56 790 PRINT
810.517 77918 5 55 54 800 F=0
810 A=INT(RND(1)*5)41:C=Z-Y+A
--------- IMPACT-AT- 80674 ~MILES-PER-HOUR-=============~ 820 ¥=12000
GOOD WORK. FRICTION OF & % HAS CAUSED THE COURSE 830 PRINT "MILES","SPEED","LONGITUDE","LATITUDE","COURSE"
OF THE UFO TO DEVIATE. INPACT COORDINATES ARE 840 PRINT "----- L My hemmmm e e Hytemmee- "
NOW ( 6 ,-6 ). YOU MADE IT! 850 P=X+1
TRY AGAIN? NO 860 PRINT M,X,Y,Z,C
0k 870 C=Z-Y

880 X=X+INT(RND(1)5000)+2000:M=N-X/60

890 Y=Y-INT(RND(1)#10):Z=Z-INT(RND(1)#10):C=Z-Y+A"2

900 IF X-P>5700 THEN F=F+1

910 IF M>0 THEN 850

920 PRINT

930 PRINT "==---=-—- IMPACT-AT-"X"-MILEG-PER-HOUR-==--==========- "

940 IF F{=2 THEN 980

950 PRINT "GOOD WORK. FRICTION OF"F"X HAS CAUSED THE COURSE"

940 PRINT “OF THE UFO TO DEVIATE. IMPACT COORDINATES ARE"

970 PRINT "NOW ("F","0-F"). YOU MADE IT!":G0TO 1020

980 PRINT "-=--====-== UFI-WIRE-SERVICE----ON-LINE-"A":"A+5":"A+10":-="
990 PRINT "--- HAVE JUST OBSERVED EXPLOSION AT COORDINATES ("0-F",0)."
1000 A=(A+2)*A

LIST 1010 PRINT “BLAST SEEN FROM"A“3“"MILES AWAY. NO SURVIVORS.":PRINT
100 PRINT TAB(21);"CLOSE ENCOUNTERS" 1020 INPUT "TRY AGAIN"}J$

110 PRINT TAB(20);"CREATIVE COMPUTING" 1030 IF LEFTS$(J$,1)="N" THEN 1220

120 PRINT TAB(18);"MORRISTOUN, NEW JERSEY" 1040 GOSUB 1100

130 GOSUB 1100 1050 GOSUB 1070

140 PRINT:PRINT:PRINT 1060 PRINT:PRINT:GOTO 300

150 PRINT "YOU ARE SITUATED AT COORDINATES (0,0). A UFO IS" 1070 INPUT "“PLAN (A OR B)";D$

160 PRINT "HEADING FOR IMPACT AT THAT LOCATION." 1080 IF LEFT$(D$,1)="B" THEN 790

170 PRINT 1090 RETURN

180 PRINT "AT FIRST TRACK, THE UF0 IS ON A COURSE OF"Y"DEGREES "; 1100 I=INT(RND(1)#20)+1:V=INT(RND(1)+400)+200:F=INT(RND(1)+3)41
190 PRINT "LONGITUDE" ) 1110 X=INT(RND(1)%5000)+2001:H=X+8000:@=INT(RND(1)*3)+1
200 PRINT "AND"Z"DEGREES LATITUDE." 1120 Z=INT(RND(1)+140):IF Z<100 THEN 1120

210 PRINT "  (ALSO IT’S FALLING AT A& SPEED OF"X"MILES/PER HOUR)" 1130 Y=INT(RND(1)*60):IF Y<40 THEN 1130

220 PRINT "YQOU HAVE THE FOLLOWING ALTERNATIVES:" 1140 IF X»=2000 THEN 1160

230 PRINT "A) YOU CAN ATTEMPT TO SHOOT THE UFO OUT OF THE SKY. OR" 1150 M=5:60T0 1210

240 PRINT "B) YOU CAN DO NOTHING, AND HOPE THAT AIR FRICTION" 1160 IF X>=3700 THEN 1180

250 PRINT " WILL CAUSE THE COURSE OF THE UFO TO DEVIATE, AND THUS" 1170 ¥=4:60T0 1210

260 PRINT "  MISS YOUR LOCATION.":PRINT 1180 IF X>=4700 THEN 1200

270 PRINT "WUHAT IS YOUR PLAN OF ACTION (A OR B)";:INPUT D% 1190 M=3:6070 1210

280 PRINT 1200 #=2

290 IF LEFT$(D$,1)="B" THEN 790 1210 RETURN

300 PRINT "LAUNCH AN I.C.B.M. ON A COURSE THAT WILL INTERCEPT THE UFO™ 1220 END
310 PRINT "WITHOUT THE UFD BEING TOO CLOSE TO YOUR LOCATION. IF THE "§ Ok
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This program is a computer version
of an old card trick which never fails to
get some ooohs and aaahs from the
uninitiated. The dealer, or magician,
takes twenty-one random cards, deals
them out in three piles of seven cards
each. You then tell him which column
(or which pile) contains your card. He
then picks up the three columns from
right to left, putting the right pile on the
top, and then deals the deck out again
horizontally. In other words the top
card of the right column now becomes
the top card of the left column; the
second card in the right column now
becomes the first card in the middle
column; the third card of the right
column becomes the first card in the
third column, and so on. After he deals
out all twenty-one cards in this way,
you again tell him which column your
card appears in. The magician then
picks up the three piles in the same
order and deals them out once again.
Again you tell him which column
contains your card. He then deals the
cards out one by one face up and
identifies yours when he comes to it.
Don’t ask me how he does it! Maybe
you can figure it out from the program,
but it works every time.

This program was originally written
by Alan Barnes.

RUN
COLUNN
CREATIVE COMPUTING
HMORRISTOUN, NEV JERSEY

THIS PROGRAM WILL SHOW YOU & CARD TRICK. AFTER THE FIRST DEAL
PICK A CARD AND TYPE THE NUMBER OF THE COLUMN CONTAINING IT.

THE DEALER WILL THEN PICK UP THE CARDS, A COLUNN AT A TIME,

AND WILL DEAL THEM OUT AGAIN HORIZONTALLY. UHEN HE FINISHES

EACH TIME, TYPE THE NUMBER OF THE THE NEW COLUNN CONTAINING YOUR
CARD. FOLLOWING THE LAST DEAL THE DEALER WILL TURN OVER THE
CARDS, ONE AT A TINE, UNTIL HE REACHES THE ONE YOU PICKED.

9 OF CLUBS JACK OF SPADES
6 OF CLUBS KING OF CLUBS
4 OF HEARTS 3 OF HEARTS

QUEEN OF SPADES
ACE OF DIANONDS

KING OF DIAMONDS

QUEEN OF CLUBS

4 OF DIAMONDS
10 OF SPADES
6 OF SPADES

8 OF CLUBS

& OF HEARTS
2 OF CLUBS
S OF SPADES

3

-5
/

OF CLUBS
OF CLUBS

10 OF HEARTS

WHICH COLUMN CONTAINS YOUR CARD? 1

6 OF HEARTS 2 OF CLUBS

3 OF CLUBS 7 OF CLUBS

10 OF CLUBS 9 OF CLUBS

4 OF HEARTS QUEEN OF SPADES
KING OF DIAMONDS QUEEN OF CLUBS
KING OF CLUBS 3 OF HEARTS

10 OF SPADES 6 OF SPADES

WHICH COLUMN CONTAINS YOUR CARD? 1

10 OF CLUBS

5 OF SPADES

10 OF HEARTS

6 OF CLUBS
ACE OF DIAMONDS
JACK OF SPADES
4 OF DIAMONDS
8 OF CLUBS

S OF SPADES

ACE OF DIAMONDS

10 OF HEARTS

JACK OF SPADES

6 OF CLURS

4
3

KIN6 OF DIAMONDS

OF DIAMONDS
OF CLUBS

2 OF CLUBS

8 OF CLUBS 6 OF HEARTS
10 OF CLUBS 4 OF HEARTS
KING OF CLUBS 10 OF SPADES
7 OF CLUBS 9 OF CLUBS
QUEEM OF CLUBS 3 OF HEARTS

WHICH COLUMN CONTAINS YOUR CARDY 2

5 OF SPADES
ACE OF DIAMONDS

8 OF CLUBS

10 OF CLUBS
KING OF CLUBS

7 OF CLUBS
OUEEN OF CLUES

10 OF HEARTS
JACK OF SPADES

6 OF HEARTS

4 OF HEARTS

10 OF SPADES

9 0F CLUBS

3 OF HEARTS

6 OF CLUPS

4 OF DIAMONDS

3 OF CLUBS
KING OF DIAMONDS

2 OF CLUBS

OCPS!!! YOUR CARD IS THE 4 OF HEARTS.
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QUEEN OF SPADES
6 OF SPADES



%éEYPRINT TAB(26) ;"COLUNN®

110 PRINT TAB(20);"CREATIVE CONPUTING"

120 PRINT TAB(18);"MORRISTOMN, NEW JERSEY"

130 PRINT:PRINT:PRINT

140 PRINT "THIS PROGRAM WILL SHOW YOU A CARD TRICK. AFTER THE FIRST DEAL"
150 PRINT "PICK A CARD AND TYPE THE NUKBER OF THE COLUMN CONTAINING IT."
160 PRINT "THE DEALER WILL THEN PICK UP THE CARDS, A COLUMN AT A TIME,"
170 PRINT "AND WILL DEAL THEM OUT AGAIN HORIZONTALLY. WHEN HE FINISHES"
180 PRINT "EACH TIME, TYPE THE NUMBER OF THE THE NEW COLUMN CONTAINING YOUR"
190 PRINT "CARD. FOLLOWING THE LAST DEAL THE DEALER WILL TURN DVER THE"
200 PRINT "CARDS, ONE AT A TIME, UNTIL HE REACHES THE ONE YOU FICKED."
210 PRINT:PRINT:PRINT

220 DIN A(21),B(21)

230 FOR X=1 T0 21

240 J=0

250 T=INT(52#(RND(1)))

270 FOR Y=1 T0 X-1

280 IF A(Y)=T THEN 250

290 NEXT Y

300 A(X)=T

310 NEXT X

320 N=0

330 FOR I=1 T0 3

340 FOR 2=1 TO 21

350 IF A(Z)=4+(INT(A(Z)/4)) THEN 470

360 IF A(Z)-2=4%(INT(A(Z)/4)) THEN 440

370 IF A(Z)-3=4%(INT(A(Z)/4)) THEN 410

380 C$="SPADES"

390 Ds="v

400 GOTO 490

410 C$="HEARTS"

420 D3="v

430 GOTO 490

440 C$="CLUBS"

450 Dg=""

460 GOTO 490

470 C$="DIANON"

480 D$="DS"

490 N=N+1

500 IF N <> 4 THEN 530

510 PRINT

520 N=1

530 IF A(Z) > 35 THEN 580

540 PRINT TAB((N-1)#25);INT(A(Z)/4)+2;"0F ";C$;D$;
550 IF J=5 THEN 900

560 IF J=10 THEN 980

570 GOTO 710

580 IF INT(A(Z)/4)=9 THEN 670

590 IF INT(A(Z)/4)=10 THEN 650

600 IF INT(A(Z)/4)=11 THEN 630

410 A=Y JACK"

620 GOTO 680

630 A$="QUEEN"

640 GOTO 680

650 A$="KING"

660 GOTO 480

670 A$="ACE"

480 PRINT TAB((N-1)#25);4%;" OF ";C$;Ds;

690 IF J=5 THEN 900

700 IF J=10 THEN 980

710 NEXT Z

720 PRINT:PRINT

730 PRINT “WHICH COLUMN CONTAINS YOUR CARD";

740 INPUT K

750 IF K<1 OR K > 3 THEN PRINT:PRINT "(1-3)":60T0 730
760 PRINT:PRINT

770 T=t

780 S=K+2-3+INT((K+1)/3)

790 GOSUB 940

200 S=K

810 GOSUB 940

820 S=K+1-3+INT(K/3)

830 GOSUB 940

840 FOR C=1 TO 21

850 A(C)=B(C)

860 NEXT €

870 NEXT 1

880 J=5

890 FOR Z=1 TO 11+INTCIQ#RND(1)+1):N=0:60T0 350
900 PRINT:NEXT Z:PRINT

910 PRINT "00PS!!! YOUR CARD IS THE";

920 N=1

930 J=10:2=11:60T0 350

940 FOR R=§ TO S+18 STEP 3

950 B(T)=A(R)

940 T=T+1

970 NEXT R:RETURN

980 PRINT ".":PRINT

990 PRINT "DO YOU WANT TO SEE IT AGAIN";:INPUT T$
1000 IF T$="YES" THEN FRINTzPRINT:60T0 230

1010 END

0k
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Concentration

This children’s card game for any
number of players is also called
memory, or pelmanism. It is easy to
play and is an excellent test of memory
and observation. The computer version
here simulates the actual game except RUN CONCENTRATICH
that it only allows one player to play. In CREATIVE COMPUTING MORRISTOMN NEW JERSEY
the actual game, one player shuffles a
deck of playing cards and lays them

face down on a table in all directions FIRST CARD? 1
and so that no card is touching SECOND CARD? 2
another. Each player tries to collect as ERARRNRRRRERRERRRRARRERNRERENY

many cards as possible by turning up

pairs with the same rank per a number FIRST CARD? 13

or picture. The first player to go turns SECONU CARD" 2

over two cards at random and allows RRNRNRSESRARRNRERDRNSIRRRNNNNY
the other players to see them. If the

rank of the two cards is the same, for FIRST CARD? 3

example, two aces or two kings, he THERE ARE ONLY 52 CARDS IN THE DECK, NOT 53
takes them and may turn over two more FIRST CARD? 41
cards. He continues in this way until he SECOND CARD? 37

turns over two cards that do not match. e LU UL L DL LT

These cards are then placed back

down in their original positions, face FIRST CARL? 20

down, and his turn then ends. The play SECOND CARD? 16

then passes to the next player. This REERERRRRRRRRRRERRRRRNARNNARNNY
player turns up one card. If it matches

one that has already been turned over, FIRST CAkL? 29

he must try to remember where that SECOND CARD? 49

card is. If he is successful, he takes the L LU UL
pair. He continues his turn until he fails

to turn over a matching pair. Play FIRST CARDY 41
continues in turn until all the cards ?Sglrmg 2“2”; 29
have been collected. The winner is the ATcH --3c e
_ YOUR SCORE 1S NOW 1 YOU HAVE HAD 6 PICKS.
player with the most cards at the end of FIRST CARDY 1
the game. SECCND CARD? 49
In this computer version of the game, THRT”S A MATCH --28 28
the cards are numbered on their face :our« SCORE 15 NOW 2 YOU HAVE HAD 7 PICKS,
) A IKST CARD? 41
down side from one to fifty-two. As you YOU HAVE ALREADY MATCHED THAT CAKD.
turn over two cards, their rank is typed FIRST CAKD? 43
on the terminal. If they do not match, TLLoNy CARDY 49
their rank is obliterated by successive SeLOny e DALY 32 CARDS IN THE DECK, NOT 49
type-overs with other characters. This NERNERRNARRRENRRARNESNRERNNNNY

is analogous to the situation of placing
the cards back down on the table face

down. Also in the computer version of o e 28
the game thereis only one player trying RRRRERRRNE NN RRER RS NRLAR AL
to getall fifty-two cards in as few moves
as possible. FIRST CARDT
This game is good fun on a CRT IRST CARD?
terminal. Also, why not try modifying it BKEAK IN 370
to allow play by two or more players? oK
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10 FRINT Tag(25);"CONCENTRATION®
20 FRINV TAB(15);"CREATIVE CunpPuflag
20 PRINT
40 FRINT
G PRINT
200 DIM C3$(52)
210 FOR X=1 70 32
220 READ £
230 C$(X)=E$
240 MEXT X
230 REM --  SHUFFLE AND DEAL
260 FOR Z=1 TO0 51
270 K$=C$(2D)
275 L=INT((u3-2) R0 (1:41)
280 Ce(L)=C3(L+Z-1)
290 CH(L)=xs
Jue NEXT 2
340 REN --  SVART T0 FLa
S50 FOR N=t 7D 24
J80 PRINT “FIRST CARDCS
370 INFUT U
372 I8 U » 0 AND O < 52 THEN 380
J74 PRINT "THERE ARE ONLY 52 CARDS IN THE DECK,
376 6070 240
380 LET 6=1
390 IF CH(U)=" " THEN 849
A00 FRINT “SECOND CARD";
410 INFUT W
412 IF M > 0 AND ¥ < 52 THEN 420
414 PRINT "THERE ARE ONLY 352 CARDS I[N THE DESK,
4146 GOTD 400
420 LET §=2
410 IF Cs(UW)=" " THEN 840
440 IF U <> W THEN 470
450 FRINT "YOU CAN“T PICK THE SAME CARD TWICE!"
460 GOTO 4¢D
470 IF MILs(C8Cd), 1, 10=NI0s(CH0U),1,1) THEN 980
AB0 PRINT “8H"SUS IS "jC8(U), "8 03" I5 "jus i),
490 FOR I=1 TQ 0
S00 PRINT
S10 NEXT 1

NORRESTOUN MEW JER

NOT "3l

NOT "3

¢

3

14

v
i

"

520 FRINT CHR$(13); HHHHHHHHIHHHHHHHHARAHRHHER R

930 PRINT CHRe(I3) S IITIIIIIIEIEITIDIROITRINLITLILL
CHR$C1T) 3" KOEXKX AN OO (OO XX XK

540 FRINT
550 PRINT
G600 FRINT
570 6079 430

G380 PRINT “THAT®
90 LET Ce(u)="
400 LET Ce{W)="
510 LET S=5+1

o

A MATCH --"0800),C8 (W)

520 PRINT "YOUR SCORE IS NDW';S3" YOU HAYE MAD "i¥;"FICKS."

630 NEXT N
440 REM -~ THE RESULYS
430 LET S1=8/(N/4)
su PRIMT “vgl) SCORED",S;" 0UT DF “iNstiHAT IS
Si1+1.5 GOTD 480,700,720,740
INT “PODR."
¢ BRTD 770
O PRINT "FAIR."
10 5079 770
720 FRINT "G00D."
730 507D 7790
JA0 PRINT “EXCELLENT ¢ ¢ v
730 6070 77

760 FRINT "o o o AAAH o . . UH....YOU HUST HAVE CHEATED(®

J70 PRINT

780 PRINT “LO YOU WANT TD FLAY AGALN™;

790 InFUT 73

B00 LF 2% = “YES" THEN 240

8510 PRINT

8320 FRINT "COME BALK AGAIN!!"

830 END

B40 FRINT "YU HAVE ALREADY MATCHED THAT CARD.™
850 IF G6=1 THEN 340

8460 5070 400

§70 DATA “AS","25","35" UAGH, MSGN 4G wagn vggv roge 108"

875 DATA "KS*

IENTEL T

880 [ATA "A4" MRHY, U IHT, AR, SH uaHn‘nJHn’ﬁan'n?Hn!u!oHu’HJH"!HQHH
’ ’ ’

885 DATA “KH©

890 DATA “AD","2DB", 30T, 4D, U, U40T, U700, U8B, 90", 10D, " J0", "Un"

895 DATA "KD"

900 DATA “AC“,"2C","3C", “4C",“SC","4L","7C", “80" , “9C", " 1OL" , " Jr" , "(C*

905 LATA “HC"
910 END

K




Condot

This is the old childhood favorite of
“connect the dots.” The objective is to
carve out squares of “real estate” with
the computer as an able adversary. The
player who connects the two dots
which complete a square gets
ownership of that square. In addition,
the player gets the added bonus of
moving once more. This can be quite
advantageous in certain situations. A
nine-square grid is provided as a
playing board.

A sample of the grid follows with an
identification of each coordinate where
a line may be drawn.

(1,2) (1.4) (1,6)

(2,1) (2,3) (2,5) (2,7)
(3,2) (3,4) (3,6)

(4,1) (4,3) (4,5) (4,7)
(5,2) (5,4) (5.6)

(6,1) (6,3) (6,5) (6,7)
(7,2) (7,4) (7,6)

You'll find it interesting to note that
the computer mirrors the players move
in so far as possible. You may also find
that the game moves rather slowly,
especially for the first three or four
moves. Be patient! Once squares begin
to fall, the game moves swiftly to its
conclusion.

There are some modifications that
you may wish to consider if you are
going to adopt this program for regular
use. In addition to improving the REM
statements in the program, | would
suggest:

1. Modifying the program so that the
grid is printed after both players
have moved (rather than each time a
move is made);

2. Modifying the program so that once
a player had ownership of a majority
of the squares, the game would end
rather than proceed to its inevitable
conclusion; and

3. Modify the program so that the
player's initials appear in each
square he captures.

The program is by Chuck Lund; the
writeup by Pete Olivieri. It originally
appeared in Creative Computing,
Jan/Feb 1976. .

RUN
CoNDOT

CREATIVE COMPUTING
MORRISTOWN, NEW JERSEY

THIS PROGRAM WILL PLAY CONNECT THE DOTS WITH YOU.

THE GAME IS PLAYED ON A 4 X 4 ARRAY. WHEN
YOU WANT TO MAKE A MOVE YOU MUST TYPE IN

THE COORDINATES OF THE SPACE BETWEEN THE TW0 DOTS YOU
WANT TO CONNECT, ENTER EACH OF YOUR MOVES BY TYPING

THE ROV NUMBER, A COMMA AND THE COLUMN NUMBER.
THE UPPER LEFT HAND CORNER OF THE ARRAY IS 1,1.
HERE WE GO.

YOUR MOVE? 1,1
YOU REALLY DON‘T WANT TO PUT A LINE THERE!!!!
YOUR MOVE? 1,2

. . .

MY MOVE

YOUR MOVE? 7,5
YOU REALLY DON‘T WANT TO PUT A LINE THERE!!!!
YOUR MOVE? 7,

HY HOVE

. . .

YCUR MCVE? 1,¢
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M: MOVE

YOUR MQVE? 2,1

Y MOVE

MY MOVE

YOUR MOVE? 2,7

MY MOVE

o s o



R MOVE? 4,3 YOUR MOVE? 5,4 MY MOVE YOUR MOVE? 3,4 MY HOVE MY MOVE

: : : : H : Tt H o H @ : C H ¢ H = :t C ¢+ H ¢« H
: : : : : : : [ : : : C : : L s : : C :C : ¢C
: : : : : : : : t C g
L3 MY HOVE YOUR MOVE? 2,3 YOUR HOVE? 4,3 MY HOVE MY MOVE
: : : : : H : H : H B :t L ¢ H ¢ H : C ¢ H : H
: : I S : : : C : H : C : : L ¢ C ¢ H : L 2 C : ¢C
: : : : : : : : : C s : : € 2 C 2 C
1 WON
L18T
650 IF A(R,C+3)+A(R-1,C+2)+A(R+1,C+2) <> 150 THEN 450
1 PRINT TAB(26);"CONDOT" 460 A(R,C+2)=-1
2 PRINT TAB(20);"CREATIVE CONFUTING" 670 GOTD 450
3 FRINT TAB(18);"MCRRISTOUN, NEW JERSEY":PRINT 480 NEXT C
4 FRINT 490 NEXT R
5 FRINT 492 IF £ » 1 THEN 730
& FRINT "(HIS “ROGRAM WILL FLAY CONNECT THE DOTS WITH YOU," 700 IF AC12-X,12-Y)4>0 THEN 730
7 PRINT "THE GAME IS FLAYED OM A 4 X 4 ARRAY. WHEN® 710 A(12-X,12-Y)=50
9 FRINT “YOU WANT TO HAKE A MOVE YOU MUST TYPE IN" 712 IF E > 1 THEN 870
9 PRINT “THE COORDINATES OF THE SPACE BETWEEN THE TWO DOTS YOU" 720 60TO 200
10 PRINT "WANT TO CONMECT. ENTER EACH OF YOUR MOVES BY TYPING" 730 FOR R=3 T0 9
11 FRINT "THE ROW NUMBER, A COMMA AND THE COLUMN NUMBER." 740 FOR C=3 T0 9
12 FRINT "THE UPFER LEFT HAND CORNER OF THE ARRAY IS 1,1, 750 IF (R+C)/2=INT((R+C)/2) THEN 830
17 FRINT "HERE WE GD." 760 IF A(R,C) <> 0 THEN 850
20 DIN A(12,12) 780 IF R/2 = INT(R/2) (HEN £30
30 =0 790 1F A(R-2,C)+A(R-1,C-1)4A(R-1,C+1) = 100 THEN 850
40 FOR R=1 TO 12 800 IF A(R+2,C)+A(R+1,C-1)+A(R+1,C+1) =100 THEN 850
50 FOR C=1 TO 12 810 A(R,C)=50
&0 IF R/2=INT(R/2) THEN 100 820 60TD 200
70 IF C/2 = INT(C/2) THEN 100 830 IF A(R,C-2)+A(R-1,C-1)+A(R+1,L-1)=100 THEN 850
80 A(R,C)=-50 840 IF A(R,C+2)+A(R-1,C+2)+A(R+1,C41) <> 100 THEN 810
40 GBT0 110 850 NEXT C
100 A(R,C)=0 860 NEXT K
110 NEXT C 862 IF E » 1 THEN 700
120 NEXT R 870 R=INT(RND(1)+7)+3
130 IF Y=1 THEN 200 880 C=INT(RND(1)#7)+3
200 GOSUB 1000 81 IF R/2=INT(R/2) THEN 885
210 PRINT “YOUR MOVE"; 882 IF C/2=INT(C/2) THEN 900
220 INPUT X,Y 883 GOTO 870
210 IF X=INT(X) THEN 240 885 IF C/2 <> INT(C/2) THEN 900
240 FRINT "YOU REALLY DON‘T WANT TO FUT A LINE THERE!!!1" 886 GOTO 870
250 GOTO 210 900 IF A(R,C)<> O THEN 870
260 IF (X-1)#(X-7) > 0 THEN 240 910 A(K,C)=50
245 X=X+2 920 5070 200
270 IF (Y-1)#(Y-7) > 0 THEN 240 930 PRINT DO YOU WANT T0O PLAY AGAIN (TiPE 1 FOR YES OR 2 FOR NO)";
272 Y=Y+2 Q40 INPUT B
280 IF (X+Y#1)/2 <> INTC(X+Y41)/2) THEN 240 950 IF B = 1 THEN 40
290 IF ACX,Y) <> 0 THEN 240 960 END
300 A(X,Y)=50 1000 P=0
310 IF X/2 =INT(X/2) THEN 780 1010 D=0
320 IF ACX-2,Y)+A(X=1,Y+1)+A(X=1,Y-1) <> 150 THEN 350 1020 E=0
330 P=1 1030 FOR k=3 T0 9
T840 ACX-1,Y)=1 1040 FOR €=3 T0 9
350 IF ACX+2,Y)+ACXH1, Y1) +A(XH1,Y-1) <> 150 THEN 449 1030 IF A(R,C) <> O THEN 1080
S60 ALX4T, Yo=] 1060 PRINT "
370 5070 200 1070 60TO 1240
380 IF ACX,Y=2)+A(X+1,Y-1)+A(X-1,Y-1) <> 150 THEN 410 1080 IF A(R,C) <> -30 THEN 1110
390 ACX,Y-1)=1 1090 PRINT “ . "3
400 F=1 1100 GOTO 1240
410 IF ACX,Y42)+ACXHT, Y41 +ACX-1,Y+1) <x 150 THEN 440 1110 IF A(R,C) <> -1 THEN 1140
420 ACX,Y+1)=1 1120 PRINT " C "
430 GOTO 200 1130 6070 1170
440 IF P=1 THEN 200 1140 IF A(R,C) <> 1 THEN 1200
450 GOSUB 1000 1150 PRINT “ H "}
460 PRINT "MY MOVE" 1170 D=I+A(R,C)
470 FOR R=4 T0 10 STEP 2 1180 E=E+1
480 FOR C=4 TU 10 STEP 2 1190 GOTY 1240
490 IF ACR-1,C)+ACRHT,CIHA(R, C-1) AR, C41) <> 150 THEN 680 1200 IF R/2 = INT(R/2) THEN 123
500 A(R,C)=-1 1210 FRINT " -
510 IF A(R-1,C) <> 0 THEN 550 1220 GOTO 1240
520 A(R-1,0)=50 1230 FRINT " ¢ 3
530 IF A(R-3,C)+A(R-2,C-1)+A(R=-2,C41) <> 150 THEN 450 1240 NEXT C
540 LET A(R-2,6)=-1 1245 FRINT
550 IF A(R+1,C) <> 0 THEN 590 1250 NEXT R
560 A(R+1,C)=50 1260 IF £ »=9 THEN 1280
G570 IF ACR43,L04ACR2,C- 11HACRH2,C41) <> 150 THEN 450 12/0 RETURN
580 A(R+2,0)=-1 1280 IF I > 0 THEN 1410
590 IF ACK,C-1) > O THEN 430 1290 PRINT "I WON"
400 A(R,C-1)=50 1300 60T0 930
410 IF ACR,C-3)+A(R-1,C-2)+A(R+1,C42) <> 150 THEN 450 1310 PRINT “YOU WONTLE"
620 A(R,C-2)=-1 1320 60TO 930
630 IF A(R,CH+1) <> O THEN 450 1400 END
440 A(R,C+1)=50 0K
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Convoy

convoy

CREATIVE COMPUTING, MORRISTOUN, NEW JERSEY
INSTRUCTIONST YES
THIS NAVAL WAR GAME IS PLAYED ON A 10 BY 10 MATRIX
YOU ARE THE SUB; THE COMPUTER IS A CARGO SHIP AND ITS TWO
DESTROYERS. THE SHIP STARTS IN SQUARE 100 AND RANDOMLY MOVES
TO SQUARE 1, MOVING 0,1,2,0R 3 SQUARES AT A TINE.
ONE OF THE SHIP’S DESTROYERS STARTS AT SQUARE 78 AND MOVES
RANDONLY 0,1,2 OR 3 SGUARES AT A TIME SEARCHING FOR THE SUB.
THE OTHER DESTROYER STAYS WITHIN ONE SQUARE OF THE SHIP AS
AN ESCORT. THE SUB STARTS IN SQUARE 12, CAN MOVE UP,DOUN,
LEFT OR RIGHT 1 SQUARE AT A TINE, 2 MOVES PER TURN,AND IT
HAS TORPEDOES WHICH IT CAN FIRE 1 AT A TIME IN ANY STRAIGHT
LINE. AFTER EACH SUB MOVE, THE PERISCOPE WILL SEARCH
EACH ADJACENT SQUARE FOR THE SHIP. ALSO RANDOM RECONNAISANCE
REPORTS WILL BE MADE. THE SEQUENCE OF PLAY IS:

1 SHIP AND DESTROYERS MOVE
2 YOUR MOVE .
J YOU CAN FIRE A TORPEDQ
4 PERISCOPE SEARCH
S YOUR MOVE AGAIN
AND BACK TO 1

THE SUB WINS IF IT SUCCEEDS IN HITTING THE SHIP WITHIN 4
TORPEDOES WITHOUT MOVING YO A SQUARE OCCUPIED BY A DESTROYER.

T0 “FIREY” ANSWER:NO,L,R,U,D,LU,LD,RU,OR,RD.
“L7=LEFT, R“=RIGHT, U’ =UP, D’ =DOUN, “LU"=LEFT UP, RU“=RIGHT
UP,OR “RD“=RIGHTDOUN

WILL YOU NEED A BOARD? YES

t 2 3 4 5 6 7 8 9% 10
1112 13 14 15 14 17 18 19 20
21 22 23 24 2% 26 27 28 29 30
32 33 34 0I5 36 37 38 39 4
41 42 43 44 45 46 47 A8 49 50
§t 52 53 54 55 56 §7 S8 59 40
1 82 63 64 45 66 &7 6B 69 70
72172 73 724 75 76 77 78 79 80
g1 82 83 84 85 84 87 88 89 90
§1 92 93 %4 93 96 97 98 99 100

DESTROYER HAS MOVED
SHIP MOVED

SUE 1S NOUW AT 12

DESTRCYER LAST SIGHTED AT 78
SUB“S MOVE? 13

SUB“S MOVE? 14

SUB AT 14 SUB IS NOU AT 18
SHIP LAST SEEN AT 100 DESTROYER LAST SIGHTED AT 78
FIRE? NO SUB“S MOVET 28

SUB“S MOVE? 38
DESTROYER HAS MOVED
SHIP MOVED

UP PERISCOPE

SHIP NOT IN SIGHT

RECON. SHOWS SHIP AT 99 SUB IS NOW AT 38

DESTROYER LAST SIGHTED AT 78

LIST

This is a naval war game played on a
10 by 10 grid. You are a submarine and
the computer plays the role of the
convoy consisting of a cargo ship and
two destroyers. One destroyer acts as
the escort traveling alongside the
cargo ship, while the other searches for
the submarine and tries to destroy it.
The destroyer which is searching for
the submarine moves from zero to
three squares at a time, searching. The
other destroyer stays within one
square of the ship. The submarine
starts in square #12 and can move up,
down, left, or right one square at atime
with two moves per turn. It has four
torpedoes which may be fired one at a
time in any straight direction, horizon-
tally, vertically, or diagonally.

The game ends when either the
submarine destroys the cargo ship or
when one of the two destroyers gets
the submarine.

80 PRINT TAB(33)"CONVOY"
90 PRINT TAB(15)“CREATIVE COMPUTING, MORRISTOWN, NEW JERSEY®

100
110
120
130
140
145
150
135
140
165
164
1467
190
200
210
220
230
240
245
250
270
275
280
281
283
285

PRINT “INSTRUCTIONS";

INPUT BS

IF B$="NO" THEN 300

PRINT "THIS NAVAL WAR GAME IS PLAYED ON A 10 BY 10 MATRIX®
PRINT*YOU ARE THE SUB; THE COXPUTER IS A CARGO SHIP AND ITS Tuo"
PRINT"DESTROYERS. THE SHIP STARTS IN SQUARE 100 AND RANDOMLY MOVE
PRINT"TO SQUARE 1, MOVING 0,1,2,0R 3 SQUARES AT A TINE,"
PRINT"ONE OF THE SHIP’S DESTROYERS STARTS AT SQUARE 78 AND MOVES®
PRINT“RANDOMLY 0,1,2 OR I SQUARES AT A TINE SEARCHING FOR THE SUE
PRINT*THE OTHER DESTROYER STAYS WITHIN ONE SOUARE OF THE SHIP AS®
PRINT®AN ESCORT. THE SUB STARTS IN SOUARE 12, CAN MOVE UP,DOUN,
PRINT"LEFT Ok RIGHT 1 SQUARE AT A TIKE, 2 MOVES PER TURN,AND IT *
PRINT"HAS TORPEDOES WHICH IT CAN FIRE 1 AT A TIME IN ANY STRAIGHT
PRINT®LINE. AFTER EACH SUB WOVE, THE PERISCOPE UILL SEARCH"
PRINT"EACH ADJACENT SQUARE FOR THE SHIP. ALSO RANDON RECONNAISANC
PRINT"REPORTS WILL BE MADE. THE SEQUENCE OF PLAY IS:*

PRINT

PRINT®1 SHIP AND DESTROYERS MOVE"

PRINT"2 YOUR MOVE™

PRINT"3 YOU CAN FIRE A TORPEDO*

PRINT*4 PERISCOPE SEARCH"

PRINT*S YOUR MOVE AGAIN®

PRINT™ AND BACK TO 1

PRINT

PRINT® THE SUB WINS IF IT SUCCEEDS IN HITTING THE SHIP WITHIN 4 "
PRINT"TORPEDOES WITHOUT MOVING TO A SQUARE OCCUPIED BY A DESTROYEF

SUB IS NOW AT 14

SUB“S HOVE? 48

DESTROYER LAST SIGHTEL AT 78 SUE“S MOVE? S8

SUB-S MOVE? 15

SUB“S HOVE? 14 SUB AT 58

DESTROYER HAS MOVED SHIP LAST SEEN AT 88
SHIP MOVED FIRE? NO

SUB IS NOW AT 16 UP PERISCOPE
DESTROYER LAST SIGHTED AT 78 SHIP NOT IN SIGHT

SUE“S MOVE? 17
SUE’S NOVE? 18

SUB AT 18

SHIP LAST SEEN AT 99

FIRE? NO

UP PERISCOPE

SHIP NOT IN SIGHT

RECON. SHOUS SHIP AT

88

RECON. SHOWS SHIP AT 87

SUE IS NOW AT S8

DESTROYER LAST SIGHTED AT 78
SUB“S mOVE? 57

DESTROYER CLOSING IN AT &é
SUB"S MOVE? 36

DESTROYER CLCSING IN AT 664
DESTROYER HAS MOVED

SHIP MOVED

286 PRINT

287 PRINT“TO “FIRE?“ ANSWER:NO,L,R,U,D,LU,LD,RU,OR,RD."
288 PRINT"“L/=LEFT, R‘=RIGHT, U’ =UP, B’ =DOUN, LU =LEFT UP, RU‘=RIGHT *
289 PRINT"UP,OR “RD“=RIGHTDOWN*

290 PRINT

300 PRINT"WILL YOU NEED A BOARD™;

310 INPUT BS

320 IF B$="NO" THEN 420

330 PRINT

340 PRINT

J50 PRINT* 1 2 2 4 5 6 7 8 9 10v

360 FOR I=1 TC9

370 FOR J=1 T0 10

380 PRINTI*10+J;

390 NEXT J

400 PRINT

410 NEXT 1

420 PRINT:PRINTY

440 D=12
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450

470
480
490
500
510
520
530
540
350
560
370
580
590
600
610
620
630
640
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850
860
870
880
890
900
910
920
930
940
950
960
970
980
990
1000
1010
1020
1030
1040
1050
1060
1070
1080
1090
1100
1110
1120
1130
1140
1150
1160
1180
1185
1190
1200
1210
1220
1230
1240
1250
1260
1270
1280
1290
1300
1310
1320
1330
1340
1350
1360

T=4

§=100

C=78

€2=78

L=100

IF C=-100 THEN 550
60T0 2780

Y3=0

H1=0

GOT0S80

K1=0

IF §=2 THEN 1230
Y3=1

IF S=3 THEN 1230
IF §=11 THEN 1230
IF S§=12 THEN 1230
IF §=21 THEN 1230
X=RND(1)

IF X>.4 THEN 690
IF X>.2 THEN 710
IF X>.05 THEN 470
GOTO 1020

§1=0

GOTO 720

§1=2

6070 720

§1=1

X=RND(1)

IF X<.75 THEN 760
P1=1

GOTO 830

P1=-1

6070 830

IF S=10*INT(S/10) THEN 820
GOTOD 860

IF S=14(10%INT(S/10)) THEN 820
GOTO 860
P1=P1%(-1)
H2=P1&((INT(2%(RND(1)))*9)+1)
IF M2=1 THEN 780
IF H2=-1 THEN 800
IF M1=M2%(-1) THEN 820
C1=5+42

IF Ct1=1 THEN 1230
IF C1=D THEN 2720
IF C1=C THEN 820
IF C1<1 THEN 820
IF C1>100 THEN 820
H1=K2

§=C1

C6=S+( (INT(2+RND(1))#(-2))+1)+ ((INT(2#RND(1))*9)+1)

IF C6<2 THEN 950
IF C6>100 THEN 950

IF Cé= D THEN 2700

IF S1=1 THEN 670

IF S1=2 THEN 710
£3=0

PRINT*SHIP MOVED"

IF Y3=0 THEN 1040
X1=0

GOTO 2340

PRINT

x1=1

PRINT"SUB AT*3D
PRINT"SHIP LAST SEEN AT";L
PRINT*FIRE";

INPUT AS$

IF A$="NO" THEN 1730
IF A$="L" THEN 1250
IF A$="R" THEN 1270
IF A$="U" THEN 1290
IF A$="D" THEN 1310
IF A$="LU" THEN 1330
IF A$="LD" THEN 1350
IF A$="RU* THEN 1370
IF A$="RD" THEN 1390
PRINT*ANS: NO,L,R,U,D,LU,LD,RU,OR,RD"
6070 1100
PRINT*SHIP“S IN PORT®
60T0 2750

P1=-1

GOTO 1400

P1=1

60TO 1400

P1=-10

60TO 1400

P1=10

60TO 1400

Pr=-11

G0TO 1400

P1=9

GOTO 1400

1850
1860
1870
1880
1890
1900
1910
1920
1930
1940
1950
1960
1970
1980
1990
2000
2010
2020
2030
2040
2050
2060
2070
2080
2090
2100
2110
2120
2130
2140
2150
2160
2170
2180
2190
2200
2210
2220
2230
2240
2250
2260

P1=-9

GOTO 1400

P1=11

D1=D

D1=D1+P1

PRINT D13}

IF D1=§ THEN1300

IF D1=C THEN 1320

IF D1<11 THEN 1400

IF D1>90 THEN 1640

IF D1=10#INT(D1/10) THEN 1360

IF D1=1+(10*INT(D1/10)) THEN 1580
GOTO t410

PRINT"KER-BOOM! CARGO SHIP DESTROYED!"

2 PRINT"YOU WIN"

0=1

G0TO 2750

PRINT"WHAMO!!, DESTROYER SUNK."
C=-100

T=T-1

GOTO 1710

IF D=10%INT(D/10) THEN 1410
GOTO 1480

IF D=1+(10#INT(D/10)) THEN 1410
GOTO 1680

IF D>10 THEN 1680

IF D1<2 THEN 1480

IF D1>9 THEN 1480

GOTO 1410

IF D<9! THEN 1680

IF D1<92 THEN 1680

IF D1>99 THEN 1680

GOTO 1410

T=T-1

PRINT"MISS"

IF T=0 THEN 2740

PRINT T;"TORPEDOES LEFT"
GOTO 1100

PRINT

Y=0

PRINT"UP PERISCOPE"

Y2=0

IF §=D THEN 1930

IF §=D-1 THEN 1930
IF S§=D+1 THEN 1930
If S=D-10 THEN 1930
IF §=D+10 THEN 1930
IF §=D-9 THEN 1930
IF S=D+9 THEN 1930
IF S=D-11 THEN 1930
IF S=D+11 THEN 1930
IF Y=1 THEN 1960

PRINT"SHIP NOT IN SIGHT"
X=RND(1)

IF X<.35 THEN 1960
PRINT

PRINT*RECON. SHOWS "}
Y2=-1

PRINT“SHIP AT "}§
Y2=Y2+1

L=§

IF C=D THEN 2280

IF C6=D THEN 2700

IF C=D+1 THEN 2260
IF Cé=D+1 THEN 2240
IF C=D-1 THEN 2260
IF Cé=D-1 THEN 2240
IF C=D+9 THEN 2260
IF C6=D+9 THEN 2240
IF C=D-9 THEN 2260
IF C4=D-9 THEN 2240
IF C=D+10 THEN 2260
IF C6=D+10 THEN 2240
IF C=D-10 THEN 2240
IF C6=D-10 THEN 2240
IF C=D+#11 THEN 2260
IF Cé=D+11 THEN 2240
IF C=D-11 THEN 2260
IF C6=D-11 THEN 2240
IF C=D+2 THEN 2260
IF C=D-2 THEN 2260
IF C=D+20 THEN 2240
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